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template <bool cond, typename Then, typename Else>
struct IF
{
typedef Then RET;
};

template <typename Then, typename Else>
struct IF<false, Then, Else>
{
typedef Else RET;
};

// for 32bit-64bit compiler compatibility
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OO0rational 00 0000000O0C0OO0 100000000000
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typedef IF<sizeof(int) == 4,
int,
long int
>::RET 1int32_t; // 32-bit signed int

typedef IF<sizeof (unsigned int) == 4,
unsigned int,
long unsigned int
>::RET uint32_t; // 32-bit unsigned int

typedef IF<sizeof(long int) == 8,
long int,
long long int
>::RET 1lint64_t; // 64-bit signed int

typedef IF<sizeof(long unsigned int) == 8,
long unsigned int,
long long unsigned int
>::RET uint64_t; // 64-bit unsigned int

ooooooOoOoOOO0O0O0O0000000000000000000O0Osizeof(int)O00 40000 8
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A= Zdﬂ"i_l (1)

000000000000 radix 000 baseD O r=232 0000
longint.h 000000 longint 00 0000000000000 TLSOO00000000000000OD
longint 000000000
- & A

class longint {
private:
int capacity;
int 1;
uint32_t *d;
#ifdef TLS // Thread Local Storage
static bool pool_initialized;
#endif // TLS

N J
0(1)00000 10 ¢;003200000000000000 100 dMH]1 0000000

e capacity U0 O ODOOOOODOO
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6232 O4define 00D 0D O0O0DO0DO0D0O00DOODOJDIlongint.cpp [ uint64_t longint::BASE =
(uint64_t)65536u*(uint64_t)65536u; DO OO OO OO0



00000000000000000000000000000000000000000007000
gbooobooobooooboooboooooooboooooobooobooooboooooboobooon
O0000000o0o0ooo0o0ooUoooooo0ooooooon (2, p. 22010
goboboooboobobooobooboobooobooooooooobooobooboooobooDbo
oboocobOobooooboboooooboooooboooobobooonog

2.1.1 ODOO0OO0OOO0OO0ODOO

gbooboooboobooobooobooobooboooboooooboooooboooboooboOooonog
gooooob0oooobobooooboooob0b0ob0bo0b00D mempool.h DODODO

L.h
r mempoo ~N

#include "longint_cexp.h"
#define MINDIGITS 64
#define MAXDIGITS 32768

class mem_pool {

public:
static const int mindigits = MINDIGITS; // should be power of 2
static const int maxdigits = MAXDIGITS;
static const int _poolvsize = Poolvsize<MINDIGITS,MAXDIGITS>::result;
mem_pool();
virtual “mem_pool(); gboboboooooobooobo

int getpoolindex(int size, int id);
uint32_t* dalloc(int idx); new U0 0O0OdynamicO OO O0O0OO0O0O0
void dfree(uint32_t* p,int idx);
inline int psize(int idx) { return _psize[idx]; }
private:
int _midx;
int* _psize;
void** _poolv; goooo

7 Y,
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64000000000000CO0O00DOO000O0000 1280000000000000000000O
4000000000000 00000DbOO0OO0ODOO0OOn

longintcexph OO0 ODO0O0O0OOD0O 2000000000000000D00O000O0DO0O0O00ODODOO
gboboobobooooobooboobooooono
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0000o00oo0oooO [L,p.660000000000000O000O0O0OO0ODOOOOOOOOOOOOOOODOOOOOOO
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10



longint_cexp.h OO0 OO0
4 & P )

template<int i> struct Log2 {
static const int result = 1 + Log2<i/2>::result;
};
template<> struct Log2<i> {
static const int result

0;
};
template<int min, int max> struct Poolvsize {
static const int result = Log2<max>::result - Log2<min>::result + 1;

};
N J

2.1.2 00000

longint 0000000000 O0OOO0OOOOOOOOOOOOOOOOOOOOOOOOOODOOO
00000000000 30000 _psized _poolvl numreallocv 0 O 0O 0O O O O mindigits 0 longint.h
064 00maxidx 0 327683 0000000000 0Omaxidx 0 9000000 100000000000
mempool.cpp OO DO OOOOOODODO
e mempool DO ODOOO0OOOOO N

#include <iostream>
#include <stdexcept>
#include "mempool.h"

mem_pool: :mem_pool() {
int maxidx, sz;
_midx = 0;
_psize = new int[Poolvsize<MINDIGITS,MAXDIGITS>::result];
_poolv = new void*[Poolvsize<MINDIGITS,MAXDIGITS>: :result];
maxidx 0;
sz = mindigits;
while (sz < maxdigits) { sz *= 2; ++maxidx; }
for (int i=0, sz = mindigits; i < _poolvsize; sz *= 2, ++i) {

_psize[i] = sz;
_poolv[i] = 0;

N J
g20000000000000

2.1.3 0OU000OO0O0bOobObOOoboOooboobooooboaon

O00o00o00odl..)0000000000000000000U0ooO00D00000O000o0ooo
gboobooobooooboooooobooobooboooooboobooobooooboooobooon
00000000000000002%2000 6400000000000000000000 327680
gooooo

longint 000000 ADOOCOOOOIlengint 0000000 COOOO00O0O0ODODOOOCOOO
oo

longint A(23L);

D000 longint OO0 AOOlongint OO0 2300000000000000000000O0000OO
gbobooboboooobooooobooboooon
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_psize _poolv _numreallocv

64 0 0
128 0 0
256 0 0
512 0 0

1024 0 0
2048 0 0
4096 0 0
8192 0 0
16384 0 0
32768 0 0

02000000000

s longint 00000000 OOO N
longint::longint() {
try {
this->d = lalloc(mindigits, this->capacity);
} catch(std::runtime_error& e) {
cerr << "longint::longint(): lalloc failed: mindigits=" << mindigits << "endl";
exit (99);
}
this->1 = 0;
N J

3000 lallocO0O0O0000uint32t 0000 64000000000 8301alloc O Longint allocate 0 O
O000lallocOOODOODO

-

longint 0 0 00O lalloc 0 O N

uint32_t* longint::lalloc(int size, int& allocated_size) {
uint32_t* p;
try {
if (size > maxdigits) {
p = new uint32_t[size];
allocated_size = size;
} else {
mem_pool* mp;
if ((mp = _mempool) == 0) {
_mempool = new mem_pool();
mp = _mempool;
}
assert(mp != NULL);
int idx = mp->getpoolindex(size,150);
p = mp->dalloc(idx); <=—m————= dalloc U0 Omempool OO OMO
allocated_size = mp->psize(idx);
}
} catch(std::bad_allock e) {
std::cerr << "bad_alloc in lalloc: size=" << size << std::endl;
exit (99);
}

return p;
3
N J

S00000000000000000NON00D0N0NDD midx 000000000000000000000O0O000OO
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000000000000 mempool 0000 dallocOODOODODO

s mempool 0 0 00O dalloc 00O ~
uint32_t* mem_pool::dalloc(int idx) {
uint32_t* d;
if (_poolv[idx] == 0) {
int size = _psize[idx];
d = new uint32_t[size]; new 0000000 320000 size O
} else {

d = (uint32_t*)_poolv[idx];
_poolv[idx] = ((voidxx*)_poolv[idx]) [0];
}

return d;
N J
poolv 000000000 O0ODOO“ 000000ODO0O0O0O00DOnew 00 O0DOO0OODOODOOOO
0000000000000 000000000O00000O0U poolvlids] 0O0ODOOOOOODOOOO
ogood

000000000000 ADDOOOO0DODOOOO00OO0 ADDODODOOOOOOOOOOoDOOO
O Tlongint 0O DO OOO

longint O O0O0OOD0OOOO

longint::"longint() {
lfree(this->d,this->capacity);
}

lfreeJ g
e longint 0 00 O lfree d O ™

void longint::1lfree(uint32_t* p, int size) {

if (size > maxdigits) {
delete[] p;

} else {
mem_pool* mp = _mempool;
assert(mp != 0);
int idx = mp->getpoolindex(size,151);
mp->dfree(p,idx); <=—m————- dfree U0 Omempool OOO0O

N J
dfree 00000000

214 00000

OO00000000D0OD00000O0OgetpoolindexJODOOOOODDOOO
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_poolv aooo oogd

64
128 0O A 0O B C
256 \
512
1024
5018 O X ovy A B
4096
8192
16384
32768
03 000000000000000
s mempool 0 0 00O getpoolindex [0 0 B

int mem_pool::getpoolindex(int size, int id) {
int idx, sz;
if (size < mindigits || size > maxdigits) {
cout << "mem_pool::getpoolindex: size out of valid range (size=" << size <<
" id="<< id << ")" << endl;
throw std::runtime_error("memory allocation error");
}
idx = 0;
sz = mindigits;
while (sz < size) { sz *= 2; ++idx; }
return idx;

N J
Oo00oooooooon00 ADmO0 BO 128000000000000000000n0 m O
64000000012800000000 C=A-BOOOOOOOCOOODMO0000O0O00OC0DODOOO
00000o0oooo0o00ooooooooo0o0oooooo300000D Abpocogoooooo
00000 ADBOXOY UOD64000 128000000000000000000000O00OO _poolv[0]
006400000000 ADDOOOOODOOOOOODO AQDDDOOOOOOOOOOOOOOO BOO
000000000 0000000 poolv[l] OO 12800000000 XOOOUOOOOOOOOOO
XOOooooooooooooobooobo vyooooooooooooobooobooboobooooooooo
gooobobooobooboooobooooboooDo

realloc U0 00000000000 O0OO00D00O0OO0 realloc000000OO

0 C.realloc(C.1+1,1009);

realloc0 000 100000000000 000O00O0DOOODOOOOO0OODOOOOOO lallocO
oooooooooooooOooooooUoOo dl..)JoooooooooUooooooooooo
OO0O00for 0O0DODOO0O0O0O0O0O0O000O0 lfreed00000O0

void longint::realloc(int size, int id) {
int new_size = O;
uint32_t* p = lalloc(size, new_size); <--- lalloc OO
for (int i=0; i <= this->1; ++i) {
pli]l = this->d[i];

14



_poolv aooo goo
64

128
256 \\\
512

1024 C
2048
4096
8192
16384
32768

04 00000000D000000O0

}
lfree(this->d,this->capacity);
this->d = p;

this->capacity = new_size;

lalloc000O0O0ODO0DO130000000 mempool O OO dallocdallocOD OO ODOODOODOONO
0000 poolvlids] DOODDOOO0ODOOOO

_poolv[idx] = ((voidx*)_poolv[idx])[0];

_poolvlidx] DO OO* poolvidx]0 000000 DOO0OOOO0OOO™ 02000000000000
gbooooobooooboboobooogob 200b000000000000

Ifree0 0000000 dfree 00 0O000Q0OO0O0O00O0O0O0O0O0OOODOOOOforO0CCOOO0O
O0000free 00000000130 0000000 lfreed000sized 000000 delete 000
OO0000D00 mempool OO0 diree DO0DODOOODODOODOOODOOODOOODOOODOOODOODO

dfree DO O0O0OO

void mem_pool::dfree(uint32_t* d,int idx) {
((void*x*)d) [0] = _poolv[idx];
_poolv[idx] = (voidx)d;

}

0000 _poolv[idx) 00000000 ADDDOOOOODDOOOOOD CcO000O00000000
000 “((void**)d)[0] = _poolv[idx];” 00000000 _poolvlidx] 000000000 000000
0000000 poolvlidx] = (void*)d;00000 6400000000000000000000000
000 CcO00000040000000

22 00000O0ODOOd

gbobooooooobooobooboobooooboooboobooboooooooooooDbn
OO00D00O00D00O0000D0O00D0 Thread Local Storage 000000000000 OO0DODOOO
obooooboobooooboboooooboobooobooboooboobobooboonog
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GNU OO _thread 00000000 DODOOOOOMacOSOODODOOOOOOOODOODODOODDODO

gbooobooboooobooon

s 00000000 mempool OO0

#ifdef MEMPOOL

#ifdef TLS

__thread mem_pool* longint::_mempool;

bool longint::pool_initialized = false;

#else // TLS

mem_pool* longint::_mempool = NULL;

#endif // TLS

#endif // MEMPOOL

uint64_t longint::BASE = (uint64_t)65536u*(uint64_t)65536u;

N

~

mit 0000000000000

000000000 mit()0O

-

bool longint::init() {
#ifdef TLS
if (!pool_initialized) {
pool_initialized = true;
¥
#endif // TLS
return true;

L }

lalloc OO ODOOOOODOODOOO
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s OO0O0o0o000gO lalloc ™

uint32_t* longint::lalloc(int size, int& allocated_size) {
uint32_t* p;
try {
if (size > maxdigits) {
p = new uint32_t[size];
allocated_size = size;
} else {
mem_pool* mp;
#ifdef TLS
if (!pool_initialized) {
longint::init();
}
if ((mp = _mempool) == 0) {
_mempool = new mem_pool();
mp = _mempool;
}
#else // TLS
if ((mp = _mempool) == 0) {
_mempool = new mem_pool();
mp = _mempool;
}
#endif // TLS
assert(mp != NULL);
int idx = mp->getpoolindex(size,150);
p = mp->dalloc(idx);
allocated_size = mp->psize(idx);
}
} catch(std::bad_allock e) {
std::cerr << "bad_alloc in lalloc: size=" << size << std::endl;
exit (99);
}

return p;

N J
lfree00000000000O0O00O000O

23 0OO0O0OOOOO

obooobOobooooboobooooobooooooboboooobooboooooooo

23.1 0OO0OO0OO0OO0ODOOOOO

gobooboooboooboooboobooboobooobooobooboobooboooobobooDbn
goooooobooogobobobooooboooooboboooooboboobooobooboo
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s longint 00 O000OOD0OOODOO

longint::longint(const longint& rhs) {
try {
this->d = lalloc(rhs.capacity, this->capacity);
} catch(std::runtime_error& e) {
std::cerr << "longint::longint(const longint&): lalloc failed: rhs.capacity=" <4
rhs.capacity << std::endl;
assert(false);
exit (99);
}
this->1 = rhs.1;
for (int i=0; i < rhs.1l+1; ++i) {
this->d[i] = rhs.d[i];
}

N J

23.2 OO0OO0OOOOOOOOOOO

uint32t 0 0000000000000 000000

s uint32_t 00O 0O 0 N
longint::longint (uint32_t n) {
this->d = lalloc(mindigits, this->capacity);
this->1 = 0;
if(n != 0) A
int 1 = 1;
do {
this->d[i] = n % BASE;
n = n / BASE;
i=1i+1;
} while (n > 0);
this->1 =i - 1;
if (this->1 > longint::longintlmax) longint::longintlmax=this->1;
}
N J

uint6d_t 00 O0DO000O0O0O0ODOOOOODOOOOOO

string 00000000000 00D0O0000O0DIengint OOO0DOOOO0ODOOODOOODOOOOO
obooooooooooon
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s string 00 0O

longint::longint(const std::string& s) {

uint64_t dd;
this->d = lalloc(mindigits, this->capacity);
this->1 = 0;

if (s.size()==0 || s[0]==’0’) return;
this->1 = 1;
this->d[1] = 0;
for (unsigned int i=0; i < s.size(); ++i) {
// Multiply d by 10
dd = 0llu;
for (int j=1; j <= this->1; ++j) {
dd = (uint64_t)this->d[j]l*(uint64_t)10u + dd;
this->d[j] = dd % BASE;
dd = dd / BASE;
}
if (dd !'= 0) {
this->d[++this->1] = dd;
}
// Add a digit
dd = (uint64_t) (s[i]l - ’0’);
for (int j=1; j < this->1+1 && dd != 01lu; ++j) {
dd = (uint64_t)this->d[j] + dd;
this->d[j] = dd % BASE;
dd = dd / BASE;
}
if (dd !'= 011lu) {
if (this->capacity < this->1+2) this->realloc(this->1+2,1002);
this->d[++this->1] = dd;

N

gbooobooobooobooboobooa

obooooooooogon

longint::longint (uint32_t* d, int 1) {
this->d = lalloc(l+1 >= mindigits ? 1+1 : mindigits , this->capacity);
this->1 = 1;
for (int i=0; i <1; ++i) { this->d[i+1] = d[il; }

gbooobOobooooboobooooobooon

goooogo
-

longint () ;

longint (const longint&);
longint (uint32_t);

longint (uint64_t);

longint (const std::string&);
longint (uint32_t*,int);
virtual “longint();

N

233 0OO00OO0OO0OOOOOO

obooooOobooooobobooooooo
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s 1600000000000000 hexstr ™

std::string longint::hexstr() const {
std::stringstream result;
result << "{";
for (int i=this->1; i >= 1; --i) {
result << " " << std::hex << this->d[i];
¥
result << "}";
return result.str();

}
N J
160000000000
000000000
4 )

std::string longint::str() const {
std::string result;
char s[1000];
sprintf (s, "{ capacity: %d, 1: %d, d=[", this->capacity, this->1);
result += s;
result += this->hexstr();
result += "]}";
return result;

N J

2.3.4 000 oltest.cpp

0000000000 longintOOOODOOOOOO Oarchive.hOlongint.hOlongint_cexp.hOmempool.h(
rmatrix. hOrvector h OO OO0 O00O00OOOO0ODOOODOODOO mempool.cpp O gettimeofday.cpp O
oooooo

00O O O oltest.cppd
4 PP )

int main(){

longint Q,R,A,W;

longint n("374609826037864679774759374054292510668856745605487301373616436405837520
577452287583017404196671330477339073422157463987365552216234892474208747520") ;

longint d("374609826037435791616904782954434000577931115401036737161956888337976908
26789394933085434619727650601055312222385516833813086071928918206920439743") ;

std::cout << "n=" << n << std::endl;

std::cout << "d=" << d << std::endl;

Q = longint::ldivide(n, d, &R);

std::cout << "Q=" << Q << std::endl;

std::cout << "n=" << n.str() << std::endl;

std::cout << "d=" << d.str() << std::endl;

std::cout << "Q=" << Q.str() << std::endl;

std::cout << "R=" << R.str() << std::endl;

W=4d=*Q; 0o00oo0ooooooooooo

A= W + R;

if( A !'=mn ){ oooooooooooooono
printf (" BAD\n"); COUO printf 0000 M

Yelseq{
printf(" OK\n"); cout << OOOOOOOOOOO

}
N J

string 0000000000000 0OO0O0O0O0O0OCOO000 n0 d00000O0OO0O0OO0O0OO0OO0O00O0
0000 n+~d000000 QOOO00OO0ROODODO22000160000000000000000
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000 (77)16=1120 (b)1s=11000000 QU 10000000000 n=d+*Q+RO0O0OO0O
O«oKrooooood
s OOOOoltest DOOODODO ~N

n=3746098260378646797747593740542925106688567456054873013736164364058375205774522875830
17404196671330477339073422157463987365552216234892474208747520
d=3746098260374357916169047829544340005779311154010367371619568883379769082678939493308
5434619727650601055312222385516833813086071928918206920439743

Q=10
n={ capacity: 64, 1: 16, d=[{ 77 ffffffff ecd810la b5c849d1l 82679679 8d044625 5380531
898cldec 16273708 7£7650d7 bcelOab6c 7ffff0d6 a2a7020a 0 0 0}]}

d={ capacity: 64, 1: 16, d=[{ b ffffffff eefa8069 a7635a3f 64dal82f 6dee80ea a9albbe4d
da285c9b 634c91bf £1£02000 d10aeOde 4a08de72 7cf7383e cc214032 £873bd66 705eb7bf}]}

Q={ capacity: 64, 1: 1, d=[{ a}]}
R={ capacity: 64, 1: 14, d=[{ 970fObfa 2be6c357 91e2a49f 41b33cfa beeaaadl 3f87fda
35298589 c1510cf 9273dcbd 9ba7405d cOfecf96 6b37e02 4b7a99ff 9cdcd28a}]}

0K

N J

24 000O0OOO

gooooooooooooooooooooobbobooooobooooooooo
e checkoverflow ™

void longint::checkoverflow(int index, const string& tag) {
if (this->capacity < index+1) {
cerr << "Index out of bound at " << tag << ": index=" << index << ", capacity="
<< this->capacity << endl;
assert(false);

}
}
\_ J
0000000000000 bO0o0bO0o0oobOOoooOoooOoo
s checkbound ~N

void longint::checkbound(int idx, int id) {
if (idx < 0 || idx > this->1) {

cerr << "checkbound: index out of bound: id=" << id << ", 1=" << this->1
<< ", index=" << idx << endl;
exit (99);
}
-’ y

oooooooboboboooooooooooobboooo0o0ooonooobbbo0oOnnd CHECKOVERFLOW
O CHECKBOUND O OO 0OD0OO0O0O0000OO0O0O0O00O0O0O0O0000
gobooooooo

#ifdef CHECKOVERFLOW
void checkoverflow(int,const std::stringg);
#endif
#ifdef CHECKBOUND
void checkbound(int,int);
#endif

gbboobuodgbugoobooboboboaoboobooboobooboaa
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2.5 longint.h 00000000000 slzlswapl clzull copy_digitsl] to_ullong

oboooboooooboboooom

slz
void slz() {
int 1 = 1;
while (i > 0 && d[i] == 0) --i;

longint 00 0000000000000 O00O0OO00O0OOO0O00OOOO0O0ODOOOOOOOOOO0OOO0OO0
ooooboooogon

swap

static inline void swap(longint& a, longint& b) {
std: :swap(a.capacity,b.capacity);
std: :swap(a.1l,b.1);
std::swap(a.d,b.d);

gbooobooobooobooboobood

e clzu ™

static inline uint32_t clzu(uint32_t a) {
uint32_t count;

count = 0;
while ((a & 0x80000000) == Ou) {
a <<= 1;
++count;
}
return count;
}
N J
gdobooouoooouobood
copy _digits
( py-dig ™

static inline void copy_digits(uint32_t* d, uint32_t* s, int len) {
uint32_t* s_end = &s[len];
while (s != s_end) {
*d++ = *s++;

}

N J
000000064 00000000000O%0

to_ullong()

uint64_t to_ullong() const {
if (1 == 0) return O;
if (1 == 1) return static_cast<uint64_t>(d[1]);
return (static_cast<uint64_t>(d[2]) << 32) + d[1];

900000 rough 0000 longint2double 0000000000
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2.6 longint.cpp UOODODOOOOODOO

longint 00000000 OOO0O0ODOOOOODOOOOODOO

K ctz \
uint32_t longint::ctz() const {
uint32_t di, bi;
uint32_t t;
if (this->1 == 0) return O;
for(di=0; this->d[di+1] == 0; ++di) ;
for (t=this->d[di+1], bi=0; (t & 1)==0; t >>= 1, ++bi);
return di*32+bi;

N J

gbobooooooboobobobooooooooooooobobo20000000000000
gboboobOoobooooboboooooboo

s shl ™
void longint::shl(uint32_t n) {
uint32_t w = n / 32;
uint32_t b = n % 32;
if (1 '=0&& n !=0) {
uint32_t i;
if (b == 0) { 320000000
if (capacity < l+w+1l) realloc(l+w+l, 3);
for(i =1; i > 0; —--i) { d[i+w] = d[i]; YO OQOOOGOoQO
for (i =w; i > 0; --i) { d[i]l = 0; }
this->1 += w;
} else {
uint32_t u, v;
if (capacity < 1l+w+2) realloc(l+w+2, 3);
u = d[1];
d[1+1+w] = (u >> (32-b));
for (i = 1; i > 1; —-i) {

v = d[i-1];
dli+w] = (u << b | v >> (32-b));
u=v;

}

d[w+1] = u << b;

for (i =w; i > 0; —--i) { d[i]l = 0; }
this->1 += (w+1);

this->sl1z();

N J
00D00000000000000mM
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shr

(
void longint::shr(uint32_t n) {
uint32_t nw = n/32;
uint32_t nb = n%32;
if (1 <= nw) {
this->1 = 0;
} else if (nb == 0) {
uint32_t m = this->1-nw;
uint32_t n = 0;
if (m >= 4) {
n =m & Oxfffffffc;
for (uint32_t i=0; i < n; i+=4) {
this->d[i+1] = this->d[i+nw+1];
this->d[i+2] = this->d[i+nw+2];
this->d[i+3] = this->d[i+nw+3];
this->d[i+4] = this->d[i+nw+4];
}
}
for (uint32_t i=n; i < m; ++i) { this->d[i+1] = this->d[i+nw+1]; }
this->1 = this->1 - nw;
} else {
uint32_t m = this->1-nw-1;
uint32_t n = 0;
uint32_t nbl = 32 - nb;
if (m >= 4) {
n =m & Oxfffffffc;
for (uint32_t i=0; i < n; i+=4) {
this->d[i+1] = (this->d[i+nw+1] >> nb | this->d[i+nw+2] << nbl);
this->d[i+2] = (this->d[i+nw+2] >> nb | this->d[i+nw+3] << nbl);
this->d[i+3] = (this->d[i+nw+3] >> nb | this->d[i+nw+4] << nbl);
this->d[i+4] = (this->d[i+nw+4] >> nb | this->d[i+nw+5] << nbl);
}
}
for (uint32_t i=n; i < m; ++i) {
this->d[i+1] = (this->d[i+nw+1] >> nb | this->d[i+nw+2] << nbl);
}
this->d[1-nw] = (this->d[1] >> nb);
this->1 -= nw;
}
this->slz();
}
\_

OO00000loopunrollingD OO0 O O0O00OO0OO0O0DODOOOODO

27 ODOO0OOO0bOOO0OOO0DbOO0

gboobOobooooobobobooooboooooboboooooboooooboobooon

271 000000O0OO0OO0ODOO

ooooooboooogn

// overloaded operators

longint& operator =(const longint&); 00O
longint& operator =(uint32_t);

longint& operator =(uint64_t);

longint& operator <<=(int); oooood
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longint& operator >>=(int);

longint operator <<(int) const;

longint operator >>(int) const;

bool operator ==(const longint&) const; OOOO
bool operator !=(const longint&) const;
bool operator >(const longint&) const;
bool operator >=(const longint&) const;
bool operator <=(const longint&) const;
bool operator <(const longint&) const;
longint& operator |=(const longint&);
longint& operator +=(const longint&); O0O0O00
longint& operator -=(const longint&);
longint& operator *=(const longint&);
longint& operator /=(const longint&);
longint operator +(const longint&) const;
longint operator -(const longint&) const;
longint operator *(uint32_t) const;
longint operator *(const longint&) const;
longint operator /(const longint&) const;
longint operator |(const longint&) const;
operator double();

272 000

longint 00 O0O0O0O00OOO0O

-

N

00000 = longint ~N

longint& longint::operator =(const longint& rhs) {

int i;
if (this == &rhs) return *this; // self assignment!
if (this->capacity < rhs.capacity) {

this->1 = 0; // to avoid copying

this->realloc(rhs.capacity,1004);
¥
this->1 = rhs.1;
for (i=0; i < rhs.1l+1; ++i) { this->d[i] = rhs.d[i]; }
return *this;

2.

O

7.3 0O0O0ODO

0000000000 00000000000000 USESHLOOOOODOO230000000 sh10O
Ootog

V00000 longint 0000000000sh0D000000000000010000000000

25




000000000 <<=
( N

longint& longint::operator<<=(int n) {
#ifdef USESHL
this->shl(n);
#else
uint32_t c;
for (int j=0; j < n; ++j) {
c = 0;
for (int i=1; i <= this->1; ++i) {
uint32_t msb;
msb = this->d[i] >> 31;
this->d[i] = ((this->d[i] << 1) | ¢);
c = msb;

if (c '=0) {
if (this->capacity < this->1+2) {
this->realloc(this->1+2,1007);
}
this->d[++this->1] = c;

}
#endif
return *this;

__ Y,

gbooobOoobooboobooobooboooobooooboOob vusEsiLOO0000oooooooan

ubboobodgbuogbgobusesiRO 00O 0O0O0Oshr 000000 nooooooooboan
=000000b000boooboobooo

oooooooog >>

longint longint::operator>>(int n) const {
longint result = *this;
result >>= n;
return result;

274 0000

longint 00 20000000 ==0000
oobodn ==

bool longint::operator ==(const longint& rhs) const {
return lcmp(*this,rhs) == 0;

}

lemp DO OOOODOO0ODOOO

26



longint.cpp O lemp O O
( g Pp p \

int longint::lcmp(const longint& A, const longint& B){
int i;
if(A.1 > B.1) return 1;
if(B.1 > A.1) return -1;
for (i=A.1; i > 0; --i) {
if (A.d[i] '= B.d[i]) break;
}
return (i == 0 ? 0 : (A.4d[i] > B.d[i]) 27 1 : -1);

N J

275 00

oooooooooooo
e longint.cpp 0 OO OO0 ~

const longint longint::ZERO = (uint32_t)Ou;

const longint longint::0NE = (uint32_t)1lu;

const longint longint::TWO = (uint32_t)2u;

const longint longint::THREE = (uint32_t)3u;

const longint longint::FOUR = (uint32_t)4u;

const longint longint::FIVE = (uint32_t)5u;

const longint longint::SIX = (uint32_t)6u;

const longint longint::TEN = (uint32_t)10u;

const longint longint::SIXTEEN = (uint32_t)16u;

const longint longint::FOURGIGA = (uint64_t)4294967296u;
const longint longint::FOURPETA = (uint64_t)4503599627370496u;

N J

2.8 0O0O0OO

20000000000DOO00O0O0OO0ODOOODOOOOOOOOOOOOOOODbOOODbOOOO0O0ODOO
obooooOoboooooboobooboooooonoo

2.8.1 0O0OO

obooboobooboob0 +=000200000000000000 this + rhs 0000 this OO
U0 rhs JO0ODOO0OO0OOOO0ODO 2000000000000 thisOOOOOOO0OODOOOOO
gbobooboooooobooooboobobouoee4bbbooboobooobobobooboooboooobon
OO000Othis->d[i] OO0O0OODOO 320000000000000020000000000000
gbgbobodboboboboodbobooboboboobooboubooooboboboobobn
rhs JO0O0O0O0O0OD0OO0DOO0ODOO0ODOODOODOOOOOOnOOd

longint& longint::operator+=(const longint& rhs) {
uint64_t t;
int i;
if (this->1 >= rhs.1l) {
i=1;
t = 01lu;
while (i <= rhs.1l) {
t =t + (uint64_t)this->d[i] + (uint64_t)rhs.d[i];
if (t < longint::BASE) {
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this->d[i] = t;
t = 01lu;
} else {
this->d[i] = t - longint::BASE;
t = 111lu;
}
++1i;

}
while (i <= this->1 &% t != 01lu) {
t =t + (uint64_t)this->d[i];
if (t < longint::BASE) {
this->d[i] = t;
t = 01lu;
} else {
this->d[i] = t - longint: :BASE;
t = 111u;
}
++1i;
}
if (t !'= 01lu) {
this->d[++this->1] = t;
}
} else {
if (this->capacity < rhs.1+2) { O0O0O0O0OOOOO0O
this->realloc(rhs.1+2,2002);

}
i=1;
t = 01lu;

while (i <= this->1) {
t =t + (uint64_t)this->d[i] + (uint64_t)rhs.d[i];
if (t < longint::BASE) {
this->d[i] = t;
t = 01lu;
} else {
this->d[i] = t - longint::BASE;
t = 111lu;
}
++i;
}
this->1 = rhs.1;
while (i <= rhs.1l) {
t =t + (uint64_t)rhs.d[i];
if (t < longint::BASE) {
this->d[i] = t;
t = 01lu;
} else {
this->d[i] = t - longint: :BASE;
t = 111lu;
}
++i;
}
if (¢ != 0llu) {
this->d[++this->1] = t;

}

return *this;

— =0 this- rhs OO00O0O000O0O0O0O0OOOO
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2.8.2 00

*=[0 thisxrhs 00000000000 OOOODOOODOOOOOOOOODOOODOOOOO0OOO
000000000000000000M00000 O(?)00000FFTO00O00 O(nlogn) 00
ooooorrFTOO000O0D00D0O0

OO0D00O00bD0o00bD0OIntel DOOOOO0ODOx86 0 EMAT OO DOOOODOODOODOOO3200
Oooooooooo0ooobDoo MULOO320000000000000006400000D0 20
ODO0000 eaxUO edx D000200wint32t 0000 6400000000000 320000000
0200 32000000000000000 32000000000000000000 carry 00O
000 MUL1000006400000 +0000000000%0000000000 3300000
OO0 mullu00OO0O0000OO

longint& longint::operator *=(const longint& rhs) {
if (this->1 == 0 || rhs.1 == 0) {
this->1 = 0;
} else {
longint res;
int m = this->1;
int n = rhs.1;
size_t i, j;

if (res.capacity < m+n+1) res.realloc(m+n+1l, 0);
res.l = m+n;
for (i=0; i < res.l; ++i) res.d[i+1] = Ou;

uint32_t carry;
res.d[1] = 0;
for (i=0; i < n; ++i) {
carry = Ou;
for (j=0; j < m; ++j) {
uint64_t t=static_cast<uint64_t>(this->d[j+1])*rhs.d[i+1]+carry+res.d[i+j+1]};
carry = (t >> 32);
res.d[i+j+1] = static_cast<uint32_t>(t & Oxffffffffu);

}
res.d[i+m+1] = carry;
}
res.slz();
longint: :swap(res,*this);
}
return *this;

Intel0 GNUOUOOOOOODODODOOOODOODOOOOOOOOOOOOOOOoOoooooooo
gboooooobboobobooooooboo 200b0b00000b00bO0bo320000000
200 3200000000000 000O00O0O0O0OO0DOOOOOOODOOOOOOODOOOOODOODn
goooboobooooboboooogboooobooboooooboo

1n00mDO2000000000000m00 w000 n+100000000000000 »n000 mO000000
0000 multiplication pyramid 0 0 0000000000000000000000 nxm O0000000000O00D0O0O
0000000000000 0 FFTOOOOODOOO

2Oogo0000000winté4t00000000000000000
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283 00

0000000000000000000000000000000000000000®00000
ooooooboooooobooooooOobOooooobo0ooooboooooooDooD GebooooooQd
gbooooboooooboooobobooboooobooboooooobobooobooboooooobooobooon
goooooboooooboboboooobooooobobbooooboooo

ldivide 000 longint 00000 a 000 b 0000000 r 00000000000 DOOYOO
oboooooobobooobooobooboboobooboobooboboooooooboboon bO
02500000000000000 [3, p. 255]0

“longint u(a);? D0 0000000000000 a00000wOO0O0O0D0O0O0O0DO PO00000O v
0000000 22000 100000000000000000 diviu0000 longintOd0O m OO0
obooob0100000unt32t 00000000000 100000000000000
s ldivide 0 100000000 100000 B

longint longint::ldivide(const longint& a, const longint& b, longint *r) {
assert(b.1l != 0);
if (b.1 ==0) {
throw std::runtime_error("longint: divide by zero");
}
longint u(a);
if (a < b) {
if (r '= 0) *r = a;
u.l = 0;
return u;
}
longint v(b);
longint qv;
longint q;
if (b.1 == 1) { 00010000
uint32_t rr = divlu(&u.d[1],u.1,v.d[1]);
u.slz();
if (r !=0) {
if (rr == Ouw) { r->1 = 0; }
else { r—>d[1] = rr; r->1 = 1; }
}

return u;

N J

uint32.t 00 100000000 divle 00000000 0DD0O0O064000000D00000DDO 32
obooobooboo 3200000000 100000000000

B0pDoO000000D0000000000000000000000000 10000000000000000000000
0000 3000000000000 2000000000000000000000000O0O0O0OOO
MdivD cCO00000000 Idivide 0000
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s divlu

uint32_t longint::divlu(uint32_t* a, int m, uint32_t s){
uint32_t r;
uint64_t t;
int i;
i=m; r = 0u;
while (i > 0) {
uint64_t t;
—-—i;
t = (static_cast<uint64_t>(r)<<32) + al[il;
alil =t / s;
r=t9% s;
}

return r;

N

J

oo mOobooOobO n000000D0O0O0DOOODOOOODOO DIOO D8OOOOOOODO
oooooooobiogoooooooooooboo doboooooooboooooobooooboDbog
0000000000000e+b0000 ad+-bd 00000000 O 23200000000000
oooooo10o0o0000 dopgooooooooo dooooog0o ft0d00D00000O0OO0

gbooobooboobooboboobooboobuooboobobbobobooo

s Idivide 0 20D1 0000
int £, k, m, n;
m=a.l;
n=">5n1;

if (qv.capacity < n+2) qv.realloc(n+2,0);
assert(qv.capacity>=(n+2));

if (q.capacity < (m-n+2)) q.realloc(m-n+2,0);

q.1 = m—n+1; go0o0o00 m-n+1
if (u.capacity < u.l+2) u.realloc(u.1l+2,0);

u.d[m+1] = Ou;

++u.l;

f = clzu(b.d[n]); // Count Leading Zero

if (£ 1=0) {u<<=1f; v=1£;2r // u/ 2°{£}

N

~

J

gboooooooobD m—n+1000000

OO000000 Knuth OOOOO D20j 000000000000 0O00Owhile(k...) OO0OO

000 ¢0O qlk+1] OOOOCOOO
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s ldivide 0 300000000000 ™

k=m - n;

while (k >= 0) { // 00 kx+1 000000000
uint32_t gh;
uint32_t borrow, carry; // algorithm D3

gh = estimate_quotient(&u.d[n+k-2+1],&v.d[n-1]1); // OO \hat{q}
if (qh !'= 0) {

copy_digits(&qv.d[1],&v.d[1],n);

qu.d[n+1] = Ou;

mullu(&qv.d[1],n+1,qh); // 000

borrow = subll(&u.d[k+1],n+1,&qv.d[1],n+1); // OO0, algorithm D4

if (borrow != 0) { // 000000, algorithm D5
-—qh;

carry = addll(&u.d[k+1],n+1,&v.d[1],n);
int addbacks = 0;

while (carry == 0) { // 0000, algorithm D6
~—qh;
carry = addll(&u.d[k+1],n+1,&v.d[1],n);
}
}
}
q.d[k+1] = gh; // 00 k+1 OO
k=k-1;
}
if (r '=0) {
u.slz();
if (£ != 0) u.shr(f); // 000000O00O0OO, algorithm D8
swap (u, *r) ;
}
q.s1z(0);
return q;
N J

gbugobdboobobouogbobobogbouobooboboobobobooboboobaoba
gboooboooboobuooboooboobdoibn+100000 «0 nD00O00 o0O000

000000000000 uw= (uptp-1--uiug) 000 v=(v,—1---v100) D000 500
goooooood D'u/v <bDOO0O D(]::Lu/vj goooooooooooooo

Oo00oo00O ¢guoobbooobobooooobobobooo3ooooooo 20000000

4 = min Q“n“ “J b 1> (2)
Un—1

O00D00¢qO0 «w 000200 o00010000000000O000O0BOO0O0O0b-1
goobooobooooooboooobooobooooboooobooboooDob0 ¢g0O0 v, 00
0000000000000 ¢00000000000000001%0

ooooooooooono

000 estimatequotient 000 O0000u2l 000000 wuj4p0ull]l O ujpp—10ul0] O %jyp—o O
O0000OD30000000 Gupo >bf+ujsin-o 0000000000 whileOODODDODODOO232
00000 00 3200000000000 00000ODOODO 10000D0O00OO0O0OOCOOODOOO
odooo20000000000000000D00000D00000O0DOO00OOODODO0OOOOoDOOn
oooooooooooo

goooooo0o0o0o000000O0ooooon
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estimate_quotient
e q N

uint32_t longint::estimate_quotient (uint32_t* u, uint32_t* v) {
uint64_t t, q, r;

if (uf2] == v[1]) {
q = BASE - 1u;

} else {
t = (static_cast<uint64_t>(u[2]) << 32) + ull];
q = t/v[1];

}

r =1t - gxv[1]; //r = thv[1];
while (r < BASE and g*v[0] > (r << 32) + u[0]) {

qQ=9-1;
r=r + v[l];
}
return static_cast<uint32_t>(q);
-’ Y

OO00O0Mivide D 300000D0O00ODODOMMODOOOD 30000 mulludsubllHaddll 000 Omullu
OOlongint OO0 mOO0OO0O0O0 100000Ouwint324 00000000000 10000000000
gbobooobooboobooo3s2booooboboooe4bbooooboboboobobooooboon
ob32000000000010000000

s mullu ™
uint32_t longint::mullu(uint32_t* a, int m, uint32_t s) {
uint32_t carry;
int i;
carry = Ou;
for (i=0; i < m; ++i) {
uint64_t t = static_cast<uint64_t>(ali])*s + carry;
carry = (t >> 32);
al[i] = static_cast<uint32_t>(t);

}

return carry;

N J
0000000 longintmullu.cpp 0000000000 “g++ -S -0O3 longintmullu.cpp -masm=intel”
00000000 longintmullu.s 000000000000Y03200000000000000000
mul 000032000000000000 320000 boooooboooooobooooobooo
e mullu -SO000000O0OOCOOOOOO N

L3:
mov eax, edi
xor ebx, ebx
mul DWORD PTR [esi]
add eax, ecx
adc edx, ebx
add esi, 4
mov  DWORD PTR [esi-4], eax
cmp esi, ebp
mov ecx, edx
jne L3

ali] * s 000 edx O eax

carry 0O OO

add with carry 0 CFOOOOOOOOOOOOO

i J00oooooo

alil =t

0o0ooooooooooooooooo

carry U edx 00O0O0O0O0O0O 320000
000000000000000000D0D0 300000

N

oboooboooooogn
6400000000000D0100 mulO0000064D0000000000DOOOO

6« masm=intel” 00000000 Intel 00000000000000000 gecO g++ 0 AT&T OOO0O0OO0DO0
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subll O Olongint 00 m OOOO00 100000O0longint 00 n OO0O0O0O00OO0O0OO0 10000

gbooobodoon 10004ad

e subll

uint32_t longint::subll(uint32_t* a, int m, uint32_t* b, int n){
uint32_t borrow;
int i;
assert(m>=n) ;
borrow = 0;
for (i=0; i < n; ++i) {
uint32_t t, u;
t = al[i] - borrow;
if (t > al[il) { // underflow
assert(al[i]==0u && borrow==1u);
alil = t - bl[il;

} else {
assert(borrow==0 || a[i]!=0);
u=t - bl[il;
if (u > t) borrow = 1lu; else borrow = Ou;
ali] = u;
}
}
for (; i < m && borrow !'= Ou; ++i) {
uint32_t v = a[i] - borrow;
if (v > al[i]) borrow = 1u; else borrow = Ou;
ali]l = v;
}

return borrow;

N

~

J

addll 0 longint OO0 m 00000 100000longint 00 nOOOOOOOOOO1000000QOOO

goood 1googg

e addll

uint32_t longint::addll(uint32_t* a, int m, uint32_t* b, int n){
uint32_t carry;
int i;
assert(m >= n);
carry = 0;
for (i=0; i < n; ++i) {
uint32_t t, u;
t = ali] + carry;
if (t < alil) { // overflow
alil = t + b[il;
carry = lu;
} else {
assert(carry==0u || a[i]!=Oxffffffff);
u=t+ bl[i];
if (u < t) carry = 1lu; else carry = Ou;

ali]l = u;
}
}
for (; i < m && carry != 0; ++i) {
uint32_t v = al[i]l + carry;
if (v < a[i]) carry = 1lu; else carry = Ou;
ali]l = v;
}

return carry;

N
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goo0o0o0ooooooooooooooobooooDooDD divideDOOOOO0OoOOoOoooooooo
00oooooooto

oboooobooooobobooooobooon

longint longint::operator/(const longint& rhs) const {
longint r;
return ldivide(*this, rhs, &r);

2.8.4 rational 0000000 0OO0OO0OOOO

0000000000000 00D0000000D0000D00UoDO rational OOO0OOODOOODODO
O0000000000o0oo00Odddrational 0000 RatAdd OO0 O OlempO 1divided Imuld laddO
Isubv Iged2(1ged) O O O O O 180

longint lmul(const longint& A, const longint& B);

longint ladd(const longint&, const longint&);

longint lsub(const longint&, const longint&);

int lsubv(const longint& A, const longint& B, longint& X, int id);

Imul 0 X=A; x*=B; return X;0ladd 0 X=A; x+=B; return X; 00000000 O0OOO

29 00O

longint 0000000 min0 max O00O00O0 pow OOOOOODOO

2.9.1 min, max 00

200 longint 0000000000 0O00OD0 minOOO0OO0OO0D0O0O00O max O friend D000
gboogobooobooobooobooo
mnOJO0maxO00O0O0O000O0O00O00OO

friend longint const& min(longint const&, longint const&);
friend longint const& max(longint const&, longint const&);
friend longint pow(longint const&, int);

2.9.2 pow U0

longint 000 0 n0O 2" 000 powOOO friend0 00000000 20000000000
0000 k00000 100 20000000 2"00000

Winterval 0000 formatprn 000000000000

Boooo00000000000000CO00000000000000000000000000000000000000
ooo0oooo0ooUoooooOooO0o0o0o0o0o0o0o0oO0Oo0oO0O0O0O0UOUDOUOODOODDOUODDOOOO
oooooo
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s pow O [ N

longint pow(longint const& x, int n) {// in case of n=10=(1010)_2
longint result = longint::0NE;
longint p = x;

while (n !'= 0) { n = 1010 101 10 1

if (mety=00{  mmmm—mm—————————
result *= p; result= x"2 x~{10}

}
P *= p; p = x"2 x74 x78
n >>= 1;

}

return result;

}
N J

00000 n=10=(1010), 0000000000000 pO p=g,2%,24,20000000n0 20
0000000000000 1000000 pO000000000D0O0O0O0O0O0OOOO0 O(logn) O
0ootno

210 0ODOOdo

000000 Greatest Common DivisorOGCDOO OOOO0O0OO0OOO0OOO0OOOOOO0OOOOO
OO00D0OD00000000D0 rational 0000000000 DDOOO0O0O00O0DOODODOOOOOlongint.cpp
ooooo

0o0o00o0obo0oobOooboOoboOod Euclidian algorithm OO 0O Euclid’s algorithm OO OO0 OO
ocooboOoobooooooooo0ooobooboOooobooooooOoOooboobooooOooooOooDO
coooooosfooooooooooooooooooboooooobooooboobobooooon
O00000000o0oo00o0o0o0oUo0oo0ooUoon “%ed b000000 ged(a,d) =0
0 “ged(a,b) =ged(a—b,b)” 00000 “ged(a,b) =ged(b,r)” 000000000000 OOOO

2.10.1 Iged OO

200000 z,y, 2>y 0000020 yOOODOOO »r00000 20 y0O0O000O00 yO
r0000000000000000000000%01engint00000000O0GCDOOOOOO
ooo

lecd 001
4 & )

longint longint::lgcd(longint X, longint Y){
longint Q,R; int i;
i = lemp(X,Y);
if( 1 < 0 ) swap(X,Y);
while(lcmp(Y,longint::ZERO) != 0){
Q = ldivide(X, Y, &R);
swap(X,Y); swap(Y,R);

}

return X;

Y00 0000interval.cpp O rational 0000 10 000 pow(longint::TEN,n) OO0 OD0O00Op 0 20 2000000
gooooboooboobooboobobooobooobooobooobooon
20r = a%b; while(r > 0){a = b; b =r; r = a%b}
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2.10.2 1gcd200

O0oooooooooooooobooobobbOoObOODbO0O0O0000oooo 20 gedoODOOOO
00 [3,p. 31700 00000000000O0O020 « 000000000 O0OUOOOOOODOOOOO
0000000000000 20000000000 ¢00000000000000 ged(a,b) =2F-¢0

20 ged DOODOOO
k=0;u=a;v=">
while(both(u and v)are even){
k=k+1
u=u+2; v=0v-+2

if(uisodd) t = —velset =u
while (£ 1 = 0) {
while(t is even) {
t=1t+2
it (t>0)u=telsev=—t

}
t=u—v
ged(a,b) = 2% - u

o000 whileOOODODO20 « 0 0o0000D00000D0CO02000000000000000DO
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDgmwm):ng(%%)DD
goooboobobooubbbouub «Oo0bbboobbbooubbdtdUebOodn —o
000000 «0+¢0000000000000000 ged(u,v) D0OD0OO0O0D0OOO0DOOOOOOOOO

O00000000Oged(u,v) =ged(v —v,0) DOO0OO00O0O0O0O 2000000000000000
0000000000000 000 t=u—v0000Omax(u,v) D0¢t>000 vw=t00t<000
v=—t0000000«0 000000000 00000000000 DO ¢t000D00 2000
ooooo gcd(u,v)zgcd(%,v)DDDDDDDDDDDDDDD |u —v|] < max(u,v) 0000000
ged(a,b) =28 . 000000

20 ged00D0OO0OO0O0O0DOOOOODOODOOOOI000O0DODOOOODODOOODODOOOOODO
obooooOoboooooobooboooobooooboobobooooobooooooboon

20 GCODO0O00ODODOO0OO0OOODODO0OODODODO0DO0OOoDODOooOOooOoOooDOooDOon
gbobooboobooooboobooooboboooooboooobooboooonog
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e lged2 ~
longint longint::lgcd2(longint x, longint y){

if (lemp(x,longint: :ZERO) == 0 ) {
std::cout << "FATAL ERROR in 1lgcd2 x zero" << std::endl;
assert(false);

}

assert(y != longint::ZERO);

if (lemp(y,longint::ZERO) == 0 ) {
std::cout << "FATAL ERROR in lgcd2 y zero" << std::endl;
assert(false);

¥

uint32_t cf2 = std::min(x.ctz(),y.ctz());

x.shr(x.ctz());

for (;;) {
y.shr(y.ctz());
int s = lcemp(x,y);
if (s == 0) break;
if (s > 0) { // swap
swap(x,y);
}
if (lcmp(x,longint::0NE) == 0) break;
y = x;
}
x.sh1((int)cf2);
return x;

\ y

2.10.3 GCDhDOOOOOOO

oo0o0O0oOoOooOoooooooooOoOoOoOoooOoO0 GeboooOoOoOoooooooooooo
obooobooooooboooobooooobooobooooooobooboo0ooooboooooooon
gbooboobooboobobobobobobooobooboooooboobooooooooboboobooboDbo
000 GCD=1000 lgedl DOOQOOODO

2.10.4 l1gcd2001gedOlgedl OOOOOODO

200 GCOOOoOOOoDoOOoOoOooDoOOoO0OooDoOoDO0UooDoOOooooDooOO0 Geboooooo
000 public O longint.h O OO0

longint.h O (*lged_p)2 0O O

public:
static longint (*lgcd_p)(longint, longint); // ODOOODOOOO

longint.cpp 00000000000
[ longint.cpp O (*lgedp)2 00O

longint (*longint::lgcd_p) (longint, longint) = longint::1lgcd2; // ODOODODOOO lgch:j

GCbO0ooooooooooooooooooooooooooooooooooooooooooo
obooboobooboobobobobobobobobobobooboobOobobobobobobobo
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0002000000000020ged000000O00DO0O0OOODOO0ODOODOODOOOOODOODO
0000000 PiCfracAtanInt.cpp DO O OO0

2.10.5 00OOO0oOOOOOODOO

O0000000D00000000Dlongint000000D00CD0ODO0OO longint:: O0ODODODO
oboocobOoboooOobooboooboobooooobooooon

OO0000000000 nuimdgts OO0 OO00O0O0O0O0O0OO0OOOSOODODOOOOOOOOODODOOD
oboooboooboo

00000 numdgts

int numdgts(const longint& X){
return X.1;

}

0000000000000 numbits 0000
s 0000000 numbits B

uint32_t numbits(const longint& A){ // Number of Bits of longint number
uint32_t d1=A.d[A.1];
uint32_t nba=0;

if(dl !'= 0){
uint32_t nbdl=32-longint::clzu(dl); // number of bits in A.d[A.1]
nba=32* (numdgts (A)-1)+nbdl; // number of bits of A
}
return nba;
}
. J

211 0ODO0OOgoo

0000000000000 eprof U longint.h O OOO0O
- longint.h O eprof 0 O O ~

class eprof {
long long& acc_;

long long t;
public:
eprof (long long& a, long& cnt) : acc_(a) {
t = gettime(); ++cnt; 00000 tooooooooooboboooooo
}
“eprof () { acc_ += (gettime() - t); } gooooo
};
N J

000000000000 dvsrch2.cpp, LDL.cpp, PiCfracAtanInt.cpp 000000
2000 GCDOODODO 1gca20 00000 EPROF2 O #define 0 0 0 0O O Makefile 0 EPROF2 00O
O0O0oooooog <DEPROF2’ 00000 COOO0O0O0DOODOOOODODOOOOOOODOOOO
U0 lged2time O OOO0ODOODODO
longint longint::lgcd2(longint x, longint y){
#ifdef EPROF2

eprof e(longint::lgcd2time,longint::1lgcd2count); JOOOOODOOOOOOOOO
#endif

00 1lgecd2time 0O OO EPROF2 O #define 000000000 DOOO0OODODO saehfv3.cpp 0O OO
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212 0ODOOOooooboo

< gopboOooopooogcCc++ U0 cowt DOOO0OODOOOODOOOOODOOOODOOOOO
O0000o0n0 lengint 00000000 0OD0O0ODOOOOODOODOOOO0ODOOO longinthOOOO

longint.h 0 << 000
(: friend std::ostream& operator <<(std::ostream&, const longint&); ;j

000 longint.cpp 0 232000 1000000000000 string sO0000000000D0O00DO
googoood

- longint.cpp 10000000 << 000 ~

std::ostream& operator <<(std::ostream& stream, const longint& A) {
longint tmp = A;
std::string s;
uint32_t r;
uint64_t t, q;
if (tmp.1==0) {
s += "0";
} else {
while (tmp.1l !'= 0) {
r = 0llu;
for (int i=tmp.l; i >= 1; --i) {

t = (uint64_t)r*longint::BASE + tmp.d[i];
r =t % 101lu;
q =t / 101lu;
tmp.d[i] = q;
if (tmp.d[tmp.1] == Olu) --tmp.l;
}
std::stringstream out;
out << r;

s += out.str();
}
}
stream << std::string(s.rbegin(),s.rend());
return stream;

N J

213 ODDhooooboboboooobobobogd

000 longint 0ODODOOD0OOOOO0OOO0OOOOODODODOOOOOOOOOODOODOD
oo l100oo0oboobooboboooboobobooobooboooboon
100 nO0000O0O00O07ODO000O0D000000 powersum.cpp DOO0O0O0O0O0O0OO

n

1
1= gt 1230’ 4 6n° —n® —dn +2) (3)
r=1
1 24 2
= gnQ(n +1)%(n* +2n3 — % - ?n + g)

gbooobOoboooobobooooooboo

2.13.1 longint OO OO

oooooooboo
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// g++ -03 powersum.cpp longint.o mempool.o gettimeofday.o
#include <iostream>
#include "longint.h"
using namespace std;
int main(void){
longint x1,x2,x3,x4,x7,z;
int i,n;
cout << "Enter n" << endl;
cin >> n;
longint x("0");
longint y("0");
for(i=1; i<=n; i++){
x += longint::0NE;
X2=X%*X;
x3=x%x2;
x4=x2%x2;
X7T=x3%*x4;
YEYHRT;
}
cout << "SUM_{i=1}"" << n << " (i"7)=" << y << endl;

uint32_t p = n;

X = p;

x1 = x+longint::0NE;
X2 = X*X;

x4 = xX2%*X2;

z = longint::THREE * x4 + longint::SIX * x2 * x - x2 - longint::FOUR * x + longint::TW0;
z = (x2 *x x1 * x1 * z )/( longint::SIX * longint::FOUR);

if(y != 2){
cout << " Result BAD " << z << endl;
} else {
cout << " Result OK " << endl;
¥
return 1;

2.13.2 MPFUN O0OODO

O000D00David Bailey 0 MPFUN OOOUOOOOOOO0OOOOOOODOO
MPFUNOOOODOO STOOOOOOODOODOOODO 1000000 Fortran 77 OO OODOODOOODO
gbooobo3gobooooboobooooono

e JOO0ODODODODODOOMPO
e 0000 OOOOOOOOOOOOOOOMPCO
e 1000 DODOOUDOODPED
MPOOODOODOODODODODODDDOODODOOOOMPO AOOOO r=2*=16,777,2160 r000O

ooooooboooooon

A=4r(do.d_rd_s - d_ppyod—pird_p)y =+ ( > d,w) re (4)

i=—m

d; : digit in r*position, 0 < d; <r —1
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oob1000b000b0ooboo m+1000 £0000 40000 -0200000000 e300
ooooooob ;000000000000 oO0o0o0obob00ooooOo0o0o100ooOo0oOoooDDbOO
gbooob20000000003000000000000000000000 mpadd00O00O0OOO
ooooooobooono

program pwrsum

character*l c

parameter (mx=6, nx=2%*mx, ns=9.5*%nx+47, nd=7.225%nx)
dimension c(nd+50),a(nx+4),x(nx+4),y(nx+4),z(nx+4)
dimension x2(nd+50),x3(nx+4),x4(nx+4) ,x7 (nx+4)

dimension t(nd+50),t1(nx+4)

dimension zero(2),one(3),two(3),three(3),four(3),six(3),£24(3)
dimension f1(5),f2(5)

common /mpcoml/ nw, idb, 1ldb, ier, mcr, ird, ics, ihs, ims
common /mpcom3/ s(ns)

common /mpcom4/ d(12*nx+6)

common /mpcomb5/ u(8+*nx)

nw=nx

ims=ns

call mpinix(mx)

zero(1) = 0.; =zero(2) = 0.

one(1) = 1.; one(2) = 0.; one(3) = 1.
two(l) = 1.; two(2) = ; two(3) = 2.
three(1) = 1.; three(2) = 0.; three(3) = 3.
four(1l) = 1.; four(2) 0.; four(3) = 4.
six (1) 1.; six(2) = 0.; six(3) = 6.
£24(1) = 1.; £24(2) = 0.; £24(3) = 24.

O O Il ~ O O

f1(1) = 1.; £1(2)
x(1) =0.; x(2) =
y(1) = 0.; y(2) =

0.; £1(3) = 1.

o O

write(*,*) ’n’

read(*,*) n

do i=1,n
call mpadd (x, one, x)
call mpmul (x, x, x2)
call mpmul (x, x2, x3)
call mpmul (x2, x2, x4)
call mpmul (x3, x4, x7)
call mpadd (x7, y, y)

enddo

call mpout(6,y,nd,c)

n+1
(n+1)*(n+1)
nxn* (n+1) *(n+1)

call mpadd (x, one, y) !

call mpmul (y, y, z) !

call mpmul (x2, z, z) !

call mpmul (three, x4, t) ! 3*n*x*4

call mpmul (six, x3, t1) ! 6*n**3

call mpadd (t1, t, t) | 3knx*x4+6*n**3
call mpsub (t, x2, t) | 3kn**4+6*n**3—xk*2

call mpmul (four, x, tl1) ! 4*n

call mpsub (t, t1, t) | 3xn**4+6*n**3-x*k*k2-4*n

call mpadd (t, two, t) | 3xnx*4+6*n**3-xk*2-4*n+2

call mpmul (z, t, t) ! nxn* (n+1) * (n+1) (3*xn*k*x4+6*xn*x*x3-x**2-4*n+2)
call mpdiv (t,f24, t) ! nxnx(nt+1)*(n+1) (3knk*4+6*n**3-x*x*2-4xn+2) /24
call mpout(6,t,nd,c)

stop
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017000

n St number of ‘6’ in 6 - - 675
1,000 1.25--- x 10?3 3
10,000 1.25--- x 103! 5
100,000 1.25--- x 10% 7
1,000,000 1.25--- x 10%7 9
10,000,000 | 1.25--- x 10%° 11
100,000,000 | 1.25--- x 1053 13
1,000,000,000 | 1.25--- x 107! 15

end

ooooooooooooooooooooobooooooooooooooOOoMPFUNDDODODDODOD
+,—,%,/00000000000000000000O0000O00O0O0O0OO0OOOO0O0UOOOOO0
gooooooogon

2.13.3 0OO0OO0OO0OO0OOOOOOOOOOO

n=10,0000000001.25 0 5000 583333330416666675x103 0000002 0,000 100
~— O~ ~—— ~——

1 3 6 5
0000000000 3) 0000000000000 0000D000UD0O0UO0OUO0 0000306

gboboooooboobbnbO 10000 100 MMObO0O0D0O0O0D0O 100000 nO8OO0O0O nDO
00000 sgooobooo

ooboooboobooboboooobooooobooobboooboooobobooobooooooooboobooooboooon
bbb mx=300 n0 1000000000000 0000COO0OOO0OO0O ---66666512 00O
bbbl mx=200 n0O 1000000000000000000O00O0O0O00O0DODO0O0O ---33333351
gooooobi1oooboooooboobooobooobooobooboooooobooboooobooooOoon
goooooo

2Apd 800000000
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3 rational 00 00 Orough OO0 O interval O O [

000 ROODOOO NO DDOODO sODOODODO
N
R—SXﬁ (5)

s=0000 R=000O00O
rational 000000 200 longint 000000000 O0O00O0ODOO

class rational {
public:
longint N, D;
int s;

NOOOODOOOOsOODODDDODO0D 10 —10002%0

gboooooooboboooooooobobobooooooobOoboobobonos3ubonn
ooooooooooooooooogoooodb roughOOOOOOODOO

gooooooooooooboooooboooooboobooboooooooobooobooDo
gbooboooobooboboooobooooboooobooboo2b0000b000000
D000 interval OO0 DO0O0OO0O0O0O0O0DDOOCOOOODOOOOOODOOOOOOODODOOOO
goooooboooooobooo

OO0000000 rational 00000000000 roughO0O interval 00D OOO0O0D0OOO

3.1 000000000

gboboooOoboooobobooooboobooboobooocooboobooobobooooboon
goboooboobgobboobboooboobbuoobboobboobboobbooboboon
gboogboobooboobobbooboobooboobooboboboboooboo
boooboooobooboooooo

rational::rational() : N(Ou), D(1u), s(0) { }

rational::rational(int32_t val) {
this->D = (uint32_t)1U;
if (val > 0) {
this->N = (uint32_t) val; this->s=1;
} else if (val == 0) {
this->N = 0U; this->s=0;
} else {
this->N = (uint32_t)(-val); this->s=-1;
}
}

static int32_t 1gcd32(int32_t m, int32_t n);

rational::rational(int32_t n, int32_t d) {
if (n == 0) {
this->s = 0; this->N = longint::ZERO; this->D = longint::0NE;
} else {
int sign = 1;

2000000000000000000CO00000000000000000000000000000000000000
JbbboooooooobooooooooOooo0ob0o0o0obO0000 rRdset00OOO RatAddd RatSublRatMulllRatDiv O
ooooooooooo 4, —, %, /0000000000000O000O0O0O0O0OOOOOOOOO0OO
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if (n < 0) {

sign = -sign; n = -n;
}
if (@ <0) {
sign = -sign; d = -d;
3
int32_t g = lgcd32(n,d);
this->s = sign;
this->N = longint((uint32_t) (n/g)); this->D = longint((uint32_t) (d/g));
3

}

rational::rational(const longint& n, const longint& d) {
if (n == longint::ZER0O) {
this->s = 0; this->N = longint::ZERO; this->D = longint::0NE;

} else {
longint g = longint::1lgcd_p(n,d); GCD O OO0
this->s = 1; this->N = n/g; this->D = d/g; oooo

3

}
rational::rational(const rational& rhs) : N(rhs.N), D(rhs.D), s(rhs.s) { }

rational::"rational() { }

gboogogd

longint n("12345678901234567890123456789") ;
longint d("1000000000") ;
rational x(n,d);

0000200 longint 000000000000 longintO000O0000O000D0O0O0ODOOOOrational
D000 x0000O000000000O0O00O0DO0O000DOD0O0 RRsetDO0O0OOOOODDODOO
goodo GeboooOoUoOoOooooOoUoooooUoUoooooUoOooooOoO format O RRset
gooooood

gbooooobooooboboooogooooo

rational& operator=(const rational&);
rational& operator=(uint32_t);
rational& operator=(int32_t);
rational& operator+=(const rational&);
rational& operator-=(const rationalk);
rational& operator*=(const rationalk);

rational operator+(const rational&) const; // RatAdd
rational operator-(const rational&) const; // RatSub
rational operator*(const rational&) const; // RatMul
rational operator/(const rational&) const; // RatDiv
rational operator-() const; // unary minus

bool operator==(const rational&) const;
bool operator!=(const rational&) const;
bool operator<(const rational&) const;
bool operator>(const rational&) const;
bool operator<=(const rational&) const;
bool operator>=(const rational&) const;
operator double() const;

U00000Db000swap0O 00 rational h OODOOO0OO0O0O0O0OD0OO0O0OODOODOOOOO

|
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longint numerator() const { return N; } ooooog

longint denominator() const { return D; } ooooog
rational abs() const; ooo
rational inv() const; oo
rational max(const rational&) const; oo
rational min(const rational&) const; oo
rational floor() const; floor
rational ceil() const; ceil

void set(const longint& n, const longint& d);
void sset(int sign, const longint& n, const longint& d);
int sign() { return s; }
std::string format(int w, int d) const;
static void swap(rational& x, rational& y) { oooooooo
std: :swap(x.s,y.s); longint::swap(x.N,y.N); longint::swap(x.D,y.D);
}

friend0 00000

friend rational const& min(rational const&, rational const&);
friend rational const& max(rational const&, rational const&);
friend iarchive& operator>>(iarchive& ia, rational& r);

friend oarchive& operator<<(oarchive& oa, rational const& r);

obooobooooon

rational Rlset(int32_t);

rational Rfset(float*);

rational Rdset(doublex);

rational RRset(longint, longint);

rational RatAbs(const rational&);

rational RatAdd(const rational&, const rationalk);
rational RatSub(const rational&, const rational&);
rational RatMul(const rational&, const rationalk);
rational RatDiv(const rational&, const rational&);

void RatRed2(rational&);

int RatCmp(const rational&, const rational&k);

void RatPrt(char*, rational);

int ndd(int n);

double ndpw2(const longint& a, int& pw2);

double ndpw2(const rational& a, int& pw2);

double roughdec(const double& f, const int& n, int& m);
std::istream& operator>>(std::istream&, rationalk);
std::ostream& operator<<(std::ostream&, const rational&);

OO000000 rational.ecpp DOOO0DOOOOO0DOO

const rational rational::ZERO((int32_t) 0);

const rational rational::0ONE((int32_t) 1);

const rational rational::TWO((int32_t) 2);

const rational rational::FOUR((int32_t) 4);

const rational rational::FIVE((int32_t) 5);

const rational rational::EIGHT((int32_t) 8);
const rational rational::TEN((int32_t) 10);

const rational rational::SIXTEEN((int32_t) 16);
const rational rational::KILO((int32_t) 1000);
const rational rational::KIL((int32_t) 1024);
const rational rational::MILLION((int32_t) 1000000);
const rational rational::MEGA((int32_t) 1048576);
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3.2 ODOOooooboo

gbogbouoobooobobooob

+
b=y d_ beEad (6)
a c ac
rlxrgzéxg:b—d (7)
a c ac
b d bc
7"177‘2—575—@ (8)

000 r,» 00000 rational 0 0a, b, ¢, d00 000 longint 00000
00000000000 drational.h O rational.cpp D0 000000000000 ODOOOOODOO
ooo

rational& rational::operator=(const rational& rhs) {
this->N = rhs.N;
this->D = rhs.D;
this->s = rhs.s;
return *this;

}

rational& rational::operator+=(const rational& rhs) {
(*this) = RatAdd(*this,rhs);
return *this;

}

rational rational::operator+(const rational& rhs) const {
return RatAdd(*this,rhs);
}

rational rational::operator*(const rational& rhs) const {
rational result;
result = RatMul (*this,rhs);
return result;

3.2.1 00

OO0 0 RatMulOOOOOODODDOODUOOODODORATREDUICED D DOOODOOOOODODOO
goooooo

rational RatMul(const rational& X, const rational& Y){
rational Z;
if( X.s * Y.s == 0){
Z = Rlset(0);
} else {
#ifdef RAT_REDUCE
longint E, R;
rational XX, YY;
XX =X; YY =Y,
E = longint::1gcd2(XX.N,YY.D);
if (longint::lcmp(E,longint::0NE) != 0) {
XX.N = longint::1ldivide(XX.N,E,0);
YY.D = longint::1ldivide(YY.D,E,0);

}
E = longint::1gcd2(YY.N,XX.D);
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if (longint::lcmp(E,longint::0NE) != 0) {
XX.D = longint::1divide(XX.D,E,0);
YY.N = longint::1divide(YY.N,E,0);

longint: :1mul (XX.N, YY.N);
D = longint::1mul(XX.D, YY.D);
.s = X.s *x Y.s;

N N N Y
=
1]

#else
Z.N = longint::1mul(X.N, Y.N);
Z.D = longint::1lmul(X.D, Y.D);
Z.s = X.s * Y.s;
RatRed2(Z) ;
#endif
}

return Z;

Imul O longint.cpp OO 00O
#ifdef RATREDUCE U UOOODDOUO0O0O0OOOOODDODOOO0OOODODOOOUOOOOOODODOO
gooodooooboooobooboooobooooooon

e = ged(b, ¢)

if(e > 1){
b=b+e;c=c+e

e = ged(a, d)

if(e > 1){
a=a+ed=d+e

Num= bd ; Den= ac

?x%DDDD?X%DDDDDDDDDDDDDDDDDDDDDDDDDDDDDD %DDD

gboobuoobuoobooboboobooboobuooboobobbooboo
RatRed2 0000000 GCDOOOOODODOOOODOOO

void RatRed2(rational& A){ /* in-place reduce numerator and denominator */
longint LONE, R, Z;
if(A.s 1= 0) {
Z = (*longint::1gcd_p) (A.N,A.D);
if( longint::longint::lcmp(Z,longint::0NE) != 0 ) { // GCD is not one
A.N = longint::1divide(A.N,Z,0);
A.D = longint::1divide(A.D,Z,0);

3.2.2 00

RatDivOOOOOOOOOOODOOO0OOOOO0DOOOOOOOOOOOODOOO0

3.23 00O

gooao Q:lzgl:bcj:adDDEIDDDEIDDDEIDDDDEI[IDRAT,REDADD[I[IDD[I[IDDD

a_ ¢ ac
0000000000000 000U0o0o0o0oooooUoooooooo [3,p. 310|0
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e = ged(a, )

if(e > 1){
t=b-(c+e)Etd-(a+e)
f=gcd(t,e)
Num=1¢t-=+ f
Den= (a+e€)-(c+ f)

} else {
Num= bc + ad
Den= ac

}

717

TRET) 000 0ged(66,12) 0 6 D0c=ed 22+6 =20a+e 0 66+-6=11000000t = 7-24+17-11 =
201 000 0ged(201,6)=3000000 Num O 201+3 = 67000 Den O (66=+3)x(12+3) = 11x4 = 44
000000000000 Den000 NumOOO0OO0DOO0O?230

00 RatAdd 0O OO

rational RatAdd(const rational& X, const rational& Y){
rational Z;
longint XY,YX,XD,YD,E,F,G,T,R;
int t,gl;

if( X.s * Y.s == 0){
if( X.s == 0){

Z=Y; /* X=0,(Y=0,Y !'= 0) */
} else {
Z=X; /% (X=0,X != 0),Y=0, */
}
} else {

G = (xlongint::1gcd_p) (X.D, Y.D);

gl = longint::longint::lcmp(G, longint::0NE);

if( gl > 0){
XD = longint::1divide(X.D, G, &R); YD = longint::1divide(Y.D, G, &R);
XY = longint::1lmul(X.N, YD); YX = longint::1lmul(Y.N, XD);

} else {

XY = longint::1lmul(X.N, Y.D); YX = longint::1mul(Y.N, X.D);
}
if( X.s * Y.s == 1){ /* X,Y same sign  */

if( gl > 0){

T=longint::1ladd(XY,YX); E=(*longint::1lgcd_p) (T,G);
Z.N=longint::1divide(T,E,&R);
F=longint::1divide(Y.D,E,&R);

Z.D=XD*F;
} else {
Z.N = longint::ladd(XY,YX); Z.D = X.D*Y.D;
}
if( X.s == 1) Z.s=1; else Z.s=-1;
} else { /* X,Y different sign OR result=0 */
if( gl > 0){

t=longint: :1subv(XY,YX,T,2);

if(t '=0) {
if( X.s == 1) Z.s= t; else Z.s=-t;
E=(xlongint::1gcd_p) (T,G); Z.N=longint::1ldivide(T,E,&R);
F=longint::1divide(Y.D,E,&R); Z.D=XD+F;

} else {
Z.N = longint::1lset(OL); Z.D = longint::1lset(1L); Z.s = O;

Bog=qa-eldec=c-e0000t=bc+da’'00p0 o/ OO0DOD000D0O0Op0 b0 000000000 O0pO b +d'd
0000000000000 od 0000000000000 ged 000000ged(be’ +a’d,e) = ged(be’ +a’'d,ea’c’) 000
oood
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}
} else {
t = longint::1lsubv(XY,YX,Z.N,3);
if(t 1= 0) {
if( X.s == 1) Z.s= t; else Z.s=-t;

Z.D=X.D*Y.D;
} else {
Z.N = longint::1lset(OL); Z.D = longint::1lset(1L); Z.s = O;
¥
}
} /**kxkkxk X.s * Y.s == ok kok ok Kok ok kok k /
if( g1 == 0) RatRed2(Z);
¥ [H*xkk  X.s x Y.g == ok ook kK ok ok ok k /
return Z;

OO0 RatSub OO0 OOO0OO0OD0OOOO0ODOOOOODOOOOODOO

3.24 0O0O0OO0O0OO

stduistreem OO0 00000 >>0000000 rational OO0O0O0D0O0OO0OO0OOOO

std::istream& operator>>(std::istream& is, rational& rhs) {
char c;
longint inum;
int iexp;
inum = (uint32_t)Ou; iexp = 0; // inum*10"iexp
is.get(c);
while (c ==’ ?) { // BUG: should handle tab, as well
is.get(c);
}
if (¢ >= ’0° & c <= ’9’) {
inum = inum*longint::TEN + longint((uint32_t)(c - ’0°));
is.get(c);
while (c >= 70’ && c <= ’9’) {
inum = inum*longint::TEN + longint((uint32_t)(c - ’0°));

is.get(c);
}
if (c == .7) {
is.get(c);
if (¢ >= 0’ & c <= ’9’) {
inum = inum*longint::TEN + longint((uint32_t)(c - ’0%));
iexp += 1;
is.get(c);
while (c >= ’0° && c <="9°) {
inum = inum*longint::TEN + longint((uint32_t)(c - ’07));
iexp += 1;
is.get(c);
¥
}
}
}
is.putback(c);
rhs.s = 1;

rhs.N = inum;

rhs.D = (uint32_t)1lu; while (iexp-- > 0) rhs.D = rhs.Dxlongint::TEN;
RatRed2(rhs) ;

return is;
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000 stdeostream 000000 << OO0O00OO0OOO

std::ostream& operator<<(std::ostream& stream, const rational& rhs) {
if (rhs.s < 0) stream << "-";
stream << rhs.N << "/" << rhs.D;
return stream;

3.3 ODUuuodoobouooobobobogd

obooboooboooboobooooooobooboobooooboooboobooboobOooooon
OO0O00ODOo0oD fleor 0 cellDODDODOOODODOOODOOOOOOOOODDODDOOOODODDODDOO
obooooboboooooooboobooboooboobooboobobooooboboboobobooooDo

3.3.1 OO0OO0OO0OO0OOO0O0OO0OO0

OO0000000000000000 Rdset OODODO320000000000 RlsetDh 3200000
O000D0O00000D0O0O0000D00 RRset DOOOOODOOOOOOODOOOOODDOOOOOO
gbobooboooboobooboooooboooboobooooooooboobossbbooboooogon
ODOO0OO0MORRset DO O0DOOOOGCDOODOOOOOOOOODODOOODOD formatd000OOO
ooooobooooo

O0ooooDoooooooDob0 IEEED0ODOO0O0O00DDD rational DOOO00O0DOOOOOO
OO0 NaNO InfOO0OOCOO0OOCO0ODODOOO0DOOOO0O0O0DOO0O0DOO0O0ODOODENOODOOO
ooooobooooo

rational Rdset(const double *x){
typedef wunion{
double r; uint32_t irr[2];
} equivalenced;
equivalenced Dfloat;

uint32_t ir[2], mant;

int iexp, i, maxe=1023, mine=-1022, mask=0x000fffff, ibias=1023;
uint64_t n;

longint T; rational X;

Dfloat.r=%x;
ir[0] = Dfloat.irr[1]; ir[1] = Dfloat.irr[0];

iexp = ((ir[0] & 0x7£f00000) >> 20) - ibias;
mant = ( ir[0] & mask ) + 0x00100000;
if (iexp==(maxe+1)){
std::cout << "iexp=" << iexp << "=NaN or Inf, *x=" << *x << " stop by exit(3)" << std::endl;
printf ("ir[0]=Vx ir([1]=Yx\n",ir([0],ir[1]);

exit(3);
}
if (iexp==(mine-1)){
mant = ir[0] & mask; /* DEN x/
iexp = iexp+l; /* DEN %/
}
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n = (uint64_t)mant*65536%65536 + ir[1];
if(xx > 0){
X.N = longint::1llset(n); X.s=1;
} else if(xx == 0){
X.N = longint::11lset(0L); X.s=0;
} else {
X.N = longint::1llset(n); X.s=-1;
}
T = longint::1lset(1U);
if(xx 1= 0){
X.D =T;
if (iexp > 52){
T = X.N;
for(i=1; i<=iexp-52; i++){
X.N = longint::smul(T,2L); T=X.N;
}
Yelseq{
for(i=1; i<=b52-iexp; i++){
X.D = longint::smul(T,2L); T=X.D;
}
}
}
RatRed2(X) ;
return X;

U000bO0o0obO0b00O0bO00Rdset 0000 Rfset OO0O0O0ODOO0O0O04000000000000O
gbooooogooboo200b000b000bo0o0oo0obooooboooobooooooooooobooboon
OO00O00000O0OGNUO g++0000004000000000000000D0000O0DDOO

3.3.2 floorO ceill abs min0 max

000000000 —-cc 00000000 floor 0000

rational rational::floor() comst {
rational res = *this;
if (res.s == 0) {
res.N = longint: :ZERO;
res.D = longint: :0NE;
} else if (res.s > 0) {

res.s = 1;
res.N = this->numerator()/this->denominator();
res.D = longint::0NE;
} else {
res.s = -1;
res.N = (this->numerator()+this->denominator ()-longint: :0NE)/this->denominator();
res.D = longint::0NE;

}
if (res.N == longint::ZER0) { res.s = 0;}
return res;

0 ()000 s=1000000000001dividked N=-DOOOOODO s=-10000000
O00001divide D (N+D-1)+-D 00000 s=-10000000s=0000000000
OO00000000400c0000000O0ODO ceilOODOO

rational rational::ceil() comst {
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rational res = *this;
if (res.s == 0) {
res.N = longint::ZERO;
res.D = longint: :0NE;
} else if (res.s > 0) {

res.s = 1;
res.N = (this->numerator()+this->denominator()-longint: :0NE)/this->denominator();
res.D = longint::0NE;
} else {
res.s = -1;
res.N = this->numerator()/this->denominator();
res.D = longint: :0NE;
}

if (res.N == longint::ZER0O) { res.s = 0;}
return res;

}

0O ()000 s=1000000000001divided (N+D—-1)+-D 000000 s=-100
ob00ob0b001divide N=-DUOOODOO s=-10000000s=0000000000

OO000o0oobooooboonog absODOOO0ODOOO0O0O0ODO invDDOOD0OODO00OO max
OO00D0D0 minOO00OO0O000O000D0O0O00 bigma.max(b) 00000000 big=max(a,b) OO0
OO000000 fiend000000OO0COCOOO

rational rational::max(const rational& val) const {
rational res;
if (*this > val) {
res *this;
} else
res

[ N |

val;
}
return res;
}
rational const& max(rational const& x, rational const& y)
{
if (x > y) return x; else return y;

}

3.3.3 0OUOO0Ooooboooo

oo looooooooooboobo0oooooboDoobo0oUd format(w,d) DO0OD0OOwDOODO
OO00oo0o00000ooO0O0OwidthOOOOOoOOO0O0O04O00000O0

w0ooo00ooooDO00rational D0 O0O0O00O0DODO m*=rational::TENOODOOOGCD OO
O00000oooooooooobOOlengintO0 10000000000GCDOOOOOOOODODOO
OO00000000D0O0 RRset DOODODODO

ODO000D0OCrational D000 pOO00D0O00D0OO0DOO000000O00O00OO0DOOQDO Osetprecision(16)
obooooboooboooboooooobob 12001100100 00bo00oobo eb0oooobooobobogon
oood
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s rational::format 00O OO0 N

std::cout << " p=" << p << std::endl;

std::cout << " (double)p=" << (double)p << std::endl;

std::cout << " (double)p=" << std::setprecision(16) << (double)p << std::endl;
std::cout << p.format(42,12) << std::endl;

std::cout << p.format(41,11) << std::endl;

std::cout << p.format(40,10) << std::endl;

. J
0000000000000000000000000000000000000O000000 double
000000000000000000000000000 6000000000000000000O0O
0000000000000 0000000000000000000 4.941 x10730DENOODOO
00 1.798x 103 00000000000 00000 17000000000000000000000
00000000000000000000000000000000000000000000000
00000000000000000000000 format(w,d) 0000000000000 D000O0O
000000000000 0000ooooo

p=2150344000000000000000000000000000000000000/11651357
(double)p=1.84557e+35

(double)p=1.845573867490284e+35

18455738 (20 digits) 44398373.511342927695

18455738 (20 digits) 44398373.51134292770

18455738 (20 digits) 44398373.5113429277

format OO0O0O00OO0O00O00O0OODOOOOOOO0O0OO00O0OO0OO0OO0OOOOOOOODOOCOODOOOOO
O000o0ob0o0b0OD0string 000000000000 20000000000 wOOOODOD
da0dbood

format 000000000000 d+1 00000000000 valOOOOODODODDODODOOOO
OO00000 stringstreamJ 0000000 << 0O longint 0000 100000000000000
O0000 string000000O1length O OOOO0O0ODOOO0OO0O0DOODOO0OO0OOssO0ODOOOOO
gboooooobo 1wooobooobooooboboboooooooobooboboooooooobooobooboon
res 000000000 0OO0O00OOO

std::string rational::format(int w, int d) const{
std::stringstream res, ss; 00000000 RESult, StringStream
rational val = *this; val 0O QOOO0O
longint q, r;
int wi = w-d-1; gooooooooooao
rational m; rational [J
if (d > 0) {
longint ml=pow(longint::TEN,d); 107d 0 m1 OO0
m=RRset (longint::0NE,ml); 00000000 Gep UO00O0O0O0OO0ODODO RRset OO
m =m / rational::TWO; m 0 (1/10°d) / 2
if (val.s < 0) val -= m; else val +=m; 0000
}

goboboobobooobobooo obbo+bboobobooobboobooobboooobo
ss 000000000000 ns 00000000000 lengthOOODOOOOOOOOOODODO
000000000000 00DOD0O0000 resO000O0O00O0ODOOOOOOODOOOOOOD (20
digits) D000 resO0000000D00OO0O0DCOOO0ODOO0OO 00000 O0OODODO
U000000000000000 res00000000nadD 00 it OO0 10000000000DOO

q = longint::ldivide(val.N,val.D,&r); 0o0o00o000oo00o0o0ooooooon

24getprecision 0 0 00 iostream O iomanip 0000000000

54



ss << q; longint OO0 << O0O0O0O0O0O0O0000O

std::string ns = ss.str(); ns 0 1000000000000

int nl = ns.length(); length() 0 100000000

int sl = val.s <0 7 1 : 0; oooooo

if (nl+sl <= wi) { oooooooo
if (val.s < 0) --wi; 000 wi 010000
while (wi > ((int)ns.length())) res << ’ ’; --wi; goooOoOoOooa
if (sl > 0) res << ’-7; ooo -00
res << ns; 0000 res OOOO

} else if (wi >= 2+ndd(nl)+11) { o000 " (XXX digits) " 0O 110
int w2 = wi-sl-ndd(nl)-11; ndd() 0 XXX 0 1000000000 DOOO0ODOO
int w3 = w2/2; w2 (XXX digits) w3
w2 = w2 - w3; <--d - >
for (int i=0; i < w2; ++i) res << ns[i];
res << " (" << (nl - w2 - w3) << " digits) "; "(XXX digits)"O OO0
for (int i=nl-w3; i < nl; ++i) res << ns[i];

} else {
for (int i=0; i < wi; ++i) res << ’x’; OO0 00000

}

res << 7.7; ooo

OO00000000D00000 res00000000O00O00D0DO0OOO res.str( ODO0O0O

longint N, D;
rational t;
int len = 0;
t = RRset(r,val.D); val.D 0000 OOOOGDOOOODODODODO RRset
while (len < d) {
longint tn = t.N; longint td = t.D;

tn = tn * longint::TEN; rational::TEN JOO0O GCD DO OOOO
t = RRset(tn,td); GCDOOODOODOODO RRset
q = longint::1divide(t.N,t.D,&r);
res << q; 100000000000 res OOO0O
t = RRset(r,t.D); Gcp00000D0DOO0O0D0O r O t+ 0000 RRset
++len;
}
return res.str(); res JOOOODOOOO

3.4 roughOOO

OOO00D00000 «00D0O000O00b0DbO00DbO000b000DO000b00O00DOo00n (double)a
gbgbodgbobooboboobobogbobobooooboboobobooboboabo
gobooobobgooboboooboooboobooboboobboobbooboooboobboobooon
gbboooboooboobooboobooooobooboooobooboooboobooooobooon
gbobooboboboooooobooboooobOoooboooobooobo0nn rough OO O0OOO
ooooobooooobooobooogo s3bbooboooooboobooboooooooobooDn
goboboooooooobobobbobooboboboboboboooobobobobobobon

000000000 ¢« 00000Osignificandd 0 530000 rough0 0000000

a=+f-2" 1<f<2 (9)

000 e=00000 f=00000rough 00000 O0ODOOROUNd to 53 bits siGnificand witH
power of two D OO OO0
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gobooboooboooobooboboboobooboobooobodbficorooonboonO
oboobooboobobooooooobooooboooobooboobooobblocoobooboon
OO0o0oo0ooOoO0o0oooOb0oO0O0obOrough0O00O00D0DOOOOODOODOOOODOOOODODOOOO
ooooooobobooOooooooooobooobboooooboOoooboooDboOoOoobo2000 rough
oboobO0owbiobobd cowt d0ob0oboobooooobooooooboobooobobobobon
gboogoloboooooboooboolooobooboooobooooboooobooobooboooon
gbooobOooboobooboobooboooobobo0oob0obo0oobO0boong doubleddOOO
Orough D0 O0O00O0D0OOO0O0ODOOO

00 testroughmat.cppdrough 000000 LDLT 000000000 roughOO nxnO0O0O
00 AD0D0OOO0OO0OD 1000000000000 0000000000C O C++ O double OO
O00000rough 00000000 OOOODOOOODOOOOOO

s roughO0O00O00D00OD0OODOOOO testroughmat.cpp ~

int main(int argc, char *argv[]){
int n = atoi(argv[1]);
rough_matrix a(n,n); roughOOOOOOOO

rough_vector b(n); rough 000000
dtgene2(a,b); oooooooo
rough det=1d12(a); A0 DL ODO0O0OD0O0OD0OD0O roughOOODO

std::cout << "det(A)=" << det << std::endl;
ldlsubst(a,b);

vecprn(b) ;

return O;

\_ J
dtgene2 00000000 010100000000000000000000000000000CO0O0
000000004, 9,16,25,...0 00000000 2,3,4,5,...0200000000000000
0000000000000 0000000

0000000000000
- rough 00000000 LDLOOOOOOOOO ~

rough 1d12(matrix<rough>& a){
int i,j,k;
rough s,t;
int n=a.rows(); matrix 000000000 rows() DODODOODOODOO
rough d(1.0,0); gooooooooooooono a ooOono
for (j=0; j < n; ++j) {
for (i=0; i < j; ++i) {
s=rough(0,0) ;
for (k=0; k < i; ++k) s = s + alk][i] * alkl[jl;
alil[j] = alil[j] - s;
}
s=rough(0,0) ;
for (k=0; k <= j-1; ++k) {
t = alk] [j1/alk] [k];
s =s +t * alkl[jl;
alk] [j1 = t;

}
aljl03j]1 = alj1[5] - s;
dx=alj] [j]; 000 det(A)=\prod_{j=1}"n A_{j,j}
}
return d;
}
\_ J
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oooo |A|:Haj,jDDDDDDDDDDDDDDDDDDDDDDDDDn:625:25><25DDD
j=1

d0oOobOO0000bOo0o00ooObOO0o0o0obObOO0o0o0o0oObOoOo0o0oooOobOobOOoOoooOobOoOoOoOoooooa

O0Orough00000000000625000000000000000 1.09475x10%2 000000

3.4.1 roughUOOODODOOOODOOOOO

rough0 000000000

s rough.h 0 rough 00 O000O0O0OO0O ~N
class rough {
double d_; oooOs30oon
int e_; goo2000
public:
rough(): d_(0.0), e_(0) {} ooooooo
rough(double,int); oo0oooooooooo
virtual “rough() {} oooooDo
double significand() const { return d_; } O0O0OOOO0OO0OOOOOOOOO
int exponent() const { return e_; } Oo0ooooooooa
friend double roughdec(const rough&, int& m); 10000
}
N J

rough.cpp OO0 000D ODO0DOO00O0O0O0OO00O0ODOWfODOODO0O0O0ODOODOODOOOODOO0O
O0roughOO NaNOOOOOOroughOO NaNOOOOrNaNODOOOOODOODO NaNOOODOO
0000000Whf00000000000000000000O0NaNOODODO?250
e rough.cpp 0 O00O00O0O0O0O N

rough: :rough(double mant, int exp) {
int e;
if (!std::isnormal(mant) && mant !'= 0.0) {
mant = std::numeric_limits<double>::quiet_NaN();

exp = 0;
} else if (mant == 0.0) {
exp = 0;

} else if (std::abs(mant) < 1.0 || std::abs(mant) >= 2.0) {

double m = frexp(mant, &e);

if ((exp > 0 && e-1 > 0 && expte-1 <= 0) || (exp < 0 && e-1 < 0 && expte-1 > 0)){
mant = (m < 0 ? -1 : 1)*std::numeric_limits<double>::infinity();
exp = 0;

} else {
mant = m *x 2.0;
exp += (e - 1);

}

o W

mant;

e_ = exp;

N J
longint 00000 rational DODODODOODOO0 2000000000000 5300000000 rough

OO00000000000 deD 1<de<2000000 4000000000 O0O0O0O0O0O0O e_O

OO0000OUOroughO000O0O0OO0OO0 significandOQUOOOOO exponent() OO0 DOOO0OOO0OODOO

00000 roughdec 0 100000000
ooooooooooooooooooooo0ooooooooooooog

25yNaN 0 0 0 0 O O rough(Inf,e) 0 rough(-Inf,e) 0 rough(NaN,e) 0 rough(Den,e) 0 rough(0.0,e) 0 0 0 O
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rough& operator=(const rough&);
rough& operator+=(const rough&);
rough& operator-=(const rough&);
rough& operator*=(const rough&) ;
rough& operator/=(const rough&) ;
inline rough operator-() const { // unary minus operator
return rough(-d_,e_);
}
rough& operator++(); // prefix ++
rough& operator--(); // prefix --
rough operator++(int); // postfix ++
rough operator--(int); // postfix --

gbooobooooboboood

- rough.cpp 0 rough 000000
rough& rough: :operator+=(const rough& r) {
if (r.d_ '= 0.0) {
rough t = r;
if (e_ < t.e_) swap(xthis,t); ooooooogog
if (e_ == t.e_) { oooooooo
d_ += t.d_; ooooooo
} else if ((e_ - t.e_) < DBL_MANT_DIG) { O0O0OOOO
d_ += (t.d_/std::pow(2.0,e_-t.e_)); gooooooooooono
}
if (d_ != 0) normalize(); ooo
}

return *this;

N

oboooooboooooobooon

s rough.cpp O normalize [0 O
void rough::normalize() {
assert(d_ != std::numeric_limits<double>::infinity() &&
d_ != -std::numeric_limits<double>::infinity() &&
d_ != std::numeric_limits<double>::quiet_NaN());
if (d_ !'= 0) {

if (std::abs(d_) >= 2.0) {
while (std::abs(d_) >= 2.0) {
if (e_ == std::numeric_limits<long>::max()) {
d_ = std::numeric_limits<double>::quiet_NaN();
e_ = 0; break;
}
d_ /= 2.0; e_++;
}
} else if (std::abs(d_) < 1.0) {
while (std::abs(d_) < 1.0) {
if (e_ == std::numeric_limits<long>::min()) {
d_ = std::numeric_limits<double>::quiet_NaN(Q);

e_ = 0; break;

¥= 2.0; e_——;
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roughO0 0000000000 WMfO0000DOCO0O00DODO0O0O0DOODO0O0OO0DOOO rNaNDOODO

O00ooooobooob0o0 20000000000 1000 NaNOOODODOXNaNODODOOOOO

OO000000000OD000ooOO00ooo0ooDDONNaNOOODOO
oboooooboooboobobooooooooogo

friend bool operator==(const rough& x, const rough& y);
friend bool operator!=(const rough& x, const rough& y);
friend bool operator>(const rough& x, const rough& y);
friend bool operator<(const rough& x, const rough& y);
friend bool operator>=(const rough& x, const rough& y);
friend bool operator<=(const rough& x, const rough& y);

O000000Orough.cppO0 O OOOOO
h. 0==000
s rough.cpp B

bool operator==(const rough& x, const rough& y) {
return (x.significand()==y.significand()) && (x.exponent()== y.exponent());

__ Y,

swap OO O00O00O0OO0OO0OC0ODOOOOOOOOO

inline static void swap(rough& a, rough& b) {
std::swap(a.d_,b.d_);
std::swap(a.e_,b.e_);

}

friend double roughdec(const rough&, int& m);

rough abs() const;

3.4.2 roughOO0O0O0OO0OO0OO numeric_cast

longint 0 O rational D Duint32t OO OO0 rough OO0 O0O00OO0D0OO0OOODOOOOOOODOOODOO
00000000 OOrational D00 000000000D0%000000000000000000OO
OO02000T0O targetd S O sourced OO0 OO

s numeric_cast.h 0 template O O ~N
template<typename T, typename S> T numeric_cast(S const& s);
template<> 200 typename OO OOOOO0O
rough numeric_cast<rough,uint32_t>(uint32_t const& n); uint32_tO 00 rough OO
template<> 200 typename 0O OOOOOODO
rough numeric_cast<rough,longint>(longint const& n); longint 00O rough OO
template<>
rough numeric_cast<rough,rational>(rational const& s); rational 000 rough [

N

OO00000D00O00D00O numeric_cast<rough>(uint32tO000) 0000 Ouint32_t 0O rough
goooooo

26rough 000 uint64t 000 Odouble 0000000000000 12000000000000000000 sqrtdg 000
oooao
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numeric_cast.cpp 0 uint32.t 000 rough OO0 0O

template<>
rough numeric_cast<rough,uint32_t>(uint32_t const& n) {
return rough(static_cast<double>(n),0);

}

U0 numeric_cast<rough>(longint UUJ0) DUOODODOOOD longint2double IO OOODODOOO
ooooos3b0bobodibooddlmant 0020000000 expOOOOO

— numeric_cast.cpp 0 longint2double 0 0 O longint D0 0O rough OO0 O 0O —

static double longint2double(longint n, int& exp) {
uint32_t bits = numbits(n); 000 n0OO00O0O0O0 numbits() OO0ODODO bits OO0

if (bits < DBL_MANT_DIG) { 520000000
n <<= (DBL_MANT_DIG - bits); 53-bits DOOOOOO
} else { 530000000
n >>= (bits - DBL_MANT_DIG); bits-53 0O OOOO0O
}
exp = exp + bits - 1; oo pits-1 O0OODO
return static_cast<double>(n.to_ullong())*std::pow(2.0,-52); OO0 n0O00 64000
} 0 double DO ODOODO 2°{-52} OOOO doubleOODOODO
template<>

rough numeric_cast<rough,longint>(longint const& n) {
int exp = 0;
double mant = longint2double(n,exp);
return rough(mant,exp);

__ Y,

toullong 0O O020000000 longit 0ODOOOO0ODOOOODOODOOOOOObB3OO0OO

D000 longint 0000000000 6400000000000 static_cast<double>[ OO OO

0000000000 0OO0ODBLMANTDIGOOODOODODODOONO 53 0000 #include <cfloat> 0O 0O 0O OO
OO0 rational 00 O00D0OO0OOODOOOOOODOOO

e numeric_cast.cpp O rational 0 0 0O rough 00 00O N

template<>
rough numeric_cast<rough,rational>(rational const& s) {
int sign = s < rational::ZERO 7 -1 : 1;

longint n = s.numerator();

longint d = s.denominator();

int nsz = numbits(n); ooooooo
int dsz = numbits(d); oooooDoOo

int exp = 0O;
if (nsz < dsz + DBL_MANT_DIG + 1) { O0O0O0O0O0O+54 DO0O0O0OOODOODOODODOO
int shifts = dsz + DBL_MANT_DIG - nsz;

n <<= shifts; 000 shifts OOOOOOOO
exp -= shifts; OO0 shifts DOOOO
} 00/00000 longint2double OO0
double mant = sign*longint2double(n/d,exp); roughOOODODOOODOOOO
return rough(mant,exp); rough 0000
}
N J

3.4.3 roughOO 100000000000O

roughO0 000000000000 OO0ODOOOOO0ODOOOOO0OD 10DO00000DO0O0O0O00O0DODO

double dsqrt2=sqrt(2.0); // double 0O sqrt{2}
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rational rsqrt2=Rdset(&dsqrt2); // rational OO sqrt{2}
rough roughsqrt2=numeric_cast<rough>(rsqrt2); // roughOO sqrt{2}
std::cout << " roughsqrt2=" << roughsqrt2 << std::endl; // 1000000

00000 roughsqrt2=1.41421 OO00O00O0000O0O

O0000DO0b0Ddgb0O0O0longint 000 alroughOODO 000000000 O00O0O00O0OO da
gbooobod pwdOoooooOoooOo

longint a("123456789876543210123456789876543210") ; // 360 0000000000000
std::cout << " a=" << a << std::endl; // longint 00000 cout OO0
std::cout << " a.str()=" << a.str() << std::endl; // 00000 cout OODO

rough b=numeric_cast<rough>(a); // longint 000 roughOOODODOO
std::cout << " b=" << b << std::endl; // roughOO cout O00OO

int pw=b.exponent(); double db=b.significand(); // roughOOODODOOODOOOOOO

std::cout << " db=" << db << " pw=" << pw << std::endl; // OOOO0O cout OO0

oboooooooooooon

a=123456789876543210123456789876543210 gooooooog
a.str(O={ capacity: 64, 1: 4, d=[{ 17c6e3 c2ale8d0 5431148 531b8eeal}]} OO OO OO DOODO
b=1.23457e+035 io0o0o0ooooo
db=1.48606 pw=116 200000000

36000 «O00longint 000000 4000000000000000 »=22000 16000
a = (17c6e3)16 x 7> + (c2a1e8d0)1g x r? + (£5431148)16 x 7 + (531b8eea);s 0 00 0 0 OO rough O
000 bOOnumericcast 0000000000 D010000000std::cout000000000OOO
0 1.23457e+035 000 0000rough 000000000 20000000000000000000O
00 significand() O exponent() 0000000 D DO 1.23456 x 103 = 1.48606 x 216 0O O O

000 rough0 00000000000 DOO0O0O00 rough000D0 100000000000000O<<
000000000000 Orough0000000rough0000000000D0O0O0OO0O0OODOOO
intbitsD0 0000000000000 00O0DODOD fracbits02000 10000000000000
0000000 decbuf 00000

e rough.h OO0 OO0 intbits O fracbits ™
class intbits { goooooooo
size_t size_;
unsigned long long intg_;
public:
intbits(rough const&) ;
size_t size() const { return size_; }
bool operator[](size_t pos) const;
};
class fracbits { ooooooooo
size_t size_;
unsigned long long frac_;
public:
fracbits(rough consté&);
size_t size() const { return size_; }
bool operator[](size_t pos) const;
};
N J

rough.cpp DO 000D inthits DD OO DO OO
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s rough.cpp O intbhits 0 0O 0O

rough: :intbits::intbits(rough const& r) {

b64_t t;

t.dbl = r.significand();

size_ = std::max(r.exponent()+1,0);

intg_ = (t.1lu & MANT_MASK);

if (std::isnormal(t.dbl)) intg_ |= (11lu << (DBL_MANT_DIG-1));
}
bool rough::intbits: :operator[](size_t pos) const {

if (DBL_MANT_DIG+pos < size_) {

return O;
}
return (intg_ >> (DBL_MANT_DIG+pos-size_)) & 1;

N

rough.cpp 000000 frachits 0000 OO0

e rough.cpp O frachits 0 0 O

rough: :fracbits::fracbits(rough const& r) {
union b64_t t;
t.dbl = r.significand();
size_ = std::max(DBL_MANT_DIG-1-r.exponent(),0);
frac_ = t.11lu & MANT_MASK;
if (std::isnormal(t.dbl)) frac_ |= (111u<<(DBL_MANT_DIG-1));
}
bool rough::fracbits::operator[](size_t pos) const {
if (DBL_MANT_DIG+pos < size_) {
return O;
}

return (frac_ >> (size_-pos-1)) & 1;

N

rough.cpp 00000 decbuf OOOODOOO

s rough.cpp O decbuf O 00O

rough: :decbuf: :decbuf (size_t size, size_t dp) {
assert (size>=dp) ;
size_ = size;
dp_ = dp;
buf_ = new char[sizel;
assert(buf_ !'= 0);

N

J

O0 roughh OODOO0OO0O <<« OO0OO0O0OODOO0OO0OODOO0 3000 traits0 0000 TODODO
00 template OO Oinline 0000 O0O0OOOostreamO0 “XX << YY <<”0 YY OO0 ostream O

oboooooboooobo3oboooooonoo

<< 000020000 ostream 0 rough00O0000OOODO ostream 00000 rough OO0

goo

template <typename charT, typename traits> // template [0 << O OO0O0 ostream OO0OOOO

inline // inline OO OO
std: :basic_ostream<charT,traits>&
operator << (std::basic_ostream<charT,traits>%& os, const rough& r) {

size_t prec = os.precision(); oooooo
rough::intbits n = r.getinteger(); ooooooo
rough: :fracbits f = r.getfractional(); OO0

double const Log2 = 0.30103;
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size_t const idigits = static_cast<size_t>(ceil(Log2*n.size())+1);
size_t const fdigits
rough: :decbuf dd(idigits+fdigits,fdigits); OO0O0O dd O00OOdd O decimal digit

dd.clear(); dd 00OOd0O
// Convert to fixed decimal goooo
if (n.size() > 0) { 1101 OO
dd[fdigits] = n[n.size(0-1]; 1%2 +1
for (size_t i=n.size()-1; i > 0; —-i) { 1x2 +0
dd.imul2add(n[i-1]); 1%2 +1
} 0000 decbuf OOO
}
if (f.size() > 0) { oOoooo
dd[fdigits-1] = f[f.size()-1]%*5;
for (size_t i=f.size()-1; i > 0; —-i) {
dd.fdiv2add(f[i-1]*5);
}
}
std: :basic_ostringstream<charT,traits> ss;
ss.copyfmt (os) ; 000000000 hex O dec ODOOM
ss.width(0); precision(17) O0OOOO

size_t msd, 1lsd;
char carry;

// find most significant digit position
for (msd=dd.size(); msd > 0; --msd) { formating OO 000D
if (dd[msd-1] !'= 0) break;
}
1sd = msd < prec ? 0 : msd - prec;
if (r.significand() < 0.0) {
ss << -7,
}
if (msd == 0) {
ss << ’07;
} else {
// round up.
carry = dd.round(msd,lsd);
if (carry > 0) {
1sd = msd;
++msd;
dd [msd-1] = carry;

// suppress trailing zeros.
if (1sd < dd.dp()) { dp() 00000000 OOMO decimal pointl
1sd = dd.suppress(dd.dp(),1sd); 1sd 0 least significant digit

// insert formatted string 0000o0o0ooooo0oogn ss oooooogo
if (msd > dd.dp()+prec) {
1sd = dd.suppress(msd,lsd);
dd.insert_float(ss,msd,lsd);
} else if (msd == dd.dp(+prec && 1sd >= dd.dp() {
dd.insert_fixed(ss,msd,lsd);
} else if (msd > dd.dp() && 1lsd < dd.dp()) {
dd.insert_fixed(ss,msd,1lsd);
} else if (msd == dd.dp()) {
dd.insert_fixed(ss,msd,lsd);

} else {
if (dd.dp()-1sd+2 < msd-1sd+1+5) { 10 E, 50 e\pm5 0
dd.insert_fixed(ss,msd,lsd); oooooo
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} else {
dd.insert_float(ss,msd,1lsd); oooooooo
}
}
}
std::cout << ss.str();
return os;

imul2add 0 0 0 fdivzadd OO O 0Oroughh OO0 O0O0O0O00O00 vuf OO0OO0O0ODOO0ODODOOO?2
000000000 imul2add DOOOOO
s rough.h 00 imul2add O O

B
char imul2add(char d) {
char carry = 0O;
for (size_t j=dp_; j <size_; ++j) {
char t = (buf_[j] << 1) + carry;
if (¢ >= 10) {
carry = 1;
t -= 10;
} else {
carry = 0;
}
buf_[jl = t;
}
buf_[dp_] += d;
return carry;

N ’ Y,

3.44 000000

OO000000000D0 abs(O) OOODOOO0OOO0absO0O0 sqrtdg OO0 O0O0DOOOO
00 roughdecOOO roughOO 0O f-2"0 1000000 g-10m 0000

rough.cpp O 1000 00O roughdec
e gh.cpp g ™

double roughdec(const rough& f, int& m)

{
int q = f.e_ / 10L; int r = f.e_ % 10L;
double g = £.d_ * pow(2,r) * pow(1.024,9);
m = 3%*q;
return g;

N J
0000002000 10000000000 219=1.024-10300000R0 100000000000

n=10q+rDDDq=[%JDDDD

fe2m=f2100tr = foor . (210)0 = f.27 . (1.024 - 10%)7 = f -2 - 1.024%-10% = g - 10™ (10)
N————
g
(doubled)a O rational 0000 000000000000000000000000OO rational 000
00 longint 000 a 0000000000000

roughdec 00000000 interval 0000 formatprn DO 000 Orational 00 100000000
oooooodoooooooon
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3.5 intervald OO

0o0odo0o0ooooobOooDooDoobOooDoooOooDoooooooDooooooooooooo
00000ooooooobOO0000000Ointerval arithmeticOOOOO0DOOOOOOOOOOOOONO
000D interval 000 00020000000000000000000%00000000000
J0000000interval DO ODODOOODODODODODODODODODO interval 00 rational 0O OO OO
ooodo +, -, «x00000000000O0C++ 00000000000 Oood

000000 DoD0000d0ooodoodoooodoooooooooooooDooooooooog
0000ooO00o0ooo0O0U0ooO0o0o0oooo0Uoo0o0ooooOoOoUooOOooULoDOO (a,b)
O (¢,0)0 (0,0) 0 2000000000000O00OOOUOOO0OOOOOOODOOUODOOUOOOO
O0000oUoooooOoooD z2=(e, b) 00000000 y=(-b, —a) 0 y=x.neg(O) OO O0OODO

11
z=(a,b) 000 y(b, ) Oy=x.invQ) O000interval 000000000 ODOOOOODOO
a
0000100200 interval 00000000000 DDODOOOO0OODODOOOOODOODDOO
0000000000 OOinteraction0 0000000000000 O00OOOODODOOODOOODOOOOO
00000Doo0oooooo0oooooooooooDooooooogdg formatprm OO OO0 300
ooooo

3.5.1 000 interval 00O

00 a=(a,b) 0200000 «0 b000000 “interval alpha(a,b)” 0O0ODO0O0OO0O0OO
0000000000000 0000000000 alpha000000O00O0O0O0OO alpha.lower(OO
OO00000000 alpha.upper() DO0O0O0Ointerval 000 O0O0O00O0O0O0DOQO intervalh OO0 OO

class interval {
rational 1_; ratiomal u_; OO0000000 rational O OO0
public:
interval() : 1_(rational(Ou)), u_(rational(ouw)) {} OOODOODOODODODOODO
interval(rational const& a, ratiomal const& b) : 1_(a), u_(b) {}
interval(const interval& b);

virtual “interval(); oooooo

rational lower() const { return 1_; } Ooo0ooooooooooo
rational upper() const { return u_; } oopoooooooooog
interval inv(); oo

interval neg(); oooad

interval& operator=(interval b);

interval operator+(interval const& b) const; // interval + interval
interval operator-(interval const& b) const; // interval - interval
interval operator*(rational const& b) const; // interval * rational
interval operator*(interval const& b) const; // interval * interval

bool operator==(interval const& b) const; ooboo
std::string format(int w, int d); oooooo
}
double loglOint(const interval& a); goooooog
void formatprn(const interval& x); gooooooooooooooobbooooo

std::ostream& operator<<(std::ostream& o, interval const& a);

000 =0000000 thisOOOOOOOODOOOOOOOOOOO0O00O0

27200000000000000000000000000000000000000000000000000000000
goooooooooooooooooooooooooooboOOOOOOOOODOODODODOODODOODOOOOOOOOOO0
goooooooooOooooOoO0oO0o0O0oOoOoOoOoOooOoOoO0O0oooo
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oooobooooono =000

interval& interval::operator=(interval b) {
std::swap(l_,b.1.);
std: :swap(u_,b.u_);
return *this;

00000 invOOOOOORRset 0 GCDOOODOOOODOOOD rational::ONEOODOODOOOO

interval interval::inv(){
longint ln=this->1_.numerator(); longint ld=this->1_.denominator();
longint un=this->u_.numerator(); longint ud=this->u_.denominator();
rational b=RRset(1ld,ln); rational a=RRset(ud,un);
interval res=interval(a,b);
return res;

N J
000000 neg0 0000000000000 OOOOOOOOOO
000000 neg

interval interval::neg(){
interval res=interval (-this->u_,-this->1_);
return res;

3.5.2 0O0O0OO0OOO

00 a; =(a1,b1) 0 ag =(ae,by) 00000 200000000000000000O0O0OOOOO
gooooboobooooobooogoooo

a1 + o = (a1 +ag, b1 +b2), aias = (a1az, bib) (11)

gooobodl —eco 00000000 o000 OO0
oboooooboooooon

interval interval::operator+(interval const& b) const {
interval res(this->1_ + b.1_, this—>u_ + b.u_);
return res;

interval 00000 rational 000 0000000000000 0O0ODOO0OOODOOOOODOO
gboboobobooboobooooboobooooboboooobooooooboooon

1 — (g = (a1 — b2, bl — ag) (12)

dooooobooooooooooboboooooooooooooob o ooooooooooon
ogooood

gdbouoodooooouoouoboooboob oo b oo ooouoooo
000 agas = (bibe,a1a2) D000 00 ao 000000 ajas = (arbe,biaz) D000 OO0 s
D00000 aias = (biaz,athy) 000000 ag = (ag,by) 000000 —ag = (—bg, —ax) 0000

interval interval::operator*(interval const& b) const {
rational ua,ub,za,zb;
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rational ya=b.1_;
int xsgn, ysgn;
if(xa.s !'= xb.s){

std::cout << "interval::operatorx*

¥
if(ya.s != yb.
std::cout

s){

<< "interval::operator*

¥
if(xa > xb){
std::cout

<< "interval::operator*

¥
if(ya > yb){
std::cout

<< "interval::operator*

}

xsgn=0;
if(xa > rational::ZERO){ xsgn=1;

}
if(xsgn == 0){

if(xb > rational::ZER0) xsgn=1;
}

ysgn=0;
if(ya > rational::ZER0){ ysgn=1;

}
if (ysgn == 0){

if(yb > rational::ZERO) ysgn=1;
¥

if (xsgn*ysgn > 0){ // result +
ua=xa*ya; ub=xb*yb;
if( xsgn > 0){ za=ua; zb=ub;
}else{ za=ub; zb=ua;
}

}else if (xsgn*ysgn < 0){ //
ub=xb*ya; ua=xa*yb;
if( xsgn > 0){ za=ub; zb=ua;
}else{ za=ua; zb=ub;
}

Yelse if (xsgn*ysgn == 0){ //

result -

}
interval res(za,zb);
return res;

}else if(ya < rational::ZERO){ ysgn=-1

result O
za=rational: :ZERO; zb=rational: :ZERO;

rational xa=this->1_; rational xb=this->u_;
rational yb=b.u_;

this sign ERROR STOP" << std::endl; exit(3);

b sign ERROR STOP" << std::endl; exit(3);

this->1_ larger than u_ ERROR STOP" << std::end

b.1_ larger than b.u_ ERROR STOP" << std::endl;

}else if(xa < rational::ZERO){ xsgn=-1;

// i.e., xsgn==0 means (Xa,Xb)=(0,0)

3

// i.e., ysgn==0 means (Ya,Yb)=(0,0)

l; exit(3);

exit(3);

3.5.3 OUUbouoobobobobobooboan

O0OO00DO00o00oDb00b000bDb0ob0Db000O0000ODrational DOOO0OOODODODO
a.format(w,d) OOO00O0O00D0OO000O00 wdOODOODOOODOOOOUOODDO formatprn(a)
U00o0oboooobooobD a000b000bObo00boob0oob0oOobbog loegtoint0OOoOn

OO0 formatprn(a) DO DOODOOOO
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000000000 00DOOoO00obO legloint OOO0O0ODOOOOOOOOODOOODOOOO
O0000ooooooooobooobo0o0ooobooougn mtervel DOO0OOO0O0O0O0DOOOOO 10
000000000000000000000000000 100000000000000 107100
oobooooboooooooooooobooobooooboobbo coboocoboooobooobooobooon
gooooboobooooboboboooobooooboboooo

1.9999999999999999999 (87 digits) 999999999999999999

2.0000000000000000000 (87 digits) 000000000000034046
OO0O000DoO0o0o0Oo0oDoDO legtoint D0 O0OO0O0OO0OOODOOODOOOOODODOOOOO
O a0 (double) (a.upper(O-a.lower()) DO DOODODOOODOOODOOODOOOODOOONO logioOO
oooooooooooobo0ooooDbDbD 100 =3240000 o000O0O0ODOOOOOOODOOOO
OOO0O00O000D00D0 legloint 000000 OOOOOOOOOOOOOOOO

e interval 0 0 00O loglOint O O ™
double loglOint(const interval& a){
rational t=a.upper()-a.lower(); ooo ¢t
int nbits; double f=ndpw2(t,nbits); rough 0000 t = £ *2°{nbits}
dbllgt=1log2(f)+(double)nbits; 2000000
return 0.301029995663981195*dbllgt; goooooo
}
\ y

000000000 formatprn O interval 0000 format OO0 O0000000O0O00O00OO0O
oooooobooooooooooooooooobobooooooooooboooO formatprn 00O
OO00000b30000 33300000 rational D000 format 000000000000 DOOOO
O0000000 (20 digits) ODO0OOO0OO00OO0O0O0ODOOOOOOOOO0OOOOODOOOOOOO
0000000000 0Db000bo0dOformatprn 000000 interval 0000000000 format
goodoooooooooooooDooooooooDoooooDooobOoooooooboooooon
ooooooboobooooboobboobobboobbooboooooOooooOon (20 digits) OO0
oooooo
OO0O0000000DO0D00OD0OO “std::cout << "eig="; formatprn(eigint[i]);” 000000
eig=

58241765506971327.4587497873925059528 (87 digits) 484436139384907159

58241765506971327.4587497873925059528 (87 digits) 484436139384934046
ooooooboobooooboo 19yogoooooo
oooooOOob0O0o0OOobOO0boboOooOobooboOoooDbo

22719829205299720.00000000000000000000000000000000000000000000000000: (a=b)

formatprn D0 O 0interval D0 00000000 format OO0 O0O0D0OOOO0OOOOOOOOOODO
OOo0ooOooooooooogooog ---5928 0000 rational OO OOOO0OOO format OO
Ooobo0ob0ob0oboob0ob0ob0obOobOoDbOoDOD (87 digits)4844.---071590 0 interval O O
goooooooD format DOOOOOOO
gboobooooobOoooboooobooboboooooobooboooboobooooooooobooon
gbooboobooboboboboobooboobon

e rational 1000000 GCDOOOCOOOOOOODODOODOOO longintJOOODOOCOOO
oono

e JOIDODOODO 200 longit OO0 O0ODOOOOOODOOO rational OO DOOODO GCDODO
O0O0D0DO0O0D0ORRset(D00D0OO0)00OO0O GCDOOOOODOOOODOOO
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e I00IOIDODODOUODOI0O0DODOOODODOO Iongint000O0 powOOOOODOO

go0oOoooooOo0o0ooooooooooooogooOformatprn 000000000 OOOOO
obooooOobooooobobosbobobooboboobooboboboobooboooooboobn

formatprn 00 00000000000 QCO0OO00OOO0ODOOO0OOOOO0O formatprn 0O OO

formatprn 0 O
4 P N

void formatprn(const interval& x){
int nplaceup,nplacef,aapw2,aapwlO,nplace;
rational a=x.lower(), b=x.upper(); Ood (a,b)

rational aa=a.abs(); oooooooog
double ba=(double) (b-a); ooo
rough raa=numeric_cast<rough>(aa); roughUOODO

aapw2=raa.exponent(); double daa=raa.significand();
double daalO=roughdec(daa,aapwl0); gooooooad

if(a != b){
double dba=loglOint(x); cooooooooooooooooboooboobo
int nbadgt=-(int)dba; 00000o0ooooooooooooo
nplacef=nbadgt+5; gobooooooooooo
if (nplacef > 50 || nplacef < 0 ) nplacef=50; ooooboooog so OOoO
}else{
nplacef=50;
}

nplaceup=aapwlO;

if (nplaceup > 30 || nplaceup < O ) nplaceup=30; 300000 30000
nplace=10+nplaceup+nplacef; goooo

std::cout << x.format(nplace,nplacef) << std::endl; interval 00 00 format JOO0O

N J

format 00 interval 000000000 00000DOO format(w,d) 000 wOOOOODODOOA
ooooobooooooooo

0000000000000 fleor()DODDOO000O0O0O0O0O0O00O roundoff 00000000020
pow 000 3B 0000 longmt 0000 100 nO0000OD0OOOOOO
s 10000 nO00O00O00000 roundoff OO ~N

rational roundoff(const rational& x, const int n){
rational y,z;
if (x.s==0) y.s=0;
longint xn=x.N, xd=x.D;
longint t=pow(longint::TEN,n); // t=10"n

xn=xn*t; y=RRset(zn,xd); // shift left
z=y.rational::floor(); // floor() OOOOO
y=RRset(z.N,z.D*t); // shift right
if(x.s<0) y.s=-1;
return y;
N y

O000O00Ointerval 0000 thisOOOO0O00O (a,b) 0000 b—a U rational 0000000
00000 diff 0000000000000000000000000 logloint00O00O00O0DO 1z
ooooo

000000000000 04diff 0000000000000000 (a=b) OOODOOOOOODOOO

std::string interval::format(int w, int d) {

2000000000 shl100 shr10 000000001000000 200000000000000000
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std::stringstream ss;

int 1z;
// XXXX . XXX XXX XXX XX XXX XXXYYYYYYYYYYYYYYYY
// XXXX . XXXXXXXXXXXXXXXXX
// <-- 1z ————————- >
//

rational diff = this->upper()-this->lower(); // width of this interval
if (diff != rational::ZERO) {

rational t = diff;

double dbllgten=loglOint (*this);

1z=-(int)dbllgten; // count number of leading zero digits after point.

Yelseq{ // a==b 000
ss << "\n";
ss << this->lower().format(w,d) << ": (a=b)"; // 00000 (a=b) ODOOOO
return ss.str(); // O000O0o0g

}

lzO00OOOOO d000O00OO0O0O0OO00O0O0O0O0O00DOO0O0OO0O0OO0O0OOO0OO00O0O0Dn
gobo0owoco0oobooobooboooooooobobb ooobooboobooboboooboooobooo 1o
00000000 10000000 w2000 10000000 w300002°0

if (1z < d) { // 1z 0 00000000000
ss << "\n";
ss << this->lower().format(w,d) << ":\n" << this->upper().format(w,d);
return ss.str(); // 000000000000 0O0

} else {
int nplaceup=w-6-d; // recover the number of digits upper than point.
int dt = 1z + 9; // use (leading zero + 9) for under the point
int wt = wtlz;

int
if(
int
int

if (ndd(dt-w2-w3)+11 < k) ++w2;
ss << "\n";

k = ndd(dt) + 11; // ndd(dt) is number of digits of XX, 11 is ( XX digits )
d<k)k=d;

w2 = (d - k)/2; // w2 is digits before ( XX digits )

w3 = (d - k - w2);// w3 is digits after ( XX digits )

000000000000 tto=this->lower() O interval 0 0O OO OO rational OO O tt0 OO
0000000000 roundoff 000000 Drational 0000 format 000000000 ODOOO
000000000 ssOkOO00D0 1000D00D0O00DOO0DOO0ODOODOODOOODOODOOODOODn (
xxx digits) 000000

oo dae-w3UUOUOOOOOODODOOO0O0O st3 000000000 sto00oon
Ubooobd w30 st1 000000000 ac 00000000 OLOOLDO0ODbO0OO gt300000d
00 ss000D030

rational ttO=this->lower(); // get lower rational number of this interval

rational tt3=roundoff(tt0,w2); // shift left w2 digits, floor(), shift right w2 digits

ss << tt3.format(nplaceup+6+w2,w2);// print upper portion
ss << " (" << dt-w2-w3 << " digits) " ; // digits to skip are ( xxx digits)

tt3=roundoff (tt0,dt-w3); // shift left dt-w3 digits, floor(), shift right dt-w3 dfigits

rational ttl=tt0-tt3; // subtract off to get lower w3 digits
rational tt2=sh110(ttl,dt);// shift left dt digits

longint qt3=tt2.N / tt2.D; // no rounding-up, i.e., always round-off
ss << qt3; // print lower portion

29ndd 0 0 0 Number of Decimal Digits 0001000000000 rational 0000000000
00pgp 1000000000000000000000O00O000000 10" 000000000 shrio0O00OO00OOO 10™
000000000 shllo00000000D000O00DOO000O0O0O0OO
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ss << "\n"; // new line

obooooOobo0oooobOoboboobooboooonbog sso0ooooooooon

ttO=this->upper() ; // get upper rational number of this intervpl
tt3=roundoff (tt0,w2); // shift left w2 digits, floor(), shift right w2 digits
ss << tt3.format (nplaceup+6+w2,w2) ; // print upper portion

ss << " (" << dt-w2-w3 << " digits) " ; // digits to skip are ( xxx digits)

tt3=roundoff (tt0,dt-w3); // shift left dt-w3 digits, floor(), shift right dt-w3 digits
tt1=tt0-tt3; // subtract off to get lower w3 digits

tt2=sh110(tt1,dt); // shift left dt digits

qt3=tt2.N / tt2.D;

ss << qt3; // print lower portion

return ss.str();

000 tan~! 00000000000 tanfllzgDDDDDDDDDDDDDDDDDDDWDD
00000000000000 PiCfracAtanRint.cpp DO000000000 200000 200100000
interval OO0OD0O yOODODDODDDDD “std::cout << " pi="; formatprn(y);"000000O0ODO
oooooooooboooooooooooonsioooooooooooooooooodn 400
0000000000000 00O0O0O0O0ODO 22000 200000000

input n=

pi=

3.14159265358979323 (1504 digits) 236480665088297165
3.14159265358979323 (1504 digits) 236480665569605919

gboooboobooboobobboobooboobooboobobbobobooboo

Lpi=

314159 (134 digits) 25359.40812848111745028 (1356 digits) 596023648066508829
314159 (134 digits) 25359.40812848111745028 (1356 digits) 596023648066556960

“314159 (134 digits) 25359.40812848111745028” O inteval::format 0 0 O 0 0 O rational::format O O O
0000000 #1356 digits) 596023648066508829” U interval:format 0 00000000000

O00000oon0 imterval D0 200000 z0O zOOOOOOOOODOOOOODOODOOOOO
goooogo
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N

rational Z1=Z.lower(); rational

if (z1<z1){
interval zzl(zl,Z1);
std::cout << " zZl="
Yelseq{
interval zzl(Z1l,zl);
std::cout << " Zzl="
}
if (zu<Zu){
interval zzu(zu,Zu);
std::cout << " zZu="
}elseq{
interval zzu(Zu,zu);
std::cout << " Zzu="

<<

<<

<<

<<

std:

std:

std:

std:

formatprn 000000000 OOO

Zu=Z.upper () ;

:endl; formatprn(zzl);

:endl; formatprn(zzl);

:endl; formatprn(zzu);

:endl; formatprn(zzu);

J

O0000 rational OO0 0O0OCOOO0O0O0O00O0O0OO0OO0OOODODOOOOOOCOOOOO formatprn O
obooooOoboooobooboooooboboooooonDn
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4 (0O0000OrvectordrmatrixUrblaslOprblas 00000000 OO
Ooooooooon

0000000000000 OoooDOOOoOooooOoOOOOOODOOOODODODOOODODODODDODOOOD
oo ooobbboooooooob b booooobbbbooog
gooooooooooooooo0oooooooooUooooU0ooooooooooDoooogg
000000320000000000000000000000000000000D0000O0O0O3O
000o00oooooooooDooDoooooooooooooodoonoooodOpenMP ODOOOOO
oo ooobbodoooooobboooooooooooog
0o0ooooooooooooooo0oooooo0oooooooo00oooooogoooDooood
O Numerical Linear AlgebraO NLAO OO OO OODOOOOOODOOODOOOOODOODOODOOO Makefile
O NUMTHREADS O OO ODOOOD0OOO0 make OOOODOOOODOOODOOOODOOOOOODOOO
000000000000 o0doooooooooo BASICODOODOOODOOODOOoOoDOooDoOOoon

NLA 00 Basic Linear Algebra Subprogramsl] BLASOO OO OOO0O0OO00O0OO0O0OOOOBLASO
O0000oo0o0oooooooooOO BLAS-10O 2000000000000000000000
goooooooooboobobbbbbobbobooddddddddooboobbougg
goo0ooooogooooooO0ooooooU0oooooo0oooOoo0UooogooooDooOog
ooo0dooo00o0oooooooooooooooooooooooooooooooooooooog
0000o0ooo0ooooo0ooooDooo00ooooDoooooooDoooooooooooOog
000000oo0ooooooDooooodoooooooooDo0DoD0DO0onoOooOoBLASOODOO
OO0000Orblas0000ODO0O prblas 0000000000 DDOODODODODOOOOOOOOOOODO

OO0 BLASO FORTRAN 66 0 77 OO FORTRAN OO DOOOOODOOODOOODOOOOODODO
Oe;0000000000000000000O0000000000O0OFortran9000000000
oo ooooooooobbboodoooooooooooooo
OO00oooooooCc++000000000D00000O0Fortran 90 00O OO0ODOOOODOOOO
000000000000 rvector.h O rmatrixh 0000 vector OO0 matrix OOO0O0O0OOOO
000 vector_section O rowd column OO0 Fortran 90 OO 00D O0OO0OOODODOOODOOODOOOO
goooobboooooooooooboooooooobob oo oobooooog
ooooood

000000 100 FortranOOOODODOOOO BLASODODODOODODODOODOOODOOOO
rvector 0 rmmatrix 000000000 200 vblasOOD0OO00OO0 300 prblas0000000O0O0O 4
oooooobooooDooooooooooooog

4.1 rvector U rmatrix 00O

OO00000D0D0 rtaitshOOODODOOO00O0O0O0O0O rvector.hOrmatrixh 00000000000
gbboaboogboooboobooboobooboon

3l 0D000000000000000 dvsrch2.cpp 000000000000000000000O0 20000000000
oooooo0ooooooooo0ooooooo0o0oo0oDo000 A—-HOODDOODOOOOD H—-FOOOOOODOO
goooooooooobooboooooooboboooooobbooooooOobooooooboOooooOobooooDooboOoooooODbOo
gooooooooOooO0ooooOoOoO0O0bOOoOO0O0O00C0 1300000000000C00000000 117000000000
goo0ooo0oo000o0O000 20000000 050000041 00000000O0DO0DCOO0OODODODOOOODODOOOO
322000000000000 3000000000000000O0O0O0OCO000O0O0O0OOOOOO0OO0O0O0O0OOOOOO0O
gooooooooooooooooooooooooooOOObbObObOOO0O0O0OOOoOoOoOoOoooOoOooooooooooo
goooooooOoOo0ooooOoO0oO0O0boOoOoOO0O0CoOO0OO00O0OO000O0COOO0OO0O0OOOO00O0COOO0OO00O0GCDOOO00O0
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4.1.1 rtraitsh 0000000

O000000000000STLO Standard Template LibraryD OO0 0000 OO type traits 00O
OO0 type rtraits 000000 rtraits h OO O0O0O0OOOOOOOOOOCOCOODOOOOOOOOO
OO rationalOdroughOinterval D 0000000000000 DOOOOCODODOOOOODOOOOODOO
OO00000000000D00000000000 rtraits 000 Ortraits h OOOO0OO0OO0OOOOO
oooooo00 roughOODODODOODOOOOOOOOOOOOO

template<typename T> class vector; uoboodr ooooobooooooooo
template<typename T> class vector_section; gbooogo

template<typename T> class lvector_section; gooooobooooooboo
template<typename T> class matrix; goboooooboooo

template<typename T> class matrix_section; ood

template<typename T> class lmatrix_section; goboooooooo

template<typename T> class matrix_column; goboog

template<typename T> class lmatrix_column; gboboboboboo
template<typename T> class matrix_row; goooog

template<typename T> class lmatrix_row; ooboooooooooboo

template<typename T> class matrix_diagonal; gbobooooooo

template<typename T> class vector_traits;
template<typename T> class matrix_traits;

class interval;

template<>
class vector_traits<vector<int> > {
public:
typedef int ElementT;
};
O

template<>
class vector_traits<matrix_row<rough> > rough 00 matrix U000
{
public:

typedef rough ElementT; oo00 T 0O rough OO
};
good

rtraits 0000000000000 00000O0O0D0O0000OOOrational00000O00O matrix<rational>
00000000000 rational 00 0 0 0 vector<rational>d 00000000

rtraits.h O Orvectorh OO OO0 OO OO Orvector.h O rmatrix.h rblas.h prblas.h0 ratutil.h O O
gooooooog

4.1.2 rvector.h 00O vector 00O

OO00000000000rough 00000 longint 00000 rational D000 interval 00 00O
Oo0ooooboobooboboooobooog ivectorDO00OODOOOOO

#include "rtraits.h"
#include "archive.h"
template<typename DerivedT>
class ivector {
DerivedT& true_this() {
return static_cast<DerivedT&> (*this);
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}
DerivedT const& true_this() const {
return static_cast<const DerivedT&>(*this);
}
public:
typename vector_traits<DerivedT>::ElementT const& operator[] (int idx) comnst {
return true_this().operator[] (idx);

}

typename vector_traits<DerivedT>::ElementT& operator[] (int idx) {
return true_this().operator[] (idx);

}

int len() const {
return true_this().len();

};

10000000 vectord ivector 0000000000030

template<typename T> class vector_section;
template<typename T> class lvector_section;
template<typename T>

class vector : public ivector<vector<T> > {

T* vec_; // TOODOOOOO vec. OOO
int len_;
public:
vector() : vec_(0), len_(0) {} // OO0O0oOooood
vector(int len) : vec_(mew T[len]), len_(len) {} // new 0000 vec. OOOOOO0O
“vector() { // 000000
if (vec_ !'= 0) delete[] vec_;
}
vector<T>& operator =(const vector<T>& rhs) { // 00000
if (this != &rhs) {
assert(len_ == || len_ == rhs.len_);
if (len_ == 0) {
vec_ = new T[rhs.len_];
len_ = rhs.len_;
}
for (int i=0; i < len_; ++i) this->vec_[i] = rhs[i];
}
return *this;
}
template<template<typename> class U>
vector<T>& operator =(ivector<U<T> > const& rhs) { // vector JO0OO
assert(len_ == 0 || len_ == rhs.len());
if (len_ == 0) {
vec_ = new T[rhs.len()];
len_ = rhs.len();
}
for (int i=0; i < len_; ++i) this->vec_[i] = rhs[i];
return *this;
}
const T& operator [](int idx) const { return vec_[idx]; } // O00000ooog

T& operator [](int idx) { return vec_[idx]; }

int len() const { return len_; }
const vector_section<T>& section(int beg, int end, int stride) const{//section [
vector_section<T>* res = new vector_section<T>(*this, beg, end, stride);

32jvector 1000000000 DO0ODODDODDOODODOODDOD :000000 subclass : superclass 00
OJO000Java OO extends DO O OO0 subclass extends superclass DO 000000 O inheritanceD 00000000
0000000000000 00000O00000000O0000000DO0O0O0DDO [, p.155000000000000DDOOO
gooooOooboooOoOoobooooOooon
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return *res;
}
lvector_section<T>& lsection(int beg, int end, int stride){ //lsection OO0
lvector_section<T>* res = new lvector_section<T>(*this, beg, end, stride);
return *res;
}
};

000000000000 0000D00000 vector_section O ivector OO0 ODOOODOOONObeg
O000000end 000000Ostride 0000000000000 0O0O0O ivectorJOODOODOODO
vector U vectorsection U D0 O UODOUOODOONO

O00OO00OD00O0O double O Orough O Orational D Dinterval 0 OO0OO0OOD0OD0O0O <T>000
000000 CRTPO curiously recurring template pattern, CRTPO OO O0O0O0O0O0O0OOOCOOOOO
000000ooooooooooooooooooooooCRTPOOOODOODODOOOOOOOOO
goooooob0oooO0oooOooooboOoooDOoooOooOOoooDOooboOoooobooboooobooo
gooobdoofoooboo0ooOobOoUoogbOoooO0DOOoooOU0oDODOoobOooogbooogooo
good0oo0oo0o0oooO0o0ooOoooDoooOoboO0bOo0ooOoobOOooooooOoooooDooooOoon
0000000000000000000000000000000000000000% 000000
00000oooooo0ooooooo00 HpCOOOOODODOOCRTPOOODOOOODDOOOOO
gooooOOobOooooboboooogoboo

OO0Orvectorh 000000000 ODOO0ODOODOOODOO <<0O >>00000000000000
oooooo

4.1.3 000000 rmatrix.h

000 Odouble O Orough O Orational O Ointerval 000000000000 OD0DODOOODOODOO
0o0oooDooo0oooooooooooooo0o0oooooDooogoooooooooogg
0000oo0oooo0ooooooo00ooooo0oooooDoo0oooooDooooooooogo
oo0ooooooooooooooooooooon

OO0000000 matrixOOOOOOOOO

#include <iostream>
#include <cstdlib>
#include <cassert>
#include <typeinfo>
#include "rvector.h"

template<typename DerivedT> typename U DerivedT U0 OOOOO
class imatrix {
DerivedT& true_this() {
return static_cast<DerivedT&> (*this);
}

DerivedT const& true_this() const {

3300000000000000 1000000000000000 00 polymorphismd 00000000000000000
0000000000000000000000000000000000000000 [1,p.160j0000000000000
00000000000Ooverloadd000000000000000000000000000000000000000000
0000000000000000000000000000 [/JOO0000000000000000000000000CO
O print(anytype) 0000 O00printf 000 anytype 100 0000000000000 00000000000000000
O0000OOoverride 0000 0000000000000 00000000000000000000000000000000
0000000000000 0000000000000000000000000000000000virtual 010000000
OOvirtual 00 0000000000000 00000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000000000000
00000D0D00000000000000D000D0000000000000
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return static_cast<DerivedT const&>(*this);

}
public:
typename matrix_traits<DerivedT>::RowT const& operator[] (int idx) const {
return true_this() [idx]; OO0 DerivedT DO O OOOOOOO
} int, rough, rational O OO0

typename matrix_traits<DerivedT>::RowT& operator[] (int idx) {
return true_this() [idx];

}

int rows() const {
return true_this() .rows();

}

int columns() const {
return true_this().columns();

}

};

0000000 []00000000000o00U0o00oUooOooUoooOo
matrix D0 0000000000 TOODODOODODOODOoOOOooOOooOooooboooooooooo

template<typename T>
class matrix : public imatrix<matrix<T> > {

int rows_;
int columns_;
vector<T>* m_; // 0O TOODODOOODODODOOO m_
public:
matrix(int rows, int columns) : rows_(rows), columns_(columns), m_(0) {
m_ = new vector<T>[rows_]; // 00000 rowsOODODOOO m_ O newO OO
for (int i=0; i < rows_; ++i) { // rows O[O
new (m_+i) vector<T>(columns_); // UOO0O0O0 colummOOO0O00O0 newOOOODOO
} // m_ 000000O0O0O0O0ODOOOOOOO
}
matrix(const matrix<T>& rhs) : rows_(rhs.rows_), columns_(rhs.columns_), m_(0) {
m_ = new vector<T>[rows_]; // 0000000

for (int i=0; i < rows_; ++i) {
new (m_+i) vector<T>(columns_);

}
*this = rhs;

}

"matrix() { // 000000
delete[] m_;

}

C++00000 [J000D000O0000000DO0O0D0 TOOOOD m_ 000000 idx00000O

const vector<T>& operator [](int idx) const { return m_[idx]; }
vector<T>& operator [](int idx) { return m_[idx]; }

oooo0o0000nxnUO000O0 ADDOCOCOOOOOOOOOOODODODOOODOOOOCO
goooooobooooooobooooobooboooon

matrix<rational> a(n,n);
for (int i=0; i < n; ++i){ // n - max(i,j) + 1

for (int j=0; j < n; ++j) alillj]l = (@ - (GE+1)>(G+1)7(i+1): (j+1))+1);
}

000000 (00000000000 C++0000 [J0000000000000000000000
000000000000 nOO0OO0OO00O0O0O matrix<rational> a(n,n); O vector<rational> b(n);
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0000000000000000*0C++00000 new 0000000000 DOOOO0OOODO
U000bO0o0o0O00o0cobOob0o0oOobOobonoOnO delete00O0000OoOoooOooooboOoOoO
goooooooogoboooooooooooboooboooobobooboboobooooooDooobooo
gboboobobooboobooboooboobooooboobooboobobooonog

414 0O000O0O0OOO0ODOOOOODOOOO

00000000000 00o0o0o000n rows O columns D000

int rows() const { return rows_; }
int columns() const { return columns_; }

00000000000 oO0o0o0o0o0DbO000UUoDLD00UobO0oUULU LoD bDOoUOUoooOo
Imatrix 0000 0O

template<typename T>
class lmatrix_section : public imatrix<lmatrix_section<T> > {
int rows_;
int columns_;
lvector_section<T>* rv_; gOoooooooooon
public:
Imatrix_section() : rows_(0), columns_(0), rv_(0) {}
Imatrix_section(matrix<T>& m, int row_begin, int row_end, int row_stride,
int col_begin, int col_end, int col_stride)
: rows_((row_end-row_begin+row_stride)/row_stride),
columns_((col_end-col_begin+col_stride)/col_stride), rv_(0) {
rv_ = new lvector_section<T>[rows_];
for (int i=0; i < rows_; ++i) {
new (rv_+i) lvector_section<T>(m[row_begin + row_stridex*i],col_begin,col_end,col_stride

}
}
“lmatrix_section() {
delete[] rv_;
}
lvector_section<T> const& operator[] (int idx) const { return rv_[idx]; }
lvector_section<T>& operator[] (int idx) { return rv_[idx]; }
int rows() const { return rows_; }
int columns() const { return columns_; }

};

oooooooooo AOOD kDOO0ODODODOOO0ODOE+100nD0OD00000DO00ODOODOO
a.column(k-1,k,n-1,1) 000000 (D0OOO0OOOO 10000000COOOOOOODOOO
gboooooboooooooboooooon

rational_matrix a(an,n); A OO0O
a.column(k-1,k,n-1,1)); 0O x O00O00Okx+1 OO0 n000O0O0O0OOCDOOOOO

oooooOoooooooDoboOooooooboDoogooooDbD 100000000 b0DbO0 column
Oo0oo0ooDoooooooibn leolumn ODOOO
uoooooboooooaoo

matrix_row<T>& row(int index) const {
matrix_row<T>* res = new matrix_row<T>(*this,index);
return *res;

}

matrix_row<T>& row(int index, int col_begin, int col_end, int col_stride) comnst {

¥0p0D00000000000 Perl 000 BASICOODOOODOODOOOOOOOOOOODONO
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matrix vector rational

= —

matrix_section vector_section

begin

end 2
stride

0 5: 000 section OO0

matrix_row<T>* res = new matrix_row<T>(*this,index, col_begin,col_end, col_stride);
return *res;

}

0oooooooon ADD0 k00000000 k+100n000000D0O0DOODOOOOO
a.row(k-1,k,n-1,1) 0000000000000 0O0O0O0O lrowdOOO
0000 section D OO OOO

matrix_section<T> const& section(int row_begin, int row_end, int row_stride,
int col_begin, int col_end, int col_stride);

00 AOD k+1000 nO0D0 E+100nO0000D00OQOa.section(k,n-1,1,k,n-1,1) 000
OO0000000000000 lIsection DO OO

050040000000 AOOO 1000200000000 section(1,2,1,1,2,1) 00000
gbooodbooboboobobbooobobooboboobuobbooboboobobooobo
gooobooobooobg

O00Omatrixh 000000 D0OO0OO000DO0OD0O0O000 << O >>0000000000D000
ooooood

4.2 rblasO000O

000000000 Basic Linear Algebra Subprograms, BLASO O O Fortran 00 0 0 0O O OO call by
addressO 00 0000000000000 Sequence Association0 SAD OO0 OOOOOOOOOOOO
000000000 0Doo00oooooooo000o0oooo0OoODOO0DOdleading dimension of
array, LDAOO OO O00O0D00D00000000O0000OODODODOODO0O0OO BLASOOOOoOoooooOo
000000000 BLASODODOODODODODODOODODOO0OOOFortran90 DO0ODODOOOO
oooooooooooooooooooooooDooOoo0ooogoooooooCc++00o000ad
OO0000000O0Fortran 90 OO0 O00O00O000OOO00ODOOOODOOODOOOOODOOOOODO
0000000 rblasd Rational BLASO O OO OOOOOOOOO prblasd Parallel Rational BLASO 0
0000000000000 0ooo0ooDD prblas0000000DOOCO0ODODOOODOOOODOO
OO0000BLAS OO dot, axpy, copy, gemv 000 0000000000000 0O00OO0O

00000oooooDoo0o0oooooDooo00Oooooooo0ooooDoooOooooDoooOoOn
gool1oddoooooooobooooooboooobobb oo bbbobooog

79



Oo0o0obo0ob0ooooboboboobDO0Omatrix 0000 mxnO00O0O00O0O0ODO
goboboooboobooboooobooooboobooboooobooobOooooboobOooobooDbo
000000oo0oooUon +, —, +, /0000000000000 00OO00OCOO0ODOOOOOrational
OO0O00O0000O0o00O00obO GChbOOOoOoboOOoOOIntel OO callDOOODOOOODOOOO
000000000000000000000000000%%0000000000000000000
O mathematically equivalent0 0 0000000000000 O0000O0DO0O0O0DOO0OOODOO0OO0O
gbooobOooooooboboooboobooooobooooobooon

4.2.1 rblas D0OO00DO

0000000000000 0OO0rational 000 O0O0O0O0O00ODOOODO BLASOOOOOOOOOO
OO000ooO00boOO0Orblas0DO0O00DOO0ODOOOOOOOOODODOOODOODOODOOODODOOO
0 0O O calling sequence 0 O 0 OO

swap: U 000000 0O0O0O

scal: * — axUrscal(o,x) 0000 1040000000

copy: y «— 0 rcopy(x,y)00000 1060000 LDLOOOO

vdiv: y; —y; +~a;, i =1,---Orvdiv(e,y) 00000 LDLOOOOOOOOO LDLsubst DO OO
vdivs: z; «—y; +ax;, i=1,---Orvdivs(z,y,z)00000 LDLOOOOOO1060000000
vma: z; <« z; +y; X &, i = 1,---Orvma(e,y,z)00000 1100000 hesfro 0000
axpy: y «— y + axl raxpy(o, z,y)

dot: zTy0 rdot(z,y)

asum: Y |z(i)]

iamax: 000000000 OOOOO0O

gemv: y <« [y + aAx0 rgenv(a, A, x,f,y) 00000 960000 cgOOODO

gemtv: y «— By + aATz0 rgemtv(a, A, z,3,y) 00000 1060000 LDLOOOOOO0O

ger: A«— A+ axy’0 rger(a,z,y,A)00000 1040000 LUdecomp 0000000

4.2.2 rblas OO0

thlas 0000000000000 000000O0ODOD00DDOO000O0O0O0OOOODOO0O0O00
00000000000o0oo0o0o0o0o0ooooonn
axpy 000000000O typename TO OO ODO3¥00000000000 _Raxpy 00000370

3¥0000000000000000000000NON0NDONONDON0NDNO0ONDNOONNOOonOn

36C++0 template 100 0CO000000000000000000000000000000000000000000
0000 300000000000000000000000000000000000 [2, p. 472]0

3T¢ypename 000000 class 000000000000 O00O0DOO
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_Raxpy

template<typename T, template<typename> class T1l, template<typename> class T2>

void _Raxpy(T const& alpha, ivector<T1<T> > const& x, ivector<T2<T> >& y) {
for (int i=0; i < y.len(); ++i) yl[i] += alphax*x[i];

}

O000O0O00O TO double O rational OO DOOODOOODOODOO daxpy D ODOODOO raxpy 00O
oooo

daxpy O rax
- py Py a\

template<template<typename> class T1l, template<typename> class T2>

void daxpy(double const& alpha, ivector<T1<double> > const& x, ivector<T2<double> >&y) f
_Raxpy<double,T1,T2>(alpha,x,y);

}

template<template<typename> class T1l, template<typename> class T2>

void raxpy(rational const& alpha, ivector<Tl<rational> > const& x, ivector<T2<rational>
_Raxpy<rational,T1,T2>(alpha,x,y);

__ Y,

raxpy U0OUO ivector UOUOOOODOOOO0OOODOO0ODOO0ODOOOOODOODO
OO0 RdotODODOO
_Rdot
a ° )

template<typename T, template<typename> class T1l, template<typename> class T2>
T _Rdot(const ivector<Ti1<T> >& a, const ivector<T2<T> >& b) {
assert(a.len()==b.len());
T dprod = TO);
for (size_t i=0; i < a.len(); ++i) dprod += al[il*b[i];
return dprod;

N J

OO000000 TO double U rational 0000000 OO0OODODO idot OOO0OODO ddot 0 ODOO
OO rdot OOOODODO

daxpy O rax
( Py py \

template<template<typename> class T1l, template<typename> class T2>

double idot(const ivector<Ti<int> >& a, const ivector<T2<int> >& b) {
return _Rdot<int,T1,T2>(a,b);

}

template<template<typename> class T1l, template<typename> class T2>

double ddot(const ivector<Ti<double> >& a, const ivector<T2<double> >& b) {
return _Rdot<double,T1,T2>(a,b);

}

template<template<typename> class T1l, template<typename> class T2>

rational rdot(const ivector<Ti<rational> >& a, const ivector<T2<rational> >& b) {
return _Rdot<rational,T1,T2>(a,b);

__ Y,

4.2.3 000

O000000LUOO LUdecomp DO0DOOOOOOO0OD LUsubst 0000000 O0O00O0DODODO
OO000000000000000000 rblas000D000O0O0DOOOODOOOO rblas OO raxpy
goooooooobobooboobooboobobobooobooogoo wsooooD 41400000000
gbbooboobooboobobobooboboooboobooboiD axpy00boooooooogon
oooobow; 00000000on
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LUsubst.cpp O ra: ooo
4 PP Xpy N

void LUsubst(const rational_matrix& a, const int n, rational_vector& x, 0){
int i,3,k;
for (j=0; j < n-1; ++j) {

// for (i=j+1; i < n; ++i) x[il=x[il-alil[jI*x[j1;
rat::1lvector_section<rational> xsl(x,j+1,n-1,1); // =xs1 OO0O0O0O
rat::raxpy(-x[jl,a.column(j,j+1,n-1,1) ,xs1); // 000 xs1 O0O0OO

}
for (i=n-1; i >= 0; --i) {
x[i] = x[il/ali][i];

// for (k=0; k <= i-1; ++k) x[kl=x[k]-x[il*alk][i];
rat::lvector_section<rational> xs2(x,0,i-1,1); // xs2 00000
rat::raxpy(-x[i],a.column(i,0,i-1,1),xs2); // 000 xs2 00O0OO

NS J
raxpy 00000000 xs1 0000 x.1section(j+1,n-1,1) 000000000 OOOOOO0OO
goobobooooobboooobboooubbooobooubbbooobDbbooUb 1o
0000000000 rat::1lvectorsection O rational 00 00000000 DOOOOOODOO0O
00000000 bxst DOODODO0DOODOODOO0OO0ODDODDODODO0O0O0ODDODOOOOODODODOOOOOO
0000 new DODOODO delete DD DOODOO

000000000BLASODOOODOOODOOOODOOODOO0ODOOO vblasO000000OODO0O
god

rdot 0000090000 CGOOOODOODOOOOO

4.3 prblas OO0

rblas 0 raxpy U rdot OO0 DO O0O0O0ODO0OOO0OOOO0DOOOOOOOODOOOOOOODODOOODO

00000000000000000000000000000000000%*®00000000000
ooooooooooooboooooooooooooOooooOo0ooOoOooO00oDD prblas OO
ooooobooooo

4.3.1 0O00OO0O0OO0OOODOO

000000000 pthreadcreate() 000000000000 pthreadt 000000000000
oooobobooobooobooobooobbooobooboooobooooboooooooo sobogon
OO0 rxdot O0DODOO00O0OOO0OOOSOOOOOOOOOOODOOCODODODODODODO BLASO ddot OO
goooobooboooboooboooooooobooobooooobooooooot1o011:200---071:80
O00O0prdot OOO0O0O0O0O0DOCOObeginOO0 000000 Oend000000O0O0COCOOO begin O
ODend D0O000D0O00O0 rdot 00000000000 0OO0ODOOOODOOOODO

void* prdot(begin,end,m,x,ix,y,iy,result);

OO0 prdot 000000000 O0O0DOO0ODDO thread-maneger.cpp D 000000000000 OOO
oood

rc = pthread_create(&threads([i], 0, prdot, (void*)&thread_num([i]));

3800000 10000000 40000000000000000000000000000000000000000000
00 (1,2,3),0000 10 (4,5,6),0000 20 (7,8),0000 30 (9,10)000000000000000000000 00
(1,5,9),0000 10 (2,6,1000000 20 (3,7),0000 30 (4,8) 0000
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0000000000000 0rdot DOODOO0OOBLASODDOOODOODOODODOODOODOO
000000000 taskt 0000000000 DOOODODODOOOOpthread_create 0O prdot O
praxpy 00000 ptask OO0 O OO Optask OO0 00O thread_manager.cpp 000000

POSIX thread DO O0O0000OO0D0O0OO0O0DOOOOOOODOO mutexO mutual exclusion0OO OO0
O semaphore00 0 0000000 OOOOOread-write lockOO O OO ObarrierD0 00000000003
0000000000000 00000000000%*0

pOSIXOOOOOOOOOOOOODOODOOODODOOOODODOOOO

e int sem init(sem_t *sem, int pshared, undigned int value) ;

bbooboobdoboooooobobobooooboobobobooooooboboooboooboog
oono

e int sem post(sem_t *sem);

U00O0sem 000000000 ODOO0ODOO0O0O0OO0O0D00D0sem-wait JO0O0O0OO0OOOO
UboboobooboooboooboooboobooobOolon sempost UOOOOOOOOOO
ob0100000b0oc0ooobooooboobooooobooooonoo

e int sem_wait(sem_t *sem);

sem> 000 DUO0O0Osem U0 0000000 0sem=0000000000000000O000OO
ooo

e int sem destroy(sem_t *sem);

oooobooooobooboooog

thread manager.h 0000 semt00O000000O0O

000000000 NUM_.THREADSOOOUOODOOOODOODOO 200000

prblas 0001 000000000000000OO0rdotOraxpy 00000000 O00O0OOOOO
00000000 taskt OO0O0O0D0O0O0ODOOODOODODOODOOO vdotOOODOODOOODOOOOOO
JooobobbbbooooiibbD exeewte OO ODODODO0OOO0O0DDODODOOOOOOO
e thread_manager.h ~

class thread_manager {

public:

#ifdef NUM_THREADS
static const int num_threads = NUM_THREADS; // the number of threads including main thread

#else

static const int num_threads = 2; // the number of threads including main thread
#endif
typedef struct {
void (x*f) (voidx); // function executing task
void* params; // parameters to task

} task_t;

thread_manager () ;

“thread_manager () ;

static void execute(task_t* tasks, int num_tasks);

7 Y,

000000000000 00000000000000 £f00000000000000 params 00
U task t 000000000 0OOCO0DOO0OO0OO0OO0OOOOO0ODOOO0OOOOUODOOOOOOO
execute 00000000 OOOOOO

39pthread.h 0 semaphore.h 0000000000000 00000 -lpthread 000000
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thread _manager.cpp thread manager.cpp 0 300000000000000 ptask OOODODOOO

O prdot OO O
oooooo

prblas 00O 0 0O 0O thread_manager::execute 000000000000 D0OO0OOOO0O

#include
#include
#include
#include
#include
#include
#include
#include
pthr
sem_
sem_
int
thre

void

<pthread.h>

<semaphore.h>

<iostream>

<cassert>

<stdexcept>

"longint.h"

"mempool.h"

"thread_manager.h"
ead_t threads[thread_manager: :num_threads];
t sem_start[thread_manager: :num_threads]; // 0000000 00og
t sem_result[thread_manager: :num_threads]; // D000000000O0og
thread_num[thread_manager: :num_threads];
ad_manager: :task_t tasks_[thread_manager::num_threads];

*ptask(void*p){ // 0000000000000

int tid = *((int*)p);

mem_pool* mp = new mem_pool();

longint::_mempool = mp;

while(true) {
sem_wait (&sem_start[tid]);
if (tasks_[tid].f == 0) break; // terminate thread
tasks_[tid].f(tasks_[tid] .params); // execute the task
sem_post (&sem_result[tid]);

}

pthread_exit(0) ;

return 0O;

2000000 ODbOOO0bODOO0ODO0O0bO0ObO0O0DbO0ObO0OOD0O0b0OOO pthread create OO0
O numthreads 0000000000000 0O0DOODOO0OOOOOOOODOOOODO

thread_manager: :thread_manager (){ // OO0O0O0O0oOo
int i, rc;
for (i=1; i < num_threads; ++i) {
if (sem_init(&sem_start[i],0,0) != 0) { // start DOQOQOOOOO
throw runtime_error ("thread_manager: sem_init() failed.");
}
if (sem_init(&sem_result[i],0,0) != 0) { // result DOOOOOOO
throw runtime_error ("thread_manager: sem_init() failed.");
}
}
for(i=1; i < num_threads; ++i) { // O0000Oo00d
thread_num([i] = i;
if ((rc = pthread_create(&threads[i], O, ptask, (void*)&thread num[i])) == -1
throw runtime_error ("thread_manager: pthread_create() failed");
}
}
¥
thread_manager: : “thread_manager () { // OO0O00OoOo

for(int i=1; i < num_threads; ++i) {
tasks_[i].f = 0;
tasks_[i] .params = 0;
sem_post (&sem_start[i]);

}

for (int i=1; i < num_threads; ++i) pthread_join(threads[i],0);
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}

0000000000000 000000000000000400000000000000000
oooooOoOooooOoOooooo
3000000 00000000000 thread_manager::execute 0 0 O O

void thread_manager: :execute(task_t* tasks, int num_tasks){
int 1i;
i=0;
while (i < num_tasks) {
int nt;
if ((num_tasks - i) > num_threads) {
nt num_threads;
} else
nt

[ N |

num_tasks - i;

}

tasks_[0].f = tasks[i].f; // thread function pointer
tasks_[0] .params = tasks[i].params; // parameters
for (int j=1; j < nt; ++j) {

tasks_[j].f = tasks[i+j].f;

tasks_[j] .params = tasks[j].params;

sem_post (&sem_start[j]); // post semaphore 1 to nt, i.e., start thread j

}

tasks_[0] .f(tasks_[0] .params); // execute O thread
// thread parallel computing
for (int j=1; j < nt; ++j) {
sem_wait (&sem_result[j]); // wait thread j
¥
i += nt;
}
¥

thread_manager _tm = thread_manager();

4.3.2 prblas 000

axpy 000000000 0O0OODOO0ODOODOOOO0OOODOOO0ODOODOOOO
axpy-param

-

template<typename T, template<typename> class T1l, template<typename> class T2>
struct axpy_param {

iterset is;

T const* alpha_;

ivector<T1<T> > const* x_;

ivector<T2<T> >x y_;

7 Y

000000000 00D0Do0DbOdb00ooooooooooOg0dpartial axpyD O OO OOOOOO
O0O0000 beginDenddstride 000000000 “yy =a-2;+y,” 00000 TOOOODODO
0o0o0o0oooboooobon

OIntel 0 x86 000 EM64AT 000 00000003200 00000000000000000000000000000
gooooooooboOoOoOoooooooo
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class axpy_task
4 by )

template<typename T, template<typename> class T1l, template<typename> class T2>
class axpy_task {
public:
static axpy_param<T,T1,T2> axpy_params[thread_manager::num_threads];
static thread_manager::task_t tasks[thread_manager::num_threads];
static void partial_axpy(void* t) {
axpy_param<T,T1,T2>* param = static_cast<axpy_param<T,T1,T2>*>(t);
for (int i=param->is.begin_; i < param->is.end_; i += param->is.stride_) {
param->y_->operator [](i) += *param->alpha_sparam->x_->operator [](i);
}
}
N J

thread-manager 000000000 00D0ODDOOO taskt O0DODODOOODODODOOOOOOOOOO

thread _manager task

template<typename T,template<typename> class T1l, template<typename> class T2>
thread_manager: :task_t axpy_task<T,T1,T2>::tasks[thread_manager::num_threads];

Oo0ooooooooDooOooooooooooooooogo
axpy_param task

template<typename T,template<typename> class T1l, template<typename> class T2>
axpy_param<T,T1,T2> axpy_task<T,T1,T2>::axpy_params[thread_manager: :num_threads];

O0O000DPaxpy DO OO0DOOOOOOOOOODOODOODODODODODODODODODOO
O0O0o0oooooooooOobo0ooobDOOoOo0oOBLockpISTOOOOOOOOO0O0O0DOOOOO
ooooooooooooobooooooooooboooooooooooooooOooooboboOoo
O0raxpy U0 ODOO00O0D00D00O00OD00O00O000O0D0000000 beginOOODOOODO endd
O000D result JODO0OO0OOO0O00O praxpy-param_t 000 0000000000000 DOOOOO
00O 0O thread manager::execute J OO OO OO OO

s _Paxpy ~
template<typename T, template<typename> class T1l, template<typename> class T2>
void _Paxpy(T const& alpha, ivector<T1<T> > const& x, ivector<T2<T> >& y) {
assert(x.len()==y.len());
#ifdef BLOCKDIST
set_iterset_block(thread_manager: :num_threads,x.len() ,axpy_task<T,T1,T2>::axpy_paramg) ;
#else
set_iterset_cyclic(thread_manager: :num_threads,x.len() ,axpy_task<T,T1,T2>::axpy_parans) ;
#endif
for (int i=0; i < thread_manager::num_threads; ++i) {
axpy_task<T,T1,T2>::axpy_params[i] .alpha_ = &alpha;
axpy_task<T,T1,T2>::axpy_params([i] .x_ = &x;
axpy_task<T,T1,T2>::axpy_params[i].y_ = &y;
axpy_task<T,T1,T2>::tasks[i] .f = axpy_task<T,T1,T2>::partial_axpy;
axpy_task<T,T1,T2>::tasks[i] .params = &axpy_task<T,T1,T2>::axpy_params[i];
}
// Execute parallel tasks.
thread_manager: :execute (axpy_task<T,T1,T2>::tasks,thread_manager: :num_threads);

N J
000000000000 praxpy 000000
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paxpy

template<template<typename> class T1l, template<typename> class T2>

void praxpy(rational const& alpha, ivector<Tl<rational> > const& x, ivector<T2<rational
_Paxpy<rational,T1,T2>(alpha,x,y);

}

4.3.3 00000

obooobOoboooboobobooobooboooooboooo
e block DD ODOOODOO

template<typename T>
void set_iterset_block(int nthreads, int n, T* task_param) {
int ichunk = (n + nthreads - 1) / nthreads;
int s = 0;
for (int i=0; i < nthreads; ++i) {
task_param[i] .is.begin_= s;
task_param[i].is.end_ = (s + ichunk) > n ? n : s + ichunk;
task_param[i] .is.stride_ = 1;
s += ichunk;

N J
00000000000000000000000
- cyclic 00000000

template<typename T>
void set_iterset_cyclic(int nthreads, int n, T* task_param) {
for (int i=0; i < nthreads; ++i) {
task_param[i] .is.begin_= i;
task_param[i] .is.end_ = (i <n) 7 i + ((n - i - 1)/nthreads+1)*nthreads : i;
task_param[i] .is.stride_ = nthreads;

}
N J

4.4 0D0OO0OODODOOOOOOLDOOOO

goddoooudoobuoooboboooobouoooboobooboopboooouood
00000000000000000000C++ 00000 1/000000 istreamd000 ostreamO
0000 jostream 000 00000%00000000000000 ifstreamO ofstream fstream 0 O
ODO0O0istrem 0000 istreem 000000000000 O00O0OOO

gddoddooooodobooboouoodoodobooboobobobuoboboobuoooo
00000000000000000 <<0O >>000000000000000%00000000
ooo

4.4.1 iarchive O oarchive 000

0000 archive.h O iarchive 0 oarchive OO0 O0O0OD0OOOOO0ODO getIs() O get0sO ODOODO
gooooooooooooooooo

4Cc++0000000000000000000000000000000000 <<0O >>00000000000000
ooooooo
Cinterval 100 0000000000000000000000000000000000O00O000O0000
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s archive.h ™

#include <iostream>
class iarchive {
public:
iarchive() : is_(std::cin) {}
iarchive(std: :istream& is) : is_(is) {}
std::istream& getIs() { return is_; }
private:
std::istream& is_;
};
class oarchive {
public:
oarchive() : os_(std::cout) {}
oarchive(std: :ostream& os) : os_(os) {}
std::ostream& getOs() { return os_; }
private:
std: :ostream& os_;
};
iarchive& operator>>(iarchive&, int&);
oarchive& operator<<(oarchive&, const int&);

N J

longint 0 000 rational 00 00O archive 00O longint 00O OO rational OO 0O O iarchive O
oarchive 00000000 Ooarchive 00O Olongint 0000000000 0O0OOOODODOOOOOOO
ocooooooooo

longint 0 0 0 O oarchive

oarchive& operator<<(oarchive& oa, const longint& x){
oa.getlOs() << " " << x.1;
for (int i=0; i < x.1l; ++i) oa.getOs() << " " << x.d[i+1];
return oa;

ilarchive 0000000000 0O0OO0OOOODOOO
longint 0 O 0 O iarchive
(" & )

iarchive& operator>>(iarchive& ia, longint& x) {
int 1;
ia.getIs() >> 1;
if (1+1 >= x.capacity) x.realloc(1+1,3001);
for (int i=0; i < 1; ++i) ia.getIs() >> x.d[i+1];
x.1 =1;
return ia;

OO0 rational 000000000000 O00DOOOO0ODOOOOOOOOOODOODO

rational 0 0 O O oarchive

oarchive& operator<<(oarchive& oa, const rational& r) {

oa.getOs() << " " << r.s;
oa << r.N << r.D;
return oa;

gbobooooboooobooboobooboon
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rational 0 0 O O iarchive

iarchive& operator>>(iarchive& ia, rational& r) {
ia.getIs() >> r.s;
ia >> r.N >> r.D;
return ia;

vector OO0 matrix 0000 archive 00 vectorOO0000000O000OO0OOOOOODOOOO
00000000 oO0b0o0buo0bo0oo0obOo0oLDLO0ooDoLO0obLDoOUoLDUo0obUoobOooooooo
O00000OOrvectorh OOOOOO0O0O0 << O >>000000000vector 0000 iarchive O
oogoooo

template<typename T>
iarchive& operator>>(iarchive& ia, vector<T>& v) {
int size;
ia.getIs() >> size;
if (size != v.len()) {
std::stringstream what;
what << "archived vector size [" << size << "] != input vector size [" << v.len()
throw std::runtime_error(what.str());
}
for (int i=0; i < v.len(); ++i) ia >> v[il;
return ia;

vector 0 >> 00000000 rvector.hd
4 N

N J
oarchive 0000 << O0O0OO0OO0DOO oarchiveOOOOOO
e vector 0 << O O0O00OOOOrvector.hd B

template<typename T>
oarchive& operator<<(oarchive& oa, vector<T> const& v) {

oa.getOs() << " " << v.len();

for (int i=0; i < v.len(); ++i) {
oa << v[il;

}

return oa;

}

template<typename T>
std::ostream& operator<<(std::ostream& o, ivector<T> const& b){

o << "{";
if (b.len() > 0) {
o << b[0];
for (int i=1; i < b.len(); ++i) {
0 << " " << b[i];
}
}
o << "}";
return o;

N J

U000 matrix UOOOOOO0OODOOO
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s matrix O archivel rmatrix.h( N

template<class T> iarchive& operator>>(iarchive& ia, matrix<T>& x) {
int rows = x.rows();
ia.getIs() >> rows;
for (int i=0; i < rows; ++i) ia >> x[i];
return ia;
}
template<class T> oarchive& operator<<(oarchive& oa, matrix<T> const& x) {
size_t rows = x.rows();
oa.getOs() << " " << rows;
for (size_t i=0; i < rows; ++i) oa << x[i];
return oa;
}
template<typename T>
std::ostream& operator<<(std::ostream& os, const imatrix<T>& m) {
os << "{";
if (m.rows() > 0) {
os << m[0];
for (int i=1; i < m.rows(); ++i) os << m[i];
}
0s << "}";
return os;

N J

4.4.2 00O

000000000000000000000 dvsrch2.cppd00000 Odvsrch2.cpp 0000000
00 ADOO0OO0DO0OO0DO00O000D00000000000000000000000 AODOOOO
00000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000
00000000 “1"00000000000000000000000000o00o0ooooonoonon
00000000000000000000000000000 2000000000000 0000
00000000000000000000000000000000000000000000000
0000000000000000000000 2000000000000000000000000
0000000000000 000000000000000000O00000000O000O0000
“1"0000000000000000000%0

#include "archive.h"

rational _matrix ar(n+1,n+1);
ifstream fin;

std::ofstream ofs;
std::fstream ifs;

iarchive ia(ifs);

oarchive oa(ofs);

Oooo
if (chkres==0){
/] ———== convert real symmetric matrix to Hessenberg form
tstartO=gettime(); /3 kook sk ke ok sk sk ok sk ok ok ok sk ok 3k 3k ok 3k ok ok 3 ok ok ok ok sk k /
elmhes(ar,n); /*%x  ELMHES  sokkkkkkskokokskkkkkkokokk/

000000 S13freetxt 000000 A=S"1KS- 1 000000000000 00O0D0OO00O0O S13freeA.chk 000
00000 Sl13freeA2.chk 00000000 A=K O0OD0OO0DODOOOOOOO0OO0OD0O000O0OO Sl13freeK.chk 000000
00 Si3freeK2.chk 000 A=M(-1)K 000000000 00000000000 S13freeMinvK.chk 00000000
S13freeMinvK2.chk 000000
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std::cout << std::endl; [/ skokokokok sk ok ok ok sk ok ok ok skok ok ok sk ok ok skok sk ok ok kok ok ok /
std::cout << " ELMHES complete, time=" << (double) (gettime()-tstart0)/1000000.0 [
/] ———== checkpoint H
std: :stringstream ofn;
if (mattype==0){
ofn << matname << "A" << ".chk";
0fn2<< matname << "A2" << ", chk";
Yelse if (mattype==1){
ofn << matname << "K" << ".chk";
0fn2<< matname << "K2" << ".chk";
}else{
ofn << matname << "MinvK" << ".chk";
0fn2<< matname << "MinvK2" << ".chk";

}
ofs.open(ofn.str().c_str(),std: :fstream: :trunc);
if (lofs) {
throw std::runtime_error("Write open failed for " + ofn.str());
}
oa << ar;

ofs.close();
ofs.open(ofn2.str().c_str(),std::fstream: :trunc); // archive file for Frobenius m
if (lofs) {
throw std::runtime_error("Write open failed for " + ofn2.str());
}
Yelse if (chkres==1){ //  read H from checkpoint file
std::stringstream ifn;
if (mattype==0){
ifn << matname << "A" << ".chk";
}else if (mattype==1){
ifn << matname << "K" << ".chk";
Yelse{
ifn << matname << "MinvK" << ".chk";

}
ifs.open(ifn.str().c_str(),std::ofstream::in);
if (lifs) {
throw std::runtime_error("Read open failed for " + ifn.str());
}
ia >> ar;

std::cout << "Read Hessenberg matrix from checkpoint file" << std::endl;
ifs.close();

ptrix

goooboooobooooobooboboooboobbooooboooboobooboobDoobooDoDo
oooOoogooooooo 2robob000oooDoobo00000000d mmat 000 ithOO0O0O
oboocooooooogon

if (chkres==0){
oa << nmat;
oa << ith;
}else if(chkres>=2){
std::stringstream ifn;
if (mattype==0){
ifn << matname << "A2" << ".chk";
Yelse if (mattype==1){
ifn << matname << "K2" << ", chk";
Yelseq{
ifn << matname << "MinvK2" << ".chk";
}

ifs.open(ifn.str().c_str(),std::ofstream::in);
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if (lifs) {
throw std::runtime_error("Read open failed for " + ifn.str());
}
ia >> nmat;
ia >> ith;
std::cout << "Read checkpoint file2 mmat=" << mmat << " ith=" << ith << std::endl;

gobooboooboobooobooooboooboobooo0ob0 xOOoobOooooobooboOoDbo
oooooobooooooobobobooooboooooon

if (chkres<=1){
tstartO=gettime();
// compute characteristic polynomial of Hessenberg submatrix
hesfrb(b,nsize,p); /*%  HESFRB  skskskokokskokokskokk sk ok k koK kokkk /
std::cout << "hesfrb complete, time=" << (double) (gettime()-tstart0)/1000000.0 <K "(sec)" << std
oa << p;
std::flush(ofs); // 000000000000
std::cout << " wrote checkpoint file" << std::endl;
std::cout << std::endl;

if (k==0) ofs.close(); // OooooooOoOooa
}elsed{
ia >> p;

std::cout << "Read characterestic polynomial from checkpoint file" << std::endl;

oboboobO k0O oO0bOO0OOOOOOOOOOOOOOOODOOOOODOOn
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5 ratutil OO0

ratutil OO O0O000O0O0O00OO0
ubooboboboboobobobobuobobdab getdgesUODUOOoOoooooooooono
U000 MatDgtCount OO OO ODODOOODOOOOO0OOOOO0OOODOODOOOODOODOODODO
gooo
gboogbooooooo
4 )

void cnvmat(const rat::matrix<double>& a, rat::matrix<rational>& ar, const int m, const int n);
void copymat(const rat::matrix<rational>& a, const int m, const int n, rat::matrix<rational>& c);
rational rat2int(const rat::matrix<rational>& a, const int n, rat::matrix<rational>& b);

void matprn(const rat::matrix<double>%& a, const int m, const int n);
void matprn(const rat::matrix<rational>& a, const int m, const int n);
void matprt(const rat::matrix<rational>& a, const int m, const int n);

int getdgts(rational v);

void MatDgtCount(const rat::matrix<rational>& a, const int m, const int n);
void MatDgtCountPrt(const rat::matrix<rational>& a, const int m, const int n);
void MtngtCount(const rat::matrix<rational>& a, const int n);

void MtrDgtCountPrt(const rat::matrix<rational>& a, const int n);

void VctDgtCount (const rat::vector<rational>& a, const int m);

void SeeMatDiag(const rat::matrix<rational>& a, const int n);

void ScalMat(const rat::matrix<rational>& a, const int m, const int n, rat::vector<rational>& as,
rat::matrix<rational>& aa);

void ScalVec(const rat::vector<rational>& a, const int n, rational& s, rat::vector<rational>& b,
const int update);

rational ScalMatCol(rat::matrix<rational>& a, const int m, const int n, const int j, const int update);

int askinty(const double t, const double epsint, rational& vrat);

int askinty(const rational& t, const double epsint, rational& vrat);

void nxtcmb(const int n, comnst int r, int ith[]);

long long comb(const int n, const int r);

J

000000000 polydivehk 000000
000000000
4 A

int polydivchk(rat::vector<rational>& u, const int m, const rat::vector<rational>& v, const int n,
rat::vector<rational>& q, rat::vector<rational>& r);
int getpolynomial(const int k, rat::vector<rational>& cof, const int npolynomial,
const rat::vector<int>& ppolynomial, const rat::vector<rational>& cpolynomial);
int putpolynomial(const int nsize, const rat::vector<rational>& cof, int npolynomial,
rat::vector<int>& ppolynomial, rat::vector<rational>& cpolynomial);

void polytexform(const rat::vector<rational>& p,const int nsize);

void polytexformr(const rat::vector<rational>& p,const int nsize);

void polytexform2(const rat::vector<rational>%& p,const int nsize, const rational& lcm);
void polytexformr2(const rat::vector<rational>& p, const int nsize, const rational& lcm);
void polytexformint(const rat::vector<rational>& p, const int nsize);

void polytexformintfmt(const rat::vector<rational>% p, const int nsize);

void polytexformintr(const rat::vector<rational>& p, const int nsize);

double vietaterm(const double e[], const int n, const int r);

rational vietaterm(const rat::vector<rational>& e, const int n, const int r);

int vietaterm(const rat::vector<rational>& ea, const rat::vector<rational>& eb, const int n,
const int r, rational& ta, rational& tb);

int vietaterm(const rat::vector<rational>&% e, const int n, const int r, rational& ta, rational& tb);

int vietaterm(const rat::vector<rational>& ea, const rat::vector<rational>& eb, const int n,
const int r, rational& ta, rational& tb, const rat::vector<rational>& spa,

const rat::vector<rational>& spb, rat::vector<rational>& ssa, rat::vector<rational>& ssb);
int cmpary(const int a[], const int b[], const int n);
void intmul(const rational& xa, const rational& xb, const rational& ya, const rational& yb,
rational& za, rational& zb);

N J

cooooooooooosoooooOoooooooooobog
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00000000
( N

void GenRand(rat::matrix<rational>& a, const int n, const int r, long long& iseed);
void GenMat(rat::matrix<rational>& a, const int m, const int n, const int r, long long& iseed);
void SetRand2(rat::matrix<rational>& a, const int n, long long& iseed);

void SetRand(rat::matrix<rational>& a, const int n, long long& iseed);

void MyRND(long long& iseed, rational& drand);

void MyIRND(long long& iseed);

double urand( void );

void FloatUrandR(rat::matrix<rational>& a, const int m, const int n);

void FloatUrand(rat::matrix<rational>& a, const int n);

void SetFrank(rat::matrix<double>& a, const int n);

void SetFrank(rat::matrix<rational>& a, const int n);

void SetHilbert(rat::matrix<double>& a, const int n);

void SetHilbert(rat::matrix<rational>& a, int n);

void SetFtherm(rat::matrix<rational>& a, const int m, const int cont);

void SetFtherm(rat::matrix<double>& a, const int m);

void SetGLmat (rat::matrix<double>& a, const int m);

ooo0o00o0oo00oo00ooooooo0no
0000000O0Ooooooo

int jacobev(rat::matrix<double>& A, rat::matrix<double>& V,double tol,int n,int maxit);
void bsort(rat::vector<double>& x, int n, int * ind);
void bsort(rat::vector<double>& x, int n);

000000000000000000000
00000000000
4 A

void elmhes(rat::matrix<rational>%& a, const int n);

void hesfrb(rat::matrix<rational>& a, const int n, rat::vector<rational>& p);

void solhmg(rat::matrix<rational>& a, const int n, int& rank, rat::matrix<rational>& x);

void LUdecomp(rat::matrix<rational>& a, const int n, rat::vector<int>& ipvt, rat::vector<int>& jpvt,
int& krank);

void LUsubst(const rat::matrix<rational>& a, const int n, rat::vector<rational>& x,
const rat::vector<int>& ipvt, const rat::vector<int>& jpvt);

void LDL(rat::matrix<rational>& a, int n);

void LDLsubst(const rat::matrix<rational>& a, int n, rat::vector<rational>& x);

0oooo0oo
é A

rational sqrt2(longint X, uint32_t n);
interval setpi(const uint32_t tol);
rational bestappfrac(const rational& c,const double tol);

gbooobooaoboooabooo
goooogo

rational sqrté4g(longint X, uint32_t n);
rational SQR(const rational& a, const uint32_t tol);
interval SQRint(const rational& a, const uint32_t tol);

0000000000000 0000D0O0000000Obisect 0 200000000000 00 Obisectrt
OO0O0000D00000000 biseet O0O0O0D0ODOO00O0O0O0DOODOOOOOOHHorner O bisect O
bisectrf 0 intarval 000000000 DOOOO

“400000000000000000000Ojacobev 00000000000000000000Obsort 1000000
00000o000oo00oo00oo0o000 dvseecheepp 0000000000000 O0O0O0DOO0O0COOOOOOOOOOCODOO
Oo0oo0ooo0o0oOo0oO0o0000O00000000000000000000D0000Odvsrch.pdf 000000000
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obooooobooooooboon ™

interval roundrat(const rational& x, const int n);
interval roundrat2(const rational& x, const int n, const int m);

int newton(const rat::vector<rational>& p, const int n, const int tol, const int maxit, rational& a, rafional& fa, ration
int bisectrf(const rat::vector<rational>& p, const int n, const double tol, const int maxit,
rational& a, rational& fa, rational& b, rational& fb, rational& c);
int bisect(const rat::vector<rational> p, const int n, const double tol, const int maxit, rational& a,
rational& fa, rational& b, rational& fb, rational& c);
rational Horner(const int n, const rat::vector<rational>& coef, const rational& x);
void Horner3(const int n, const rat::vector<rational>& coef, const rational& x, rational& r,
rational& s, rational& t);

void Horner(const int n, const rat::vector<rational>& coef, const interval& x, rational& r, rational& s);

int bisectrf(const rat::vector<rational>%& p, const int n, const double tol, const int maxit,
interval& ab, rational& fa, rational& fb, rational& c);

int bisect(const rat::vector<rational>& p, const int n, const double tol, const int maxit,
interval& ab, rational& fa, rational& fb, rational& c);

N y

5.1 U0HUOOUooooono
5.1.1 00000 cnvmat 00 copymat 00 matprn O[O

goooboobod mxn 0000000000000 0O0O0Oenvmat 00000000
ogoooooOOOoOoOOOO0O0O0 LCeMOOOOOOODOOO0O000000000 rationall 0000
oooooooLCcM OOogno

rational rat2int(const rational_matrix& a, const int n, rational_matrix& b) {
longint gcdd, sd, lcm;
gcdd = a[0] [0] .denominator();
lcm = longint: :0NE;
for (int i=0; i<n; i++){
for (int j=0; j<n; j++){
if(a[i] [j] !'= ratiomnal::ZER0){
sd = ali] [j].denominator();
if(gcdd !'= longint::ZERO && lcm != longint::ZERO) gcdd=longint::1lgcd2(sd,lcm);
lcm=lcm*sd; lcm=lcm/gcdd;

}
rational Cof = RRset(lcm,longint::0NE);
for (int i=0; i<n; i++){
for (int j=0; j<n; j++) bl[il[j] = ali] [jI1*Cof;
}

return Cof;

00000000 dvsrch.cppd dvsrchl.cppl dvsrch2.cpp OO0 000000
000000000000 O0D0copymat 0000 0OOOO
rational 0 0 0 00O matprn(a,m,n); DO OOOO

void matprn(rational_matrix& a, int m, int n){
for(int i=0; i < m; i++){
for(int j=0; j < mn; j++) std::cout << a[il[j] << " ";
std::cout << std::endl;
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gboooboobil1gbboobooboobooboobobboobbooboon
Uboboobobod matprt O O0O0O0OO0OO0O0O0ODOOOOOOOOOOO

void matprt(rational_matrix& a, int m, int n){
O
std::cout << (double)ali] [j] << " ";

5.1.2 OO0 CGUOOUOODODOOOO ScalVecDODOOODO MatDgtCount OO

000 00O conjugate gradient method, CGO OOOOOOODOOODOO
plTApj:OD[IDDpiEI p; 0 ADODODDODDDODODODOOODODOOOOOOOOODDOOCGOO
0000000 pfdp, ,=000000000 rfr,;=000000200200000000000
00 pOooooooooC r0000r-0000 pOO0O0OOOOOODO p, 0 Ap,_, 00000
00000000000 CGLOU0O0OU0U00O0O0O0UD 40 0000000000 OO0ooUooooOn™

r,#00000

ccGOooooooo
e )
]{?:0; :IJ():O; ’l“():b
while(ry # 0)
k=k+1
if(k=1)
P =To
else
ﬁ rz;flrk_l
k=7
L
P, = Tr—1+ BePp_1
end .
_ TeaTr—1 |
ap = PTAD, | 0000o0oo0ooooooo

T = Tk—1 + QpPy,
T =Tp_1 — aAp,
end
€r = T

N J
cGOOOoOOoOOOOcgepp0OOOOODOOOODOOOOCGOHO nOODOOODOOOOODO
OOfor0000 n+10000000000D0O000DOCOOODODOO0ODOOODOOOOODDOO
00000000000000000000000000000000000000000000%0

void cg(const rat::matrix<rational>& a, const rat::vector<rational>& b,
rat::vector<rational>& x, const int n, int& nit) {
rat::vector<rational> r(n), z(n), p(n), q(n);
rational alpha, beta, pq, bnrm2, rr, resid, rho, rhoil;
int i, k;
rat::rgemv(rational::0NE,a,x,rational::ZERO,r);
for (i=0; i < n; ++i) r[i] = bl[il-r[il;
bnrm2 = rat::rdot(b,b);

rr = bnrm2; /] <—————————- goooogd 20
for (k=1; k <= n+1; ++k) { [/ <K==——————— oooo
resid=RatAbs (rr/bnrm2) ;
std::cout << "iteration " << k << ", resid=" << (double)resid << std::endl;
rho = rr;
if (k> 1) {

rdot 00 D0DO00 rblas 0 rdot 0000000000
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beta = rho/rhoil;
rat::rcopy(r,z);
rat: :raxpy(beta,p,z);
rat::rcopy(z,p);
} else {
beta = rational::ZERO;
rat::rcopy(r,p);
}
rat::rgemv(rational: :0NE,a,p,rational: :ZERO,q);
pq = rat::rdot(p,q);
alpha = rho/pq;
rat::raxpy(alpha,p,x); // current solution vector
rat::raxpy(-alpha,q,r); // residual vector
rr = rat::rdot(r,r);
resid = rr/bnrm2;
longint rsd = resid.denominator();
longint rsn = resid.numerator();
std::cout << " Num of Dgts (resid)=" << numdgts(rsd)+numdgts(rsn) << std::endl;

if (resid <= rational::ZER0D) break; // <----000000
rhol = rho;
}
if (resid > rational::ZERO) {
std::cerr << "Iteration fail in subroutine cg" << std::endl; /] <==—== Error
exit(1);
}
std::cout << "Converged CG k=" << k << std::endl;
nit = k;

gbobooboooooooooboooboooooboooboobooobooobooooobooooboOooDn
0000000D0000000 s, 000000000040

b1 di
b} 21
p: é = S Tj = S p S, = GCD(bl’bQ,“. ’bn) (13)
: P : pler 7P GCD(ay, ag, - - -, ay)
bn dn,

D000000Ap=s,Ap, 000000000000 Ap0000D000OO0D0O0ODOOODOO p, 000
000o0o0ooooooYog

void ScalVec(const rational_vector& a, const int n, rational& s, rational_vector& b, const int update) {
int i;
longint sd, sn, gcdd, gcdn;
gcdd = al[0].denominator();
gcdn = al0] .numerator();
for (i=1; i < n; ++i) {
sd = a[i] .denominator();
sn = a[i] .numerator();
if(gcdd != longint::ZERO && sd != longint::ZERO) gcdd=(*longint::1lgcd_p) (gcdd,sd);
if (gcdn != longint::ZERO && sn != longint::ZERO) gcdn=(*longint::1lgcd_p) (gcdn,sn);
}
s = RRset(gcdn, gcdd);
if(s != rational::ZER0){
if (update == 1){ for (i=0; i < n; ++i) { b[i] = alil / s; } }
}

16,0 p00000D00ODOOODOOODOD p, 0 pO00000OO0O0OD0 s, 00000000000
400 BASICOUODODOOOODOOOO0OO0O000O00000 denomd 000 numer 1000000000000 00D0O00O
100000000000000000 gedaOOOO ScalVecOOOOOOOOODODO
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ocooooooo p, 0000000 »,000000000000ODOOODO ScalVeceOOOOODOO
000000 (13)0 p, 000000O0DO0OO0OO0DOOOOODOOOOODOO

e J0OOODOO q=Ap,O

e 00 ¢q'p,0

e 200 axpy OO xp_1 +axp, O rr_1 — arql
e [0 r{mc

Jod0boOoOobOoO000o0ooOoObOobO000o0o0oooObO0o0oooooobooOoooOoOoooooon
000000000000 000000000 ScalMat OO0O0OO0OO0OOO0OOODOOOOOOOOO
000 ScalMatCol 0O OO

void ScalMat(const rational_matrix& a, const int m, const int n, rational_vector& as, rational_matr{ix& aa);
rational ScalMatCol(rational_matrix& a, const int m, const int n, const int j, const int update);

0000000000 200000 LLSschmidt.cpp 0000000

000000000 O0OO0O000O0oO00UoOoOoooooOoOoooono
e numdgts 0 00 0O

rational_vector p(n+l);

polycofmax=0;
for(i=1; i<=nsize;i++) {
longint xd = p[i].denominator();
longint xn = p[i] .numerator();
if (numdgts (xd) +numdgts (xn) >polycofmax) polycofmax=numdgts (xd)+numdgts(xn) ;

N J
00 numdgts O longint 000000000000 222000000000

0000000000000 O00d MatDgtCountO O OO0 0000000000 MatDgtCountPrtd
000000Do0o00o0oooooDoooooooon MuaDgtCountO OO OO OO OOOOODOOO
000 MtrDgtCountPrt0 0000000000 VetDgtCount 00O OO O

void MatDgtCount (const rat::matrix<rational>& a, const int m, const int n);
void MatDgtCountPrt(const rat::matrix<rational>%& a, const int m, const int n);
void MtrDgtCount (const rat::matrix<rational>& a, const int n);

void MtrDgtCountPrt(const rat::matrix<rational>& a, const int n);

void VctDgtCount (const rat::vector<rational>& a, const int m);

00000000000000000000 LDL.cppO dvsreh2.cpp 00000000
00000000000 SeeMatDiag 00000000000000000000000000000O
0000 LDLepp D00DOOODOO

5.1.3 000000000 polydivchk, putpolynomialll polytexform [0 [

goooooboooobobooooobooooooboboboooOoboooo
ooooooooooooooooooOoOb00dO»00000 nOOOOOO0OD plnl1 ODDODODO
Ooooo plolODOO0O0O0DOOOODOOOO
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000000 polydivehk O int 0000 0 u(r) = Upp@™ + Uy 12™ L+ -+ +ug O v(z) = v2™ +
Vp12" 4.+ 000000000 ¢(z) 0000000 »(z) 0000000000 O0O0O0O0OOO
0010000000000 0000000000000 D0DbO0000DO0DO0O0O00d dvsrch.pdf
gooooood

00000000000 OUO0O0OnpolynomialJOODOOODOODOO 10000 cpolynomial O0OOO
000000000000 000 ppolynomial JOOOOO

gbogbuogbooobgoooab

int npolynomial=0; /* number of polynomials found */
int ppolynomial [n+2]; /* pointer to polynomials */
rational_vector cpolynomial(n*2); /* coefficients of polynomials */

00000000 putpolynomial 0 0000 getpolynomial 00 0000000000000 dvsrch.pdf
ocoooooog
OO000 WMIgXOoooooooooooooooooo

- polytexform ~
void polytexform(const rational_vector& p,const int nsize)
{
for (int i=0; i<=nsize; i++){
if( p[i] > rational::ZERO ){
cout << "+" << p[i] << "*kx™" << nsize-i << " " << endl;
Yelsed{
cout << p[i] << "#x"" << nsize-i << " " << endl;
}
}
cout << endl;
}
N J

00000oo0oooooooooooooooooo&oooooDooDooDoOon0 KIXOooo
O0000000D0O0OD0D0DD0O0O0SK0000 3240000000 << 000000
polytexform 0 0 0O O

+1/1%x72
-28823037615171176/1*x"1
+181730390048718987174693702142526/1%x~0

polytexformr U UOULUOOOOUDLDOOOOO0DOOOOONOOpolytexformint U polytexformintr
0000000o00oo0ooooooo0 4/1o0oo0oouoooo

O0000000000000 format 0000000000000O00O polytexformintfmt O 0 O O
ooooo
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e polytexformintfmt

void polytexformintfmt(const rat::vector<rational>& p, const int nsize) {
for (int i=0; i<=nsize; i++){
if ( p[i] > ratiomal::ZERO ){
std::cout << "+" << p[i].format(30,0) << "*x"{" << nsize-i << "} " << std::end]

Yelseq{
double pdble=-p[il; if(logl0(pdble)>30){
std::cout << "-" << p[i].format(30,0) << "kx"{" << nsize-i << "} " << std::qg
Yelsed{
std::cout << pl[i].format(30,0) << "xx"{" << mnsize-i << "} " << std::endl;
}
}
}
std::cout << std::endl;
}
. J

dvsrch2.cpp OO O DOODOOOOODOODOOOOO

+ 1.xx~ {163}
-430062106353116724 . ¥x~ {153}
+83553425 (19 digits) 36970780.*x"{14}
-97036891 (37 digits) 6917072.*x~{13}
+75137810 (53 digits) 21362960.*x"{12}
-40969626 (71 digits) 4212928.*x"{11}
+16197962 (88 digits) 3451584.*x"{10}
-4710791 (105 digits) 1402496.*x~{9}
+10114187 (121 digits) 4411264.xx~{8}
-1593492 (138 digits) 8609792.*x {7}
+18114449 (153 digits) 2952448.*x"{6}
-1439127 (170 digits) 7851904.*x"{5}
+75444892 (184 digits) 0749824 .xx~{4}
-2333230 (201 digits) 6658304.*x"{3}
+32081479 (215 digits) 0377600.*x~{2}
+19415442 (215 digits) 5427584 .*x"{1}
-2839829 (215 digits) 5172992.*x~{0}

ndl;

000000000000 dvsrch.cppd dvsrchl.cppd dvsrch2.cpp OO0 OO

514 0000000 askinty 00

O00D0000ooo0DOd0 e000000DO0O0ODOODOOOOOOODOODOOODOODOODO
O00000000 askinty 0000000000000 TRXOOODOOOOOOOOO dvsrch.cpp
dvsrchl.cppO dvsrch2.cpp D00 OO000OO0O0O0O0O0O0O0OO dvsrch.pdf 00000000

5.1.5 000 nxtcmb

gooogogooooooooobogo0ogoooo .6, 00000000 comb OOOOOODOCODODO
Ur0db0o0obooboobooboob1b0oboboobo0obboobobooboboo0b0dn nxtemb
000 rational 0 0000000000000 0O000000O00000O00O dvsech.pdf0O0O00O0OOO
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100°C 13 14 15 16 43 44 45 46 A7 48 49

36 42
9T T T 29 35
100°C 100°C 22 28
5 - s 15 21
8 14
10°C 2 3 73 56

(a) boundary condition (b) 3 x 3 mesh, 2 x 2 matrix  (b) 6 X 6 mesh, 5 x 5 matrix

0600000000000

5.2 UO0O0OO0OOOOO
5.2.1 0OO0O0O0O0OO0OODOOOO
0000000ooooooo#o

e 0000000 SetFrank O a;; =n —max(i,j) +1 0000

1
00000000 SetHilbert O aij:ﬁDDDD
1+ ] —

O0O0000OSetFtherm 0000000000000 OOOCOOOOOOOOOOOODOOOOO
cGUO0O00O0OOOOOoOoOoooooooooooooon

O000D0O0O000DO0oO0O0DOO00nSetGLmat

e JO00D0ODODODODODODODODODODOOSetRand
e JIIDODODOODOOOODDOOOODODODOOODODOSetRand2

SetFrank[ SetHilbertD SetFtherm OO0 00000000000 OOOOOOOOOOOOOOOOO

gbobooboooooooooboooboooboooooboooboooboooooooobooooboooDn
0000 4,p. 600 60000000000 2x2000 5x500000000000000000O
bobodooboboolooboooooobooobooboobooboooooooboboobooooobooon
gooOsbO0o0o0o0oboboobooooooobooobooooooobooobooooboooboobooooOon
000000000000000 mxmOOO0OOOOO0O0OO (m—1)x(m—-1)000000000
0000 n=(m-1)x(m-1)00003x30000000000 2x20000000000000
o0ooob eO0OoooObDOOOOO0 70200000 100300000 1104000000000
gbbO 10000booooboboooogon

4 -1 -1 0

-1 4 0 -1
A= -1 0 4 -1 (14)

o -1 -1 4
gobooboooooboobooooobooboooooobooobooboooboooooboonDn
gbobooobooobooobooooboboobooboooobooboooooboooboooooboooon
oobooobooobi2ogoovyoooooooooooooobooobooobooboobooboon
ooooooooo (0 00000004 =a;;=100a;5 =05 =—-1000000000000
oooooooboooob 4000000000000O00 10D000DO0OODDOOOODODOOOOO

48Symmetric 0 “S” 0 Set 0 “S” 00 00OODOO

101



1 -1
1 —1
11 12 41 42 43 44 45 1 =1
34 40 -1 1 4 -1 1
—1 —1 4 —1 -1
7 g g o 27 33 11
20 26 1 -1
3 il 5 6 13 19 —1 —1 4 —1 —1
—1 —1 4 —1 —1
6 12 1 1
2 2 3 45 -1 1
-1
(a)4x4 00 (b) 7x 700

O7o000booooooon

gboboooobobobobo 4000000000000 000D0DO 4x4000000000 2x20
oboooboooooo400000000000000000O0 7x7OO0OOO0OOODOOO Gx50000
Oo00ooooo20000000ooo0ooooo0oooboooooooogoA=4000000D0
b0 2x2000000000 5x5005000000
gobooboooboooooobooobooobooboobooboooboooboobobooboooobooboOoDn
goooooooooboogobooboooboobooboobooboooobooooboobooooboooo
oobooobobbCwand OO0O0OO0OO0ODODOODOOOODOODOODOOO0OOODOOODOODO
ooooOoOoO0O0O0O0OD0D0DOOOO0O0 SetRandJO0O0O0O0O0O0O0OO

void SetRand2(rat::matrix<rational>& a, const int n, long long& iseed)
{ // numerator and denominator are independent randum number.
rational drandn, drandd;
for (int i=0; i < n; ++i) {
for (int j=0; j <= i; ++j) {
MyRND (iseed,drandn) ;
MyRND (iseed,drandd) ;
a[il[j] = drandn / drandd;
aljl[i] = alil[j];

}
}

void SetRand(rational_matrix& a, int n, long long& iseed){
double aij;
rational drand;
for (int i=0; i < n; ++i) {
for (int j=0; j <= i; ++j) {
MyRND (iseed,drand) ;
ali]l [j] = drand; al[jl[i] = alil[j];
}

}

void MyRND(long long& iseed, rational& drand){
MyIRND (iseed) ;
longint n = (uint64_t) iseed;
longint d = (uint64_t) 2147483647L;
drand.set(n,d);

}

void MyIRND(long long& iseed){
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long long k = iseed*16807;
iseed = k % 2147483647;

Oo0o0ooobOo0OLDLepp OO OOOODOO

5.2.2 0O0O00O0OO0OO0OOOOOO

0010000000 LU.cpp 000 LUhmg.cppd0 0000 200000 LLSschmidt.cpp 000 0O
oood

GenRand OO0 nxn 0000000 »r00000D0O0OO0ODODOODOOODO rxrOOOOQOOODO
r+100 nO00-0000000O00O0O0OO0OOO0OO0 n—rO00bO0bOODOOODOO

void GenRand(rational_matrix& a, const int n, const int r, long long& iseed){
rational drand;
for (int i=0; i < n; ++i){
for (int j=0; j < r; ++j){
MyRND(iseed,drand); // rational class routine
al[i]l [j] = drand;
}
}
for (int j=r; j < n; ++j){ // make column j
for (int i=0; i < n; ++i){ // lineary dependent
ali]l [jl=rational::ZERO; // from previous columns
for (int k=0; k < n; ++k) al[i]l[jl=alil [jl+ali] [k];
}

GenMat 00O mxm 000000000000 rO0nxnOd0O0000O0O0OOOOOCOCCOOO
oooooob m=40n=30r=100000003x3000 1000000000000000¢0
jof0bbo00ooo0ooooo0oooDo0o 10000000 LUhmg.cpp DO0OO0OO0OOOO

5.3 OUOUOOO
5.3.1 000000 LUdecompl LUsubst, solhmg

Oooooooooooooooooool10oo0DoooooooooooooooooooDooDo
Opartial pivotingd 00000 LUDOOOOOOOOOOODOOOOOOOOODOOOODOOODOOO
Oo0ooooooo0ooooooooooooooooooDoooo0oooooooOoO0o 200000
O000o0oDooo0o00ooooo00ooDoo0ODo000o0ooDoD000O0oo0DDOOddcomplete
pivotingd 0 LU OOOO0O LUdecomp 0000000000 LUsubst 0000040

LUOD »nxnUOOO0OODOODODOODOOOOOOOOOOOOOOODOODODODOOOO ipvt
U jevt 0000000 O00O0D0000O rank 0000000 OO

void LUdecomp(rational_matrix& a, const int n, vector<int>& ipvt, vector<int>& jpvt,

int& rank);

400 LUhmg.cpp 0000000000000 000000000 100000000000000LU.cpp 0000000
00000000 GenMat 0000000 OOO0O0O0OO00ODOOO0O0OO0OO0O0OO dvsrchl.cppddvsrch2.cpp 0000000
gooooooooOoOo0oO0obooOoOoOoOoboooo
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000000000000000000000 e, 00000000000000000000000
0 aktiprtjp 0000k DD k+ip00k00 k+jp00000000000 rswap 0000000
00000000 apr, 0000000 o« ax O rscal(e,z) 000000500

rat::lmatrix_column<rational> coll(a,k-1,k,n-1,1);
rat::rscal(rational::0NE/al[k-1] [k-1],coll);

00 A00O k00000 DODO0O00OE+100n00000000000000Oa.column(k-1,k,n-1,1)
O00000000rscal OO0DOODOODOOODOODOODODOOODOOrational 00000 OOO0O
coliJ0O0DUOO0ODUOOODUUOOLODODUODOLDDLDUOODLOLOUUOO0LObOUOOoLOLO UL bUuOo
10000

00000100 A—A+exyT 00000000000 D0%00000000000000 20
a.column(k-1,k,n-1,1) 0000000 kOO0O0DO0O0OO a.row(k-1,k,n-1,1) O yT[I[IIZIIZIEIEJ
00000 AD0OO 100 rger(o,x,y, A) 0000

rat::lmatrix_section<rational> submat(a,k,n-1,1,k,n-1,1);
rat::rger(-rational::0NE, a.column(k-1,k,n-1,1), a.row(k-1,k,n-1,1),submat);

00 A00O k+1000 n0O00 k+100n0000000a.section(k,n-1,1,k,n-1,1,) 00
OO0000C0rger 00O00DO0OO0OOsuwbmat OO0 O0OODOOOOOO

000000 0O00O0O0O0O000b0b0OO0LUsubst 00O0O0O0DOODOOOOOO xODOOOLUOOO
gboooooboobobooon ipvtd00on0oO jepvt000oboobOO0ObOOO0OO0OOCOOODOn
gbooobooooboooon

void LUsubst(const rational_matrix& a, const int n, rational_vector& x,

const vector<int>& ipvt, const vector<int>& jpvt)

gobooboboooboooboboobbooooobooobooooobooooboobooobooobbooobooooon
gboooobooooooooooboboboooboobooooooooooooboobOOo pPOOOODOO
000000 PAc=Pb0O0O0O0O0O00OCOPYOOOOODOOOODODODOOODOD PADODDOO
000000000000 APODOODDOOO (AP)PTz)=b0000000000000 000
O0000Do0O000000o0D0OO000 rational::swap(x[il,x[jpvt[i]l]) OODOOOOOODODO
obooobOoboooobobooboobobooobU reaxpy00000oooooooOoO

00001000000000 Az=00 det(A)=00000 z=000000000000r00
00000000 nxn000 ADOD (n—r)x(n—r)0000 A, 0000000

A A 0
11 12 Ty _ (15)
A1 A T2 0
good A11$1+A12$2:0DDDDA11DDDDDDlem :BQDDDD

ry = —A;llAlgwg (16)

x
goooooooodon 0000 r000b0b00dooooooobobbooo ( 1>D Ax =0
T2

gbooobooboobooogn

000000000000 BLASO dscal 000000
5100D0000000D BLASO dger 000 OO0
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000 100000000000AD000 (n—-1)x(n—-1)000 Ap000000A120 (n—1)x1
Un—-100000000000x 0000000002, =100000000010000000¢0

oooooooooo
—ATA
a:( li 12) (17)

solhmg 0000000 OODOOOhomogeneous equationd0 000000000000
void solhmg(rational_matrix& a, const int n, int& rank, rational_matrix& x)

000000000 (160000 A, 0000000000 OOO0OOOOU0DODOOOOOOOOO
OO00D000 100 rank 000D0000DOO0O0O0OOC0O0ODOO0O0O0OO0O0O LUsubst OOOOOOO
OOLUsubst 00 ODOOOOOOO0ODOOOO0OO0O0DOOOOOO00O0DOOLUsubst DO0DO0OOOOO
gobobobooobooobooboboboboobooboobOobobDobobDooDoooooooobobo
googoo

5.3.2 0OO0O0O0OOOOOOODO LDLOLDLsubst

000000000000000 LDLODDDDODOO0O00000 LDLsubst OO O 520

LDLOO 00 A0D0OODO0D0O000O000 w,; 0000000000 4; 000000; = ug/ug
0000000000000000000000

A=LDLT (18)

0000DPO0O0D0000U =DLTMO000000O0O0O0OODOODD modified Cholesky factorization(]
LbLOO0ooO0o0oo00oo0obooo0ooooo0o0bo0o0 t,;=0; 0000 LTooooooo

1—1

wig = aig — Y ek, (i <) (19)
k=1

ty==2 (<)) (20)

Wi
Oo0oooooboodOnxnO00O000O0 ADnOO0O0O0O0O0ODOOCOOD DOOOOODODODO
0L 000000000000 ADDDODODODODOOOOOOOOOOOO L0000

void LDL(rational_matrix& a, int n){
rational s,t;
int i,j,k;
for (j=1; j < m; ++j) {
for (i=1; i < j; ++i) {
s=0; /7
for (k=0; k < i; ++k) s = s + al[k][i] * alk]l[jl; //
alil[j] = alil[j] - s; //
}

s=0;

for (k=0; k <= j-1; ++k) {
t = alk][jl/alk] [k]; gddddooooooooo
s =s +t * alk]l[jl; g0000o0oooooooooooon
alk]l[j]l = t; gododoooooooo

}

52LDL.cpp 004 000000000000000000000D000000000000D0O00D000O0O0 10000000
0ooo0oooo0oO0oo0o0o0O0b0000000000000 EPROF200000000
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alj103] = alj103] - s; 00O0000000O0O00o

000000000000000000000 LDLOO0OO0O0O000D0O0O0D dooo0ooooo
0000 ;0000000000000000000000D00000000O0O0O00Q?®.

O,;,0000000000000000000000000000D0000D0000D000 ax, 000
ooooooo L, 000000000 00000 uw; 0000000 sO0000000000000
ODwuy; 0t0000000000000O0O00000O000O0O00w[0:n]OOOOOO

LDLOODO0O0000
4 A

rat::vector<rational> w(n); // added for parallelization

for (j=1; j < n; ++j) {
rat::1lvector_section<rational> wsl(w,0,j-1,1);
rat::rvdivs(a.diagonal(),a.column(j,0,j-1,1),wsl);
alj1[j] = aljl1[j] - rat::rdot(w.section(0,j-1,1),a.column(j,0,j-1,1));
rat::1lmatrix_column<rational> acoll(a,j,0,j-1,1);
rat::rcopy(w.section(0,j-1,1),acoll);

N J
rvdivs 0 3000000000 2z =y, +2,0rdot DOO0O0O0O0OOrcopy UODOOOOODOOODO
0oooooooooooooooooooooooonD1og +00:q+1 000 nO0O0OD0DOOO0O
000 000000 {00 »n0000000000000000000000 gy« adTz+ 8y 0
rgemtv(o, Az, ,y) 000000000000 rblas00000000O00OO0OOOOOOO

s LbLOO0Oo0oooooooboooooooog N

for (i=1; i < n; ++i) {
// for (j=i+l; j < n; ++j) {
// for (k=0; k < i; ++k) alill[j] = alil[j] - alk]l[i]l * alk][jl;
// }
rat::lmatrix_row<rational> arowl(a,i,i+1,n-1,1);
rat::rgemtv(-rational::0NE,a.section(0,i-1,1,i+1,n-1,1),a.column(i,0,i-1,1),
rational: :0NE,arowl);

N y
obobooooboobooooboobobobooboobooooobooboooooboobobooooobon

000000 LDLsubstOODOOOOOOO
void LDLsubst(const rational_matrix& a, int n, rational_vector& x)

gbooboobobobooooobobibib raxpyU 00000 oooo0ooo0o0obDO rvdivO OO
02000000000 vz=y;,+2;, 0000000

5.3.3 000OO0O0O0OOOO elmhes

ogooooOooOO0O0OD0ODOOOOOO0O00000000000000 HesFrb.BASOOOOOOOO

3300000000000 BLAS1 0000 Forttan O0D0O0DODODY/ 0D0O0O0O0O 3 OO
“a(i,j)=a(i,j)-ddot(i-1,a(1,i),1,a(1,§),1)” 0000000000
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gbos00b000b00b0o0o0boood

hii hiz hiz hia his
ko has haz hos hos

H= ks hss hss hss |- (21)
ks has  has
ks hss

oooooooood ks 0 ke 000000000000 O0OO0O0O0O0O0OOO0OOOOCOOOO
O [5, p. 478];

0sO00000000000 A=A4,0 A, 000000000000 (s—1)000000000O0
Jooooooboo sgoooobooooooooo

e  sOUOD0O0ODOODOODOOOODODLDOODODOOODOODOOOOD 20000000DO
0000000000000000000000000000000 s 0000

el ¢ 000 (s+1)00000000000000000000000000000O0O00000
0s00 (s+1)000000

ei=s+2s+3,...,n,0000000

Qs

Ti’5+1 = (22)

as+1,s

0000000 (s+1)0 ., 00000 i000000000000000000000 &0
riey1 00000 (s4+1)00000

4x400000000100000 a3 0 aq; 000000

1 0 0 0 ail Gia a1z a4 1 0 00 hi1 hia dis ajy,
0 1 00 a1 Q22 Q23 Q24 0 0 0 _ ko haa ahy ah, (23)
0 —-r32 1 0 as1 ass a3z a3y 0 732 1 0 0 ahy ahs aby
0 —ry 0 1 41 Q42 Q43 Q44 0 rgo 0 1 0 ajy ays aly

0OsO0000 0 O0OO0ODDO0OO0 RO s+100000000DDOOODOOOODODOOODODOOO
00000000oo0oooooooooo (n—2)000000

000000 elmhesO00OnxnO0000000000000000O0n—2000000000000
ooo00o0o0oooo®o

void elmhes(rational_matrix& a, const int n)
rational x, y;
int i;
for (int m=2; m <= n-1; ++m) {
x = rational::ZERO;
i=m;
for(int j=m; j<=n; ++j) {
if (fabs(al[j-1] [m-2]1) > fabs(x)){
x = al[j-11[m-2]; i = j;
}
}
if (1 !'=m) {
for(int j=m-1; j<=n; ++j) {

540000 dvsrch2.cpp DO DODOOOOO
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}

y = ali-11[j-11; ali-1][j-1]

alm-11[0j-11; alm-11[j-1]

1]
<

for(int j=1; j<=n; ++j) {
y = al[j-1]1[i-1]; al[j-1]1[i-1]

alj-11[m-11; alj-1] [m-1]

1]
<

if (x != ratiomal::ZER0O) {

for(int i=m+1; i<=n; ++i) {

y = ali-1]1[m-2];

if (y != rational::ZERO) {
y=y/ x;
ali-1] [m-2] = y; 0000000000000 20000
for(int j=m; j<=n; ++j) ali-11[j-1] = ali-1]1[j-1] - y * alm-11[j-1];
for(int j=1; j<=n; ++j) alj-11[m-1] += y * al[j-11[i-1];

}

al[i-1] [m-2] = rational::ZERO;

rblas 0000000000

elmhes OO0 0O

(
for(int i=m+1; i<=n; ++i) {
y = ali-1] [m-2];
if (y != rational::ZERO) {
y=y/x;
ali-11[m-2] = y;

// for(int j=m; j<=n; ++j) ali-11[j-1] = ali-11[j-1] - y * alm-1]1[j-11;
rat::lmatrix_row<rational> arow2(a,i-1,m-1,n-1,1);
rat::raxpy(-y,a.row(m-1,m-1,n-1,1) ,arow2);

// for(int j=1; j<=n; ++j) alj-11[m-1] +=y x al[j-11[i-1];
rat::lmatrix_column<rational> acol2(a,m-1,0,n-1,1);

k rat::raxpy(y,a.column(i-1,0,n-1,1),acol2);

0000 raxpy O RBLASOOOOO

UboboobOoboboboobobon seeEMATNUMDGTS U OO O0D0OO0000D0O00OO0000DbO00OOn

gboooooboooooobooon

5.3.4 000O0OOOO hesfrb

hesfrthO00Onxn 0000000000000 O0OOO0O0O0OODO0OOOOODOOOOODODOOOOO
0000o000ooUoooU (n—1)00000000000000sOD00000O00O0OOOOOO0
000 sO000000000000000000000000 H=H,000 [6,p.406|0n=25,s=3,
gooao R3H3R§1DDDDD55DDDDDDDD (n—1)0000000000O00ODOO0OODOOO

55R3 —

—T14
1 —ro4
1 —r3g
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gboooboogno

0 0 x9

ko 0 =

X = ks 0 0 9
ky 0 a3

ks x4

000000000000000000 F=D"'XDODOOOOOOOOO0OO0O0O0OO0OO000 DO
di =1, dy = ko, ds = kaks, dy = koksks, ds = kaokskaks (24)

J0d0pOO0D0D0OO0OO0O0000D1I00DDODO0002000 kL OO3000 kksOO...0n0O0O0O0
koks--k, 0000D-'000000000001000000002000 k, 00003000 koks
o000..0n000 keks---k, 000000000 pg = kokskskszoOd p1 = kskaksz10 po = kyksaol
ps = ksxsOpy =24, 0000

0 0 0 0 po
100 0 m n—2—i
F= 1 0 0 po ) pi = H kn—j | ;. (25)
1 0 p;3 =0
1 pa

0050000000 =N 4+p M 4+psX+p X2+ \+po 000000000000 DO000 “=170
000 »0000000 “4170000 n000000000000°%0

(_1)71)‘" +pn71)‘n_1 +pn72)\n_2 +--+po= 0

000000 hesrthOOnxnOOO0O0OOO0OOOOO0OCOOOOOOOOCOOODOOOOOOOOXO
0000000000000000000000000000000003%0

void hesfrb(rational_matrix& a, const int n, rational_vector& p) {
rational t;
int i, j, k;

for (k=1; k <= n-1; ++k) {
for (i=1; i <= k; ++i) {
pli-1] = ali-1]1[k-1] / alk][k-1]; al[i-1][k-1] = rational::ZERO;
}

for (j=k+1; j <= n; ++j) {
for (i=1; i <= k; ++i) ali-1]1[j-1] = ali-11[j-1] - pl[i-1] * alk][j-1];

}

for (i=2; i <= k+1; ++i) ali-1][k] += p[i—2] * al[i-1][i-2];
}
t = rational::0NE;
for (i=n; i > 1; --i) {

pln-i+1] = ali-1]1[n-1] * t;

t =t * a[i-1]1[i-2];
}
plnl
plo]

t * al[0] [n-1];
-rational: :0NE;

560 (25)0 p; 00D0ODO (52.6) 000000 [6, p. 407]0
57(71)71 ()\n _ p7L71An—1 7pn72An—2 L PO) =0
550000 dvsrch2.cpp D0 DOOOOOO
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if (n%2 ==0) for (i=0; i <= n; ++i) p[il = -pl[il;
}

gooobobobbooooobobbobbooogd p o 0050

00000 raxpy 0000 RBLASODOOOUOOX - FOO0O0ODOOOCOOO DODOODOO (24)|]
00000000000000000000000000000000000000000000 pOO
ooooooobooobon
e RBLASOODO hestrbO000OO N

void hesfrb(rational_matrix& a, int n, rational_vector& p){
rational t;
int i, j, k;
for (k=1; k <= n-1; ++k) {
for (i=1; i <= k; ++i) {
pli-1] = ali-1][k-1] / alk] [k-1];
ali-1][k-1] = rational::ZERO;
}
for (j=k+1; j <= n; ++j) {
for (i=1; i <= k; ++i) ali-11[j-1] = ali-11[j-1] - pl[i-1] * al[k][j-1];

}
for (i=2; i <= k+1; ++i) ali-1]1[k] += p[i-2] * ali-11[i-2];
¥
t = rational::0NE;
for (i=n; i > 1; --i) { ooooooooo
pln-i+1] = ali-11[n-1] * t;
t =t *x ali-1][i-2];
}

pln]l = t * al0] [n-1];

pl0] = -rational::0NE;

if (%2 ==0){ goodoooooooo
for (i=0; i <= n; ++i) pl[i] = -p[il;

}

. J
0do00O0o0bOo000b00 H—-XUO00Oooooooooooooooooooooobooo 100
00 sd00000D0O00DOOO0DOOO

OO00000000D00O000 raxpy 0 RBLASOOOOO

e hesfrb DO OO0O ~

rat::vector<rational> sd(n), tt(n+1);
for (k=1; k <= n-1; ++k) sdl[kl=alk] [k-1];
sd[0]=rational: :0NE;

for (k=1; k <= n-1; ++k) {

// for (i=1; i <= k; ++i) pli-1] = ali-1]1[k-1] / alk][k-1];
rational akkml=rational::0NE/al[k] [k-1];
rat::lvector_section<rational> psO(p,0,k-1,1);
rat::raxpy(akkml,a.column(k-1,0,k-1,1) ,ps1);
for (j=k+1; j <= mn; ++j) {

// for (i=1; i <= k; ++i) ali-1]1[j-1] = ali-11[j-1] - pli-1] * al[k][j-11;
rat::1lmatrix_column<rational> acolO(a,j-1,0,k-1,1);
rat::raxpy(-alk] [j-1],p.section(0,k-1,1),aco0l0);

// for (i=2; i <= k+1; ++i) ali-1][k] += p[i-2] * sd[i-1];
rat::lmatrix_column<rational> acoll(a,k,1,k,1);
rat::rvma(p.section(0,k-1,1),sd.section(1,k,1),acoll);

N J
gbooobOobooooboboooooboooobooboonoo

590000 dvsrch2.cpp 00O ODDDO0DO00000000O0O AQDDODOOO O characterestic polynomiald O elmhes O
hesfrb D000 0O000O00O00D0OO0OO0DOOOODOOOOODOOOOOOOODOOO
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s hesfrb OO OOOODOODO ™

t = rational::0NE;
for (i=n; i > 1; --i) { tt[i] = t; t =t * ali-1][i-2]; }
tt[1] = t;

// for (i=2; i <= n; ++i) pln-i+1] = al[i-1]1[n-1] * tt[i];
for (i=1; i < n; ++i) pli] = rational::ZERO;
rat::lvector_section<rational> psi(p,n-1,1,-1);
rat::rvma(a.column(n-1,1,n-1,1),tt.section(2,n,1),psl);

N J

gooobo0o0bo0bOo0bOd sSEEMATNUMDGTS DU U DO0ODO0ODLO0ODLO0DbLOO0DbOoDDOO
gbooobooooboooo

54 UU0OOO0OOOOOOO

obobooboboobooooooboooboooobobooboobobobobobobOoboeonog o
0000000 v20000000000000000000000000 00000000000
Ur~00000000 setpi OODOOO

5.4.1 0O0O0OO0O0O0OO

10000000 2000000002y=20000:=0,1,2,--- 000002, 00000 «; 00O
oooboo 4, 0000000 24, 0000000O0OO0OOOCOOO

1 1 1
Top=ao+ — =agp+ =q+ —-—-—"-="--- (26)
X1 1 1
ay + — a1 +
i) 1
az + —
€3

0000000 « = [ag, a1,az,as,- - ,an_1,%,] 00000000000
2,41 00000 0, 000000 n000000000000 k=2 000000k 0000

an

1
]CQ = Qo + = pﬁ (27)
1 q2
a1 + —
a

oooooooooooooooogoooooooogoooooooo0oooD100gooooooOog
O regular continued fraction expansiond 0 0200 0000000000000 GCDOOOOOOOO
ooooooog

000000 BOODO [MOD0O0O0O0OO “a+b=gq 7’0000 “a=0bg+r" 000 ged(a,b) =
ged(bg+17,b) =ged(b,r) 000000000000 DDOOO BASICOOODODODOOOOOOO%00O
O000000o0oooooooooooDoDooDoooo000d%%=bg+r"0 “dg=a"0 “d_y=0b"
O “dy=r"000000

di—o=d;_1q+d; (28)

60GCD 0000000000000 0000000000000000000000 Euclidian algorithm DN O000000
000000000000 00000000000000000000000000000000000000000000000
00000000000000000000000000 “%0 000000 ged(a,b) =b" 0 “ged(a,b) = ged(a — b, b)” O
0000 “ged(a,b) = ged(b,r)” 000000000000000020 GCDOOOO0OO0O00O000000OO0
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oooooods=0,1,2,--- 0000 ;=000000000000000 d;_4 O ng(a,b)DDDDD
di_
oooooo (28)|:|[|[|[| di—p 00oooa 2:$1DDDDDDDDDDDDD T, = a; +
i1 Ti4+1
goooood ¢gb e O00O0OO

rd1o000000000000000000C0000000000000000000 CfracPi.cpp
oooeo

int main(void){
rational pi,p,r,X,y;
uint32_t i,n,m,mm;
std::cout << "Enter n" << std::endl;
std::cin >> n;
longint pin("314159265358979323846264338327950288419716939937510582 O ");
longint pid("100000000000000000000000000000000000000000000000000000 O ") ;

rational pil000(pin,pid); // 100000 \pi OOOO
rat::vector<rational> a(n+1);

x=pil1000;

p = x.rational::floor(); // x.00OOOO p O
al0] = p;

#ifdef LGCD1
longint::1gcd_p=longint::1lgcdl;

#endif

m=n;

for(i=1; i<=n; i++){
Y=X-p; // x {i-1} OO0OOO y O
if (y==rational::ZERO){m=i-1;break;} // y OOOOO break
x = y.inv(); // yOOoOOoOO x_i O
p = x.rational::floor(); // x_i 00000 p 0O
alil = p; // alil O p OO0

}

r=a[m];

for(i=m-1;i>0;i--)r=al[i]l+rational::0ONE/r;
pi=a[0]+rational: :0NE/r;

cout << "pi="<< pi.format(n+10,n)<< endl;
return 1;

}

000 200000 floor 00000 pO0OO0O0O0ODOOOODOOOOOOOOOO (26)0 a; O
rational U000 ali] OO0 0000x-p 0000000 yOOOODODOOOOOODD invODODO
0%0,, 0000000000000000 000000 alil 0000000yOOO0OO0OO0O0O0O0OO
OO00O000o00O0Obreak 0D 0OO
oooooooood e, 000004=n,n-1,---,2,100000 ;000 n0000 %k, 0000
W—SDDDDDDDDEDEDEDﬂD“'DDDD

7 106 113 33102
pi0000 format 0000000000000 000000000 n0000OO
googooooooooogogoooooooogoogogo 2000000 1O KODDDODODO
O00000inclusion0 0000000000 [8,p.46|000000 sighpe20l6r.pdf 00000000

gboooooboooobobooooobooooobooboooOoboboooooboooooboooDn

G2 94 % . . oB_B_ D

D2 P4 Ps Ps % P1
pitooo 0 10000 100000000000 DbOODOODODbOODObOObObOODODbOODbOoDbOobObOon
OdooOo 140000 orO100000000000000O00O0O00O0OO0OOOOO0O199700O

314159

6lr =3.14159 00000 3.14159 = oo

100000
2000 1 0000000000GCDO00DDON00D inv000000000000
83format 000000000000 OD0O0O0 10000000000
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n 1
gbooobOoboobon0oOOO p—DDDDD?DDDDDDDDDDDDDDDDDDDDDDD
4n

0O0|z—dn| < (&4t I\ g 00000000000 [8, p. 480
Pn Pn+1 Pn PnPn+1

000000 GChUOUO0O0O0OU00O0O0O000oO0O00 yOOOOUOOOOO QUOO0OO0O0OO0 LGCD
cooooooooopooooooooGeboooooooooooboooooobog

5.4.2 00000000 sqrt200

goboobooo20000000000000b000b00200000000000000000D0O
00 /00000000000

\/ﬁ = [a07d17a27 T 72d0]~

000D0000Orepetendd 00002 =[1,3000000000

1
V2=1+ 1 (29)
24—

1
24 1

2+
24 .

DooOoooOooooooo:0000 2onooooosoooon (3)0000000000000

qi
i 1
oboogo:0000 p—DDDDD—QDDDDDDDDDDDDDDD ¢ 0O00000o0ooooboon

qi i

OOrational OO OO0 &DDDD64DDDDDDDDDDDDDDDDDDDDDDDDDDDD

qi
000000000000 rational OO0O0O RRset 0O OO0OO0 GCDOOOOOOO
ratutil.cpp O sqrt2 0 0
f Pp q \

rational sqrt2(longint X, uint32_t tol){
longint pO,pl,p,q0,q91,q;
pO=longint: :0NE; q0=longint: :ONE;
pl=longint::THREE; ql=longint::TWO;

while(true){
p=longint::TWO*pl+p0; g=longint::TWO*ql+q0; // 30000
int nbgq=numbits(q); // q.i 02000

if ((uint32_t) (2% (double)nbqg*0.30103) > tol) break; // 1000000 (q_1)"2 0000
pO=p1; q0=ql; pl=p; ql=q;

}

rational r=RRset(p,q); return r; UOOO0ODO p_i O q i O000OOOOOO RRset OO

64000000000 sighpe20l6rpdf 00 00O OO0
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5.4.3 0O0O0OO0OO0OO

0000000000000000O00arctanz 00000000000 DO0O0 [8,p.51]0

b
arctanx = ag + ! by xmg (30)
ay + 1+
b 2
az + > 34 (22)
b4 (3.’1})2
a4 —+
as + " 2
on— 14 %)

0(30)000000000000000000000DO00L00O00U0D0O0 arctan JO0OOOOOOO
Ooo0os%no

+=10000 %DDDDD

o

40000 ~0DOODODODO

0@B0)0 b =1000000000000000000000000000O0O0O0OOO:0000
a &DDDDDDDDDDDDDDD JU0b0dddoooooooooobooooooooao
qi

pi = aipi—1+bipi—2, G = a;qi—1+bigi—2

(32)
Di = @iPi—1 + Pi—2, ¢ = aiGi—1 + Gi—2 (33)
gooo3bouoiodud rUO00OO00ODO0ODO0OO0OO0OOOOOOODOO v, DO0OOOO0O
i:n,n—l,---,QDDDDDDDDDDDDDD(31)[|[|U5:"-DU4= gooodd n0O0O
9+
gooooooon
(34)
L T r—
! (20 4+ 1) +v;
O:0n—-100 2000000000040 000000000000
gooo0o200000ooooooog
4 4 4 4-19 76
ko = = = = = — =3.16666 - - -
2 . 12 n 12 . 12.5 19+5 24
b o Y
! 22 22 3.5+ 22
024‘3 3+€

500002000000 k1 0 k000000000000 0inclusiond0000000000000000000CO00

000000000000D000 sighpe20l6r.pdf0 0000000000000 0O0O0O0O0OOOOOOO0OOO0O0OO00O0COOO
gooooooooOoOo0ooooOoOoO0oO0ooOoOoOoOoOoooooo
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g3b00boboooboood

4 4 4 4 160
ks R 12 n 12 i, 12 -, 1244 p 1372549
“ P 5y 2 g, 27 3.44 + 28
O — 2 _< 2
2 32 32 35 4 32
a3—|—7 5+7

020000 k0000000030000 k0 #000000ky=4, k =300000kK;0 4

oboboob - Ob000O00b00000 s OD0OODOODOODODOODOOOOnOO0O0O00O0DO0 S

2
gbooobooboobooo 12 gobobobooboobooboobobbob

3000000oooo0oob ODOOoOooDoOOo0ooODOO00DO0oO0O0DOO0O00DOrational O
gooooooooGceboooooooo

int main() {
uint32_t n;
std::cout << "input n=" << std::endl;
std::cin >> n ;
rational p,q,p0,q0,pl,ql,u,v,x;
interval pi;
long long tstartO=gettime();
#ifdef LGCD1
longint::1gcd_p = longint::1lgcdl;
#endif
pO=rational::FOUR; qO=rational::0NE;
pl=rational::TEN+rational::TW0; ql=rational::FOUR;
for(uint32_t i=2; i<=n; i++){
X=1;
p=(rational::TWO*x+rational: :0NE) *pl+(x*x)*p0;
g=(rational::TWO*x+rational: :ONE) *ql+(x*x)*q0;
pO=pl; q0=ql; pl=p; ql=q;

u=p0/q0; v=pl/ql;
if (u<v){
pi=interval(u,v);
}elsed{
pi=interval(v,u);
}
std::cout << " pi="; formatprn(pi);
return 1;

}

formatprn 10000007 =2000000000000000%%0
200000000000
a N

3.14159265358979323 (1504 digits) 236480665088297165
3.14159265358979323 (1504 digits) 236480665569605919

\ J
n=200000000000000001000 n=2000000000000000000000 1000
OOo0O00O-pLeeDl DO OOOOO0ODOOODODOOODOOO 20000 u=p0/q0 O v=pl/q1 OOOO
0000000000000000000 formatprn 000000000 0200000000p0 ¢O
222000 67700000 1354000000000000 40000000020000000008825000

66formatprn 000 Ointerval 0000 0000000000010000000000000000000000000000
gooooooooOo0o0oooOoOo0oooOoOoOooooOoOooooon
67formatprn 00000 1gedp=lgcdt 000 0000000000000 0D00D0000D0O00O0000
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OO0 160 000000000000 404000000000000000000 formatprn O 100
gooo0o0o0oOoooooooooo eecbooooooo2000dooo Gebooooooooon
good

000000 »nO00000000O0200000000000000000000000 (n—1)00
Oo000o0 mterval OO OO OODODOODODOODO 0 n—-200 10000000000
2

OnO0000 k, 0000 vn:2n+1DDDDDDDDDDD (34) 000v,—1 = ap_1 +

’ —1)2(2n +1
Y pDDDDDOOO0O00000000000 vp_y 0 vpo= (n—1)*(2n+1)

n2

2n—1+

m+1

2n+1 n?+(2n+1)(2n—1)

—1)?
00000000 (n—1)00000000 v,y = ="
2(n—1)+1
Oo0o0ooooU0oUoU000oD0D vOOOOOO0oOO0o0O0o00o000o0o0o00io (n—2)0
01000000000000000 (24+1)000000 420000000000 z=---0v=---
000000000 Ointerval OO0 rational 00000000 O0D10000000DO00O0ODOODOO

O0O00O0OD0D0DDDODO PiCfracAtanRint.cpp OO OO

ooooboooooboobog wO t

uint32_t n;
double k;
std::cout << "input n=" << std::endl;
std::cin >> n ;
std::cout << "input k=" << std::endl;
std::cin >> k ; oooono x0oooo
rational p,q,t,r,s,u,x,xx,tmp;
rational pit,piu;
long long tstartO=gettime();
#ifdef LGCD1
std::cout << "LGCD1 defined. USE lgcdl for 1lgcd_p" << std::endl;
longint::1gcd_p = longint::1lgcdl;

#endif
p=n*n; g=2*n+1; tmp=2u*(n-1u)+lu; t=p+q*tmp; // n"2+(2n+1)*(2n-1)
tmp=(n-1u) * (n-1u) ;
p=q*tmp; g9=t; t=p/q; // t = (2n+1)*(n-1)"2 / (n"2+(2n+1)*(2n-1))
r=(n-1u)*(n-1u); s=2ux(n-1u)+1lu; u=r/s; // u = (n-1)"2 / 2(n-1)+1
interval v; // interval 00O

if( t >= u){
v=interval(u,t);
Yelse{
v=interval(t,u);
}
rational vlow=v.lower();
int lastdgts=getdgts(vlow); // set number of digits in lastdgts
for(uint32_t i=n-2; i>0; i--){
X=1; XX=X*X;
interval z=v+(rational::TWO*x+rational::0NE); // +(2i+1)
interval w=z.inv();
rational vlow=v.lower(); // lower number picked for getdgts();
if ((double)getdgts(vlow)/(double)lastdgts >= k){ // check digits increase
longint::1gcd_p = longint::1gcd2;
V=WkXX
longint::1gcd_p = longint::1gcdl;
vlow=v.lower(); lastdgts=getdgts(vlow); // set number of digits in lastdgts
Yelse{
V=WkXX
}
¥
std::cout << "loop finish. time=" << (double) (gettime()-tstart0)/1000000.0 << "(sec)" << std::e
//
vlow=v.lower(); rational vup=v.upper();
std::cout << "numdgts lower=" << getdgts(vlow) << " and upper=" << getdgts(vup) << std::endl;
//
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v=v+rational: :0NE;
interval y=v.inv();
longint::lgcd_p = longint::1lgcd2; // FORCE 1gcd2 for *4 operation
y=y*rational::FOUR;
std::cout << " pi="; formatprn(y);

#ifdef LGCD1
std::cout << "LGCD1 defined. USE lgcdl for 1lgcd_p" << std::endl;
longint::1gcd_p = longint::1lgcdl;

#endif
rational vl=y.lower();
std::cout << " num dgts of pi (after lgcd2) =" << getdgts(vl) << std::endl;
std::cout << "total time=" << (double) (gettime()-tstart0)/1000000.0 << "(sec)" << std::endl;
return 1;

gooooooo GéboooooooooooOogoooopoooooooOooooooOoooDoo
goooooooOoOooooo Geboooooooooooooooooo

00000000000 k0000000000000 0000000000000 1gcda200000
vOOOOOOOgetdgts 000000000000 O000DODOOO 22 000000000000x0
D000 interval OO0 vOOOODODODOOODOOODOOOO viewdODDOOOOOOD lastdgts
ooooooooooooooobooooooooooo0ooboObD0 kOODODOOObODDOOO

O0000000 k=180000000000000n=2000000000 k=180000 20000
ood210GECbOOOOOOOOO

gbobooobooobooboo ~OO0OO0OOOODOOr~O0DOO0OO0OOOOOCODOOOOOODOOOOOCOODO
gbooobooboooobobooooboboooogon

544 00 -00000000ODOOQO setpi

goboobooooboooooboooboobooboobooboobooooooobooboooboooaon
Olongint 000000000000 Osetpi 0000700000 107 0 interval 0000000

O000000 setpi 0000000 ;0 b; 0longint 00000000 Y% nppoooo rational
oooooooooo géboooooooooooooaagebood 1gcd,§1D lgcdl OODODOODOO

gooood

interval setpi(const uint32_t tol){
uint32_t i=1;
longint p,q,p0,q0,pl,ql,x;
rational pp,qq,pq,pq0;
interval pi;
longint::1gcd_p = longint::1lgcdl; Geoogoooo
p=longint::TEN; for(int j=1; j<tol; j++) p=px*longint::TEN;
rational rtol(longint::0NE,p);
pO=longint::FOUR; qO=longint::0NE;
pl=longint::TEN+longint::TW0; gl=longint::FOUR;
while(true){
i++; x=i;
p=(longint: :TWO*x+longint: : ONE) *p1l+(x*x)*p0; spgooo
g=(longint: : TWO*x+longint: : ONE) *q1+ (x*x)*q0;
pp=RRset (p,longint::0NE); ggq=RRset(q,longint::0NE);

P9=pp/qqg;
if(i>3){ if ((pq0-pq).abs() < rtol) break; } 000o0ooooooo
pq0=pq; pO=pl; q0=ql; pl=p; ql=q;

}

longint::1gcd_p = longint::1gcd2; Geooonod
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pa0=pqO*rational: :0NE; pg=pg*rational::0NE; ogogo
if (pq0 < pg){
pi=interval(pq0,pq);
Yelse{
pi=interval(pq,pqO0);
}

return pi;

000000 1gedp=lgcd2 D0O0O0O0O0O0OO1gcd2 000 GCDOODOOOOOOOODODODOOOO
O0setpi D0OO0OOO0OOOOO

5.4.5 000000 bestappfrac

OO0O0000000000 dvscchpdf DOOODOOOO

5.5 UO0OU

gooooooobooobooboobobobooooobobobboooob0b0obb0 eDDODODODOD
ooooooboooooooobooooooboOoboOoOooooobOoOoooooooDOoOoboooooDboOoDbOog
ocoooooooooooobooboooooobobobooooooboooooboobobooooDbboOoo
pcoooooooooooogoooooooooooobooOooooobooooooDoDobooboOgg
0O 0 0 O digit by digit algorithmO OO0 000 sqrt4g000000O00SQRODOQO Orational 0000
a0000+eOOOO sO rational 0000 O0SQRint 000 interval 0000000000000 20
0000 +t10010000000000000SQROOOO sO0]ya—s|<107* 0000SQRint
0000 (s;,8,) 00s;<ya<s, 000000 107000000

5.5.1 0O0OO

SQROODO0O0 sqrt4g 0000000000 DOD100000000000022 000000000
nooooooooboooao

(a+b)? =a* +2ab+b* = a® + (2a + b)b (35)

O00D000000e*+(2¢+0)p 0000 «+b0000000000000000DOOOO

a + b
a a®> + 2ab+b?
+ a a? (36)
2a + b 2ab + b?
b 2ab + b?
0
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0000000000000O0e=100 1000000000 V200 1414--- 00000000000

1. 4 1 4
1 2. .00 00 00
1
2 4 1 00
4 96
2 1 4 00 (37)
1 2 81
2 8 2 4 1 19 00
1 12 96
2 8 2 6 04

C++ 0O0sqrtdec 00 O0O0O0O0OODODOOOOOOOOOCOCOOODOOOOOOO0O0O24028102824
00000 sOOloot4o00119000 0000 AD000O0O0 ROODDOODOOOOOD xXO0O0100
gbooobooooooobooooobooboobooboooooo1obooooobo0oboOoo xboOo 110
0020000000000000 10000000000000¢%0

s 00000 SQRdev.cpp O sqrtdec DO O 00O ~
rational sqrtdec(longint X, uint32_t n){ 10000000
longint A,B,J,J1,P,Q,R,S,W,Y,DEN; // educational purpose only
uint64_t r; uint32_t i;
int j, k, 1, nd, ndd, ndrootx;
T = longint::0NE; J = longint::ZERO; oo x 0O
nd=1; io0oono
while( T*J < A){ J += longint::0NE; T *= longint::TEN; nd++; } oooooo
ndd=nd; // nd = ndd : number of decimal digits of X
Y=X; // set initial Y =X
ndrootx=(nd+1) /2; // number of digits of sqrt(X), upper than decimal point.
B = longint::ZERO; R = longint::ZERO; BOOOOO, ROO Root(X)
for(i=ndrootx; i>0 ; i--){ od i bgdgobooboooo
k=2; X0 200000
if( (nd % 2)==1 && (i==ndrootx) ) k=1; xoooooooooooooboboo1000
T = longint::0NE;
for(j=0; j<ndd-k; j++) T *= longint::TEN; // T=10"(ndd-k)
A = longint::1divide(Y,T,&Q); YOODO ¥k 00 ADODOO
P=B*longint::TEN; // p=b*10
J=longint: :ZERO; // j=0
while( P*J < A ){ J+=longint::0NE; P+=longint::0NE; } OO 10000
J-=longint: :0NE; igoooo g
R=R*longint: :TEN+J; 00000100000 JOOO0OO
W=(B*longint: :TEN+J)*J; 100000 JOoOO0O A00000
A=A-W;
T = longint::0NE;
for(1l=1; 1<i; 1++) T *= longint::TEN; // T=10"(i-1)
Y -= WxT*T; // y=y-(b*10+3j)*j*10" (i-1)*10" (i-1)
B = Bxlongint::TEN+J+J; // b=bx10+j+j, left portion
ndd=ndd-k;
}
N J

gboboooOobooooobobooooobooooboobooooboboboobooboooog

80 p0D00000000X00000000 2n0000000000000000000000000
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5.5.2 0O0000O0O0O0D0O0ODO sqrt4gl O

000010000 202000 0100000023200 longint0000 1000000000
000000000000000 X022 00020 000000 1000000000000000
oood

e 000 XOOOODOOOODODO

e BUODO 10000 100000DLO00O0DLOOOO02000000000000000C000O000O0O

10 .

e 00100 100 0O 2*2000000000000000O0O0 ﬁ;lO_QDDDDDD

gooooo

000 10000000000000 100100 90000000000000002%2 000 10
004G O0000000O0O0DOOOO0O0OO0OODOOOCOOOO0O0O0OODOOOOCOOOO2000
goo01000poooooopooooooo
200 =00 0=4294967206 00000000 CZGT—MDDDDDDDDDDDDDDDDb—a
0O 429496729600 214745088000 107372544010 --- 040200 0000000032000 10000000
O0000edb0cO 6400000 jaljp0jc00000000000O0OO0OOOOOOOO (35)0
(2a+0) 00000000 (PHIC)xJCO ADDOODOODOUOOOOOODOO 3200000 longint
O000O PO AOroughO000 rp0 ral00000O000O00000 (rp+jcd*jcd rald OO 5%
Ooo0000 longint 00000

ob010000 0oOo10 390

(P+I)xJ<A<(P+J+1)*(J+1) (38)

0ooooAad pOODODODOD P>JO0O0OOPJ=A0000J 00000 gDDDDDD
OO0AQ0 POODOOOOODOOORODO0O0O0OD ral rp000000O00ODODOOODOOODOOO
00o0U00oU0DOd00O0 pO00DODOO0OOOOODODOOOOODOOD2000 3200000000
goodsouoooouonbD 200000

ocoooooood
s ratutil.cpp O sqrtdg 000000 ~

rational sqrt4g(longint X, uint32_t tol){ // called by SQR
longint R, A, B, J;
double da, dp;
int pw, j, nit;
uint32_t i, jc;
uint64_t jb,ja,nden=0;
uint32_t n=(uint32_t) ((double)tol/4.81647993062369912341982231565919)+1; // divide by L0OG10|(65536)
if( (@-X.1)%2 == 1) nt++; /17777777777 n-X.1 even
rough rcrit=rough: :0NE/rough: :TWENTY;
int nx1=n-X.1;

/1177777777777777/7777/77 A ©OOO  ///7777/17177117

if( X.1%2 == 1){ goboodoooo
A = longint::lset(X.d[X.11); ooo10
Yelse{ gobooooooo 20

A = longint::1lset(X.d[X.1])*longint::FOURGIGA+longint::1lset(X.d[X.1-1]);
}

int uppoint=1; // to control before or after the point

N J
obooooobooobobol1oboobooooooobooobooboooo 200000000000
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goooodb joobobobjooboboobobob jbhob0o0boboobon «+10000

oooo0O002000000 100000000]loop fusiond OO0
sqrtdg 00000000000 ODOOO

for(j=X.1l; j>(-nx1); j-=2){ X0200 sqre{X} 01 0000000000O0O0O0DODO
if (j>0){i=j;}relse{i=-j;} jobo00o0ooo0oooooooooooooo
if (j==0) uppoint=0; gooo
rough rbj;
rough ra=numeric_cast<rough>(A); // A converted to rough number ra
int pw2=ra.exponent(); double daa=ra.significand();
if (j==X.1 && X.1%2 == 1){ ///// adjust j in case of X.1l odd
ja=0; jb=65536; nit=16; B<<=16;
Yelsed{

}
Yelse{
longint JC=longint::1lset(jc);
if ( (B+JC)*JC > A ){ jb=jc; longint 0O OO
Yelse{ ja=jc;
}
}
}
J=longint::1lset(ja); Jooog
A-=(B+J) *x J; A OO0
B += (J+J); BOOO
if (j<=0) nden++; O0000D0o0o0o00oooo0oooooooooooo
A <<= 64; A0O20000
if (j==X.1 && X.1%2 == 1) j++; O00o0ooooooooooooo
if (uppoint==1 && j > 3) A += longint::1lset(X.d[j-2])*longint::FOURGIGA+ longint::1lset(]
}
R=(B>>1); oo B/ 2

ja=0; jb=4204967296; nit=32; B<<=32;
}
rough rp=numeric_cast<rough>(B); // B converted to rough number rp
rough rr;
if (rp == rzero){ PODODODOOOOOODO sqrt(A) OOO
if (pw2%2 == 0){
double sqraa=sqrt(daa); rough rx(sqraa,pw2/2); rr=rx;
Yelse{
double sqra2=sqrt(daa*2); rough ry(sqra2, (pw2-1)/2); rr=ry;
}
Yelsed{ 0000 A/ 0000
rr=ra/rp;
}
double drr=rr.significand()*pow(2.0,rr.exponent());
uint64_t rjj=(uint64_t)drr;

if (rp.exponent () <= 80){ pOsodOOOOO
ja=0; jb=4294967296; nit=32; 20000 320

}else if(rp.exponent() <= 160){ P O 160000 DOOO
ja=rjj-16; jb=rjj+16; nit=5; 20000 50

Yelsed{ PO teoUIDODOOODOOO
ja=rjj-2; jb=rjj+2; nit=2; 20000 20

}

for(int k=0; k<nit; k++){ ////// iteration count is variable

je=(ja+jb)/2;
rough rjc=numeric_cast<rough>(jc); // jc converted to rough number rjc
rbj=(rp+rjc)*rjc;
rough rval=rbj/ra; AD POODO 5% 000
if(rval.abs() > rcrit){
if ((rp+rjc)*rjc > ra){ jb=jc; roughOO OO
}Yelse{ ja=jc;
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longint DEN=longint::0NE; DEN<<=(32*nden) ;
rational tmp(R,DEN); 00000000 rational JOOOODOOGCD ODOOO
return tmp;

5.5.3 SQROO

20000000000200000000 1000000 000000000000100000
000000000 00000000000000000v4 =20 4/(100); = (10),0v16 = 4 O
(10000); = (100),0---0000 0000000000000 200000000000000000
00000000 2000000000000000 40000000000 a,(22)*+e, 0000
00%0000 (2% 000000000000000000000000000000000000 1

0000000000000 s00000000 |ya—s| <107 0000

5.5.4 SQRint 00O

SQROOOOOOO ¢« 0000 e OOOODOOO s00000000000000000000O
Dinclusion 00 000000000000 00000000000000s20 « 00000000000
00 SQRint 00000000

sqrt4g00000000000000D0 200000000000 2000000000000000
0000 20000000000000000 2G=2300000 ¢q0000000000002GO
0D00000000000000000000

0000000000000000000000000000000 2000000 Orational00 /a,
0,e000000000000010000000000000000000000000000000
0D2000000000000000000000000000000 100000000000000
00000010020 « 00000000 (s;,8,) 00000000 s,—s <107 0000

5.5.5 0O0OOO

OO0000Intel O Sandy Bridge OO0D0OO0O0O0O0O0OODO Xeon CPU E5-2670 2.6GHz O 2000
000 DDR-30 32GBUOUOO0OOO00OO100000000000O0O0OSO Linux version 2.6.320 0
00000 GNUgec44.70000v110 SQRODOODO 100005K000000000C0O000O00OO

0o 1000 | 2000 | 3000 | 5000
B << 32 0.03 0.14 0.31 1.41
20000 | 0.00 0.00 0.01 0.01
A, BOO | 024 0.98 2.12 7.14
A << 64 0.03 0.14 0.31 1.34

SQR 0.32 1.28 2.76 9.95
2000 | (5.83) | (22.5) | (49.5) | (171.6)

ooo00200000000000rough0000000O000O000000COODD ADOO A-(B+I)*J
OoooooooobiloooooooOoooobooonoJD 10000 A-B+HxJO000100000DO

90pnoooooooooon
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000000000 000 O(R)OO00D0000 320000000000 O(?) 000000070
00 22000 200000040000000000000A000000000000000000
00007 00000000000000000000000rugh0000000000000000
0000000000000000

5.5.6 0OU00O0O0OO0OOO0OOOODOO ~D0OOO

GauLeg.cpp 000000000 n 000000 setpi 00000 # 000000000 OOOOOO
gbooboooooooooooool1bob 200000000000 0bO0O00DbOO0ObO0ObOObOOnOn
rO00000000000000000 GauwssLeg2pdf OOODODOODOOOOOOOOODOODOODODO
ooooooboooooobooo

000000 200 «0b0 (0<b<a)OOOO

b
alza; O blz\/ﬁﬂ

good
n—1+ bn—
Ap = alf—i_l[l b, = V Ap—1bn_1

0000000 {a,}0{b,}
b<by <by<- - <bp1<b,<ap<tp1<---<ay<a <a
0000O000o0oo Meb)DOOODOOOOOO

lim a, = lim b, = M(a,b) = M

n—oo n—oo

DDDDG():lDbO:COZ
gbooooooooogn

n bn n_bn
Danis = 0 0b 0 = Vanby Oensy = 2 —“On=12..0

1
V2 2

2M*?

1- i 2nc?
n=0

™

(39)

1
o0 ~0000DOO0O0O0O0O0OM (1,) =MO0000

V2

rational a,b,p,t,x,y,sqrt2,by,zl,zu;

interval z,Z;

int i,tol, ttol;

std::cin >> tol ;

ttol=tol+tol/2; // ttol=1.5%tol used for SQR

if (t01>99) ttol=tol+tol/10;// ttol=1.1xtol used for SQR

if (t01>1000) ttol=tol+tol/100;// ttol=1.01*tol used for SQR
interval pii=setpi(ttol);

std::cout << " pii=" << std::endl; formatprn(pii);

rational pil=pii.lower(); rational piu=pii.upper(); rational pim=(pil+piu)/rational::TWO;

VA00000v20 100000000060400—28282-2=2836 0000000000borrow] 000000000BOO0
gooooooooooooooobooooooooOo 2000000000000 00000O00OCOOOOOOOODODDODOO
goo0ooooOo0oooOoO00boOoO0o0O0oOO0O0bOOOO00bOOO0O0O0C000OO00 AO0O0O0C BOOOOOOOOOOCODOO

0000000000000 00000000000000000000000GCD 0000000000 00Noooong
goooooooOoOo0ooooboOoOoOoooooo

123



std::cout << " (double)pim=" << (double)pim << std::endl;
a=rational: :0NE;
sqrt2=SQR(rational::TWO,ttol);
b=rational::0NE/sqrt2; // b=sqrt2/rational::TW0; OOO0OO0OO0
t=RRset (longint: :0NE,longint: :FOUR) ;
x=rational: :0NE;
int nit=(int)log2((double)tol); 00000 log_2(tol) OOO
for(int i=0; i<=nit;++i){
y=a;
a=(a+b)/rational: :TWO;
by=bx*y;
#ifdef SQRRATIONALB
b=SQR(by,ttol);
#else
z=SQRint (by,ttol) ;
zl=z.lower () ; zu=z.upper(); b=(zl+zu)/rational::TWO;
#endif
t=t-x*(y-a)*(y-a);
x=x*rational: :TWO;
}
t=t-x*(y-a)*(y-a);
p=((a+b)*(a+b))/(rational: : FOUR*t) ;
if (p>pim){
interval ppi(pim,p); z=ppi;
std::cout << " p is upper" << std::endl; formatprn(ppi);
Yelse{
interval ppi(p,pim); z=ppi;
std::cout << " p is lower" << std::endl; formatprn(ppi);
}
int 1z=(int) (-logl0int(z)); // lz is where the difference begins in interval ab.
std::cout << "1lz=" << 1z << std::endl;

00000000 GauLegepp 00000000

e 100 70000 to10 1000000000000 0000O0OO0OO 1% 00000 ttol00O0O
oood

e 0000 byt = vVanb, 0 a, 0 yOOODO by=bxy 0000 SQR OO0 SQRint 0000
OSQRint 00000000000 b,y 00000

2
OoOo0doooooooOoOoDoooboDDb O g[II:IDDDDDDDDDD—DSQRRATIONALBEJ

oooo0oooooooooooobo40000onogbodtel b 200000 000000O00D0ODOO
goooboooo

1 2
by 1 v2

/2 2
00000 | SQR | SQRint | SQR | SQRint

ooooo | 348 6.38 0.22 0.22
ooooo | .o47 .031 .016 .016

goboooooooobooobobooboobooobooooobooobO 2000000000000
O20000000000000020000000000 SQRO SQRintOOOOO0ODODOOOO

0o000oogoooo 200000000000000000000O0DOO0 GCDOOOO200 GCDO
2 1
Ooooooo0ooooooooooDoboOog wpo {DDDDDDDDDDDDWDDDDDD

oooooob e, 0000 2000002000000000000a,+0b,00000a,b,00000
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oooopooogdobo GebooooooooooopooooboooooooooDbooooboobooag

gboobo2000000000000

1 2
gogn \/5:\2[[II:JEl[IEJEJIZIEII:JDDI:II:JDDDDDDDDDDDDDDD&DDDDDDD

gbooooboobbooooboobooooboooboooo 2000000000 20000000000
00200000070000000000000000000000000

UO0O0Osetpi DO0O0O0O0OO00D0O0OO0 #0000 8O00O0O0O0O0OO0O0ODOOOOOODOODOOOOC
ooooo

5.6 UU0UO0OOOLOOOOO0OOLOOOOO

gobooooooooooobooooooooooboooboobooooobooboooooo
goboooobooobooooboooboboboooobooobooobo200000000000 20
goboooobo20b00000000000000000O000000DOOO0O0DOOOOOOOOO0On
OO0O0000O0000oDoboO0d0O0regulafalsad002000000000000000O0000O0
Oz0000000000D0020000000000000O0000O0O00O0DO0OODOODOODOODO
gobooobooboobooooobboobbooboobo 20b00boobooooobooboobooon
oooogoooooooooobobooooobobooobobo0oooooobo 200000000 roundrat
gboooooboooboobobobooooboooooboooo

5.6.1 0O00O0OOODOO Horner, Horner3

UboooboobobodbUdU Horner DO UOD10000020000000000 Horner3U [
O rational 0000000 OQOOOCOOOCOOOOOOO dvsrchpdf 00000000

5.6.2 200 bisect

oo0doooooo0oooooooooodOo20000oooDooooo00oooDoooDooOogoo
0000 bisect JO0OO0OOObisect 0O0D0ODO interval 0000000000000 OODODOODOO
00 dvsrch.pdf 00 OOODOOO

5.6.3 2000000 roundrat 000000 bisectrf

roundrat(x,n) DO O OOODO x:ﬁl 00000200000 200000 40O v, 00000
Zq
(yi,9,) 000D0DDODOOOOODO

Y <x <Yy (41)

2000000000 ¢e00e0000d; 0 0000 1000 200000000000

52
a= <i2di21> 20 = A.2° (40)
1=0

B=A-25202000000000000100000 170000000000000BO000000 (40)0000a= B-2°7°2
0000C =52—-e0000 a=B+2°0000000 BOOOO 2€ 0000000000000 200000000
0200000000000 200000000000000 2000000 10000000000000000000000

1 .
gzl.l?SDDDDD§=(OOO)QZO.SDDDDDDDDDDDD lo00000000000C0O0000 20000000

9 (1001)y
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O 2:roundrat 0000000000 0OOOODOO

ood «x OO0 n | ULP goooood

103 9 1 <349,525 349,566) _ ( 349,525 174,763)

3 =Y 1,0242 1,0242 » 1,0242 ) — \ 1,048,576 524,288

1 341 342 \ _ ( 341 171
Do 1 1024 (1,024’ 1,024) - (170247 m)
oo 0 1 (0,1)
oo -1 1024 (0,1024)
1000 _ 3333 9 1 (349,525,333 349,525,334) _ (3497525,333 1747762,667)

3 : 10242 10242 01,0242 = \ 1,048,576 ’ 524,288

00 1 1 (341333 341,334) _ (341,333 170,667)
1024 1024 » 1,024 ) — \ 1,024 » 512
oo 0 1 (333,334)
oo -1 1024 (0,1024)
1,000,000 . 1 349,525,333,333 349,525,333,334 \ __ ( 349,525,333,333 174,762,666,667
3 = 333333.3 2 1,0242 ( 1,0242 ) 1,0242 = 1,048,576 ° 524,288 )
0o 1 1 (341,333,333 341,333,334\ _ [ 341,333,333 170,666,667)
1,024 1,024 1,024 = 1,024 512
oo 0 1 (333333, 333334)
oo -1 1024 (332800, 333824)
yUy, 000 y, JODOOOCOOO
In , Y
x=;§;§%=y (42)

obooooooboooooobooobooooobooboobooobooboooooboooboooboooon
oooooo
000 z=2"Q000 2000 kOO0O0DO0OyOOO0 v, 000

Zd
(o

Ynl Ynu

DDDDDy:%myQ:(?ﬁag)DDDDmEWMDDDDDDDDDDD l#z] 0 20000000

000D00200000000 (20 2000000000000 20000000
DDDDDDiéﬁDDDDDDDDZDDDDDDDDDDDDDDDDDDDDDUHﬂUmﬁn
the Last Place D00 000 00000000000000000000000 1000000000000
0000000000 10000000000000000000000000000000 formatprn O
00000000000000000000000000000000000000090000 (10-3)3
00000000 (2793 00000000000 KOODOOO 1024000 2°°=1030000000
000000000000000000000000000000000000 10000000000
0000000 SQR(a,n) 00000 ¢« 000000000000 10000 10" 000000

r=L0n=210-10400000000ULP0 ——, —L 1 10240000000000
’ 1000 _ 1000880 0%
00000020004000000000=—0 —— 00000000
1 1000(1000d1gits)000
— . 00000000000000000000000000z= Dooo
“73 ¥ 7 3000(1000digits)001

1
x:§ElDDElDDEIDDDDDDDDDDI:IDDI:IDDDDDDDDDDDDDDDDDDDDDDD
0oo0ooooooooo™o

BOoD00000000000000000 200000000000000GCDO00O0O0 200 1ged2000000
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000000000000000000000000000 d:WDDDDD z 0000
- a
00 d0000000 f(z0000300000000000000000000 af(b)—bf(a) 000

00000000000 f(b)— f(e)ODODOUODOOOODDOOO 143500000000

d=

66361 (1425 digits )59873
- = —2.340375387850571 - - - 44
28355(1425 digits )69856 (44)

oo0oooo0ooooOooOo200000000000000DO0O000DOOOODODO0OO roundrat O
obooooooooooon

(dd,) = © 30379(24 digits )84523  15189(23 digits )92261
%)\ T 12980(24 digits 050247 64903(22 digits )52512

30379(24 digits )84523  15189(23 digits )92261
-\~ 9110 a 2109

= (—2.340375387850571 - - - , —2.340375387850571 - - - ) (45)

0000 170000000000 0000O0O0O00O0000
ratutil 0 0 O O roundrat 00
4 )

interval roundrat(const rational& x, const int n) {
rational x1, xu, y, rt=rational::0NE;
for(int i=0; i<abs(n); i++) rt=rt*rational::KIL; 1024 0000000 OO0O0OODOOOOO
longint xn=x.numerator(); longint xd=x.denominator();
rational xnr(xn,longint::0NE); rational xdr(xd,longint::0NE);
if(n > 0){ y=rt*xnr/xdr;
}else{ y=xnr/(rt*xdr);

}
rational yO=y.floor(); rational yl=y.ceil();
if (n>=0){
yo=y0/rt; yl=yl/rt;
if (x>rational::ZERO){ x1=y0; xu=yl;
}else{ x1=-y1; xu=-yo0;
}
Yelseq{
yO=yO0*rt; yl=yl*rt;
if (x>rational::ZER0O){ x1=y0; xu=y1i;
}else{ x1=-y1; xu=-yo0;
}
}
interval xint=interval(xl,xu); return xint;
- Y,
roundrat 000000000 roundrat2 00000000
ratutil OO OO roundrat2 00 O0O00OO0OOOO0O
(: interval roundrat2(const rational& x, const int n, const int m); :)

O0n0Oroundrat 00000102400 n 0000200 mOO00000 rt0000O0OO
oo0020000000000000000000 SQrRUOOCOOOOOOOOOOO bisectrf O
newton 00000000000 8000000 (e,b) 00 d0DO0OOODOOOOOOODO 200000
03000000roundrat20000000000000O0O0OOOOO (d,d,) 0300000000
oo (4,d,) DO00DD00O0O00OOOO0O0OOD200000000000000000040000000

gooooooooo0oo Geboooooo 200000000000000000O0O0O0O00O00OO0 2000000000
oooooooooo
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d i d f(z)

|
b
l du
dy |dy
> e
didy

]

[—|

d; dy

08 Jd00000000300000 (d,dy,) 0 f(x)=000000 20000000

goooooboobodboooooooooooobood,d, 0000200000000 200000000
0oooooooo™o

200000000000DOOO0O0000DODODOO0 z000DDOOODO0OOO0dDOODOOOOOO
000 2000000000000000008000000 (a,b) 00000 f(x)00DO0 20000
o0 d0b00oooooo200000bo0obob0 z0b0D0b00oO0obDO0obOobOOoob0ooDoDOon
O f(d)-f(dy)<0O000O0O0 20 Jd00000000000000ODO0O0OOODOOOO 200000
000000000000000q 000000000 f(d)-fd,) >00000000000000
OO00000000D0 roundrat 0000000000000 ODOOOOOO0OOOODDOCODOD 4O
Oz000000000200000000000000000D0O00O00ODO

gobooooobooooooboooboobooboobo200b0000000000bOoODn
roundrat 000000 200000000000000 bisectrf 000000 O Obisectrf O O bisect O
OO0000 interval 000000000000 OO00O0O00OO00O00O0O dvsrch.pdfOOO0OO0O0ODO

5,64 000000 newton

newton [0 O bisectO bisectrf DO D OO0 interval D0 DD 00000D0D0O0ODODODOOODODOO0O
dvsrch.pdf OO DO OOOOO

@00 (44) O rational 000000000000 roundrat O roundrat2 D00 00 (45) O interval 000000000
ooooooo
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6 OO

OO00o0ooooooDooooooooooo

0000000000000 000000000 7000 ™M™ powersum.cppd 00000000 OOOO
longint D0 Orational D0 D00 000000000 OOOO0O

rO00000000000000000000GCDOOOOOoDoooooDoo

000000000 LDLOOOODOOOO0ODO0OO0OOMakefile00DOOO0ODOOO00OO

0000 O dvsrch.cppd dvsrchl.cppl dvsrch2.cpp O Makefile 0000000000000 0O0OO0O
dvsrch.pdf OO0 OOOOO

6.1 J0O0O0ODOOO0OO0OOrationalO0OO

gboooooboooooboobooooboooon

n

“or(r+1) 1-2 23 3.4 n-(n+1) n+1

O000oooooo
invmulsum.c
4 P )

#include <iostream>
#include "rational.h"
#include "longint.h"

using namespace std;

int main(void){
rational x,y,x1,x12,x12inv;
int i,n;

cout << "Enter n" << endl;

cin >> n;
x = 0;
y =0;

for(i=1; i<=n; i++){

x +=1;
x1=x + rational::0NE;
x12=x*x1;
x12inv=rational::0NE/x12;
y=y+x12inv;

}

std::cout << "SUM_{i=1}"" << n << " 1/i*(i+1)=" << y << std::endl;

return 1;

o’ J

OO0000D00O0D0O00000 rationalh 000000000 ODOOODOOOODOOO rational.o OO
00 “g++ -03 invmulsum.cpp rational.o longint.o mempool.o gettimeofday.o” DO DO ODODONO
OOOCOCOCOOOOOOO0OO0O rational 00000000 =0;”00rational 000000000
O000“ += 1;” 00rational 0000 10000000 “x12inv=rational::0NE/x12;” O rational
OO0000O00OOrational 000 x12inv 0000 Orational 0000000000 OOOOOOOO
oooooooooooo
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oooono MPFUNOOOO

program invmulsum

gfortran -0 -c mpfour.f
gcc -0 -c mpfftl.c
gfortran -0 invmulsum.f mpfour.o mpfftl.o
./a.exe
character*l c
parameter (mx=2, nx=2**mx, ns=9.5%nx+47, nd=7.225%nx)
dimension c(nd+50),x(nx+4),y(nx+4),z(nx+4)
dimension x2(nd+50),x12(nx+4),x12inv(nx+4)
dimension one(3)
common /mpcoml/ nw, idb, 1ldb, ier, mcr, ird, ics, ihs, ims
common /mpcom3/ s(ns)
common /mpcom4/ d(12*nx+6)
common /mpcom5/ u(8*nx)
nw=nx

ims=ns
call mpinix(mx)

one(1) = 1.; one(2) = 0.; one(3) = 1.

»
~
[
~
|
|
o

=0.; x(2) =
0.; y(2)

<
~
[
~

]

I
o

write(*,*) ’n’

read(*,*) n

do i=1,n
call mpadd (x, one, x)
call mpadd (x, one, x1)
call mpmul (x, =x1, x12)
call mpdiv (one,x12,x12inv)
call mpadd (x12inv, y, y)

enddo

call mpout(6,y,nd,c)

call mpdiv (x, x1, y) ! n/(n+1)
call mpout(6,y,nd,c)

stop

end

U0000 mxk=20000000r=500000 0833---33400290000000000000
00 mx=300000000 0833---3330000000000mx00000000000000EO
gbooobooooooboooooooboobooooboobobooboooooobooboboooobooon
oood

6.2 UJ0OO0ODLDLOOOODOOO

LDL.cppOO07000000D0OO0O0O0DOLDLODOOODOOODOOO0 nOOODODOOODOYOD
ooooooboooooon

e ./LDL.exe 10 00000 0On=100000000000000 SetFrankOO
e ./LDL.exe 10 1 00000 =1000000000000000 SetHilbertOO

e ./IDL.exe 10 200000 =1000000000000000000SetHilbetDOO cnvmat O
oooooooooooa
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e ./LDL.exe 10 300000n=1000000000000000000 SetHilbetdO cnvmat 00O
O0000000O0Orat2int 00000000 LCMOOOOOOOOOOOOOOOODBODOOO

e ./ILDL.exe 5 4 00000n=50000000000000000SetRand0O
e ./LDL.exe 5 500000n=50000000000000000000000000 SetRand2000
e ./IDL.exe 5 6 00 000On=5x5=2000000000000SetFthermO0

gboooboobooboo1100b00boobon
U n=400000000000000000

oood googo
oooooo 0.19
ooooogon 0.20
oooobooogo 1.29
LcMoooooooooogooo 1.43
oooooog 23 -1 1.43
ooooboooo 251.40

ugboobuooboobooliboobooboobon
Ub00b0bO0obOobDO00dbOnOd seeMatbiagUO OO0 Ooooooboooooboooooo
gooo

e ./LDL.exe 6 1 000 SeeMatDiag 00O N
see diagonal terms before compute determinant
d_{o}= 1.00000000000000000000 NumDgts N/D=1 / 1 =\frac{1}{1}
d_{1}= 0.08333333333333333333 NumDgts N/D=1 / 1 =\frac{1}{12}
d_{2}= 0.00555555555555555556 NumDgts N/D=1 / 1 =\frac{1}{180}
d_{3}= 0.00035714285714285714 NumDgts N/D=1 / 1 =\frac{1}{2800}
d_{4}= 0.00002267573696145125 NumDgts N/D=1 / 1 =\frac{1}{44100}
d_{5}= 0.00000143154905059667 NumDgts N/D=1 / 1 =\frac{1}{698544}
determinant time=0(sec)
K determinant= 0.00000000000000000537 1/186313420339200000 )

ugboobuogbooobgobobboaoboon

6.3 ODUUOOooooOooOd

LLSschmidt.cpp OO0 0000 20000000Az=b0000000MGSOCGSODOOOOOODO
000000 cCcGSOUOoouooo cGsU 400000ooooooooooooooooooo 10O
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0 o

<<=, 26 floor, 52

“longint, 13 format, 53, 68, 69, 99
*lgedp, 38 formatprn, 35, 68, 69
-Ipthread, 83 formatprn(eigintli]), 68
-S, 33 fracbits, 62

__thread, 16 fstream, 87

_Raxpy, 81

abs, 53 GaussLeg2.pdf, 123
addll, 34 GCD, 36
archive.h, 87 gemtv, 80
askinty, 100 gemv, 80
asum, 80 GenMat, 103
axpy, 80, 85 GenRand, 103
ger, 80
beg, 76 getdgts, 93
begin, 85 getIs(), 87
bestappfrac, 118 getOs(), 87
bisect, 125 getpolynomial, 99
bisectrf, 128 getpoolindex, 13
block, 87

BLOCKDIST, 86
bsort, 94

GaulLeg.cpp, 123, 124

hesfrb, 108, 109
HesFrb.BAS, 106

hexstr, 20
ceil, 52 Horner, 125
CfracPi.cpp, 112 Horner3, 125
cg.cpp, 96
checkbound, 21 iamax, 80
checkoverflow, 21 iarchive, 87, 88
clzu, 22 iarcive, 89
cnvmat, 95 idot, 81

columns, 78

copy, 80 imatrix, 76
copy constructor, 10 imul2add, 64
copy_digits, 22 Inf, 51
copymat, 95 inheritance, 75
CRTP, 76 init, 16
ctz, 23 intbits, 62
cyclic, 87 inv, 53, 66
invmulsum.cpp, 129
dalloc, 13 iostream, 87
daxpy, 81 istream, 87
ddot, 81 ivector, 75
decbuf, 62
deep copy, 10 jacobev, 94
DEN, 51
dfree7 15 lalloc, 12, 16
dot, 80 LCM, 95
dvsrch.pdf, 99 lemp, 27

dvsrch2.cpp, 90

ifstream, 87

lcolumn, 78
Idivide, 30-32

elmhes, 107 LDL, 105
EM64T, 29, 85 LDL.cpp, 130
end, 76, 85 LDLsubst, 106
eprof, 39 lged, 36
EPROF2, 39 LGCD1, 113
estimate_quotient, 33 lged1, 38
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lged2, 37
LLSschmidt.cpp, 103, 131
Imatrix, 78
log10int, 68
longint::ZERO, 27
longint2double, 60
lower(), 65

Irow, 79

Isection, 79
LU.cpp, 103
LUdecomp, 103
LUhmg.cpp, 103
LUsubst, 104
Ivector_section, 82

MatDgtCount, 93, 98
MatDgtCountPrt, 98
matprn, 95

matprt, 96

max, 35, 53

min, 35, 53

MPFUN, 41, 130
MtrDgtCount, 98
MUL, 29

mullu, 33

NaN, 51, 57

ndd, 54, 70

neg, 66
NUM_THREADS, 83
numbits, 39

numdgts, 39, 98
numeric_cast<rough>, 60
nxtcmb, 100

oarchive, 87-89
ofstream, 87
oltest.cpp, 20
ostream, 87
overload, 76
override, 76

partial_axpy, 85
PiCfracAtanRint.cpp, 116
polydivchk, 99
polygtexform, 99
polymorphism, 76
polytexformint, 99
polytexformintfmt, 99
polytexformointr, 99
polytexformr, 99
pow, 36
powersum.cpp, 40
praxpy, 86

prblas, 79

ptask, 83, 84
pthread_create, 84
pthread_create(), 82
putpolynomial, 99

RAT_REDADD, 48
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RAT_REDUCE, 47, 48
RatAdd, 35, 49
RatDiv, 48
RatMul, 47
RatRed2, 48
RatSub, 50
ratutil, 93
raxpy, 81
rblas, 79

rdot, 81
Rdset, 51, 52
realloc, 14
Rfset, 52
Rlset, 51
rNaN, 57, 59
rough, 55-57
roughdec, 64
roundoff, 69
roundrat, 128
roundrat2, 127
rows, 56, 78
RRset, 51
rtraits, 74

SA, 79

scal, 80

ScalMat, 98
ScalMatCol, 98
ScalVec, 97
section, 79
SeeMatDiag, 98, 131
SEEMATNUMDGTS, 108, 111
sem_destroy, 83
sem_init(), 83
sem_post(), 83
sem_t, 83
sem_wait(), 83
semaphore, 83
SetFrank, 101
SetFtherm, 101
SetGLmat, 101
SetHilbert, 101
setpi, 117
SetRand, 101, 102
SetRand2, 101
shallow copy, 10
shl, 23

shl10, 70

shr, 24

shr10, 70
sighpc2016r.pdf, 114
slz, 22

solhmg, 105

SQR, 122
SQRint, 122
sqrt2, 113

sqrtdg, 120, 121
sqrtdec, 119

STL, 74

stride, 76, 85
subll, 34



swap, 22, 45, 80

task_t, 86

testroughmat.cpp, 56
thread_manager::execute, 84, 85
to_ullong, 22

upper(), 65
urand, 102

VectDgtCount, 98
vdiv, 80

vdivs, 80

virtual, 76

vma, 80

x86, 29, 85
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